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1. If 80% of A = 50% of Band B = x% of
A, then the value of x is :
M ATEO% =Bw 50% t FRB=4A
w x% % @ x® 79 FW w
(a) 400 {b) 300
(c) 160 {d) 150

2.  If xis 80% of y, what percent of x is ¥?
oKy 1 80%, x ¥, A x T o wm y 2
(a) 75% b 80%
(c) 100% (d) 125%

3. I 8% of x is the same as 4% of ¥,
then 20% of x is the same as :
R F 8% ,yF 4% B AR E, A xH
20% fFes =ow #m ?
{a) 10% of y {b) 16% of y
{c) 80% of y {d} 50% of y

4. If 120 is 20% of a number, then
120% of that number will be :
feit w=m W 20% ,120 %, 9 IW wWEm =

A T e A 2

120% fam &m ?
{a) 20 {b) 120
(c) 480 {d) 720

5. If x is less than y by 25% then y
exceeds x by :
afy x, y B 25% B E v, x A ferm afy
L

1 2
(@ 33— % (b) 25% (c) 75% (d) 66~

6. IfP9% of Pis 36, then P is equal to :
oz P P % , 36 %, 9 P foes = ¥ 7
{a) 3600 (b) 600 f{c) 60 (d) 15

7. 2 is what percent of 50 ?

2, 50 ¥ foan whowm € 2

(@) 2% (b)) 2.5% () 4% (d) 5%

B D B B Y B o o G V4 B A 8 205

11.

12.

13.

15.

16.

) ;
A\c} 40% (d) 400%
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PERCENTAGE

o
0.15% of 935% of T 10000 is : 20.

t
£10000 ¥, 33;%%5: 0.15% T g 2

(a] Rs. 5 . (b} Rs.150

(c} Rs. 0.05 {d) Rs.105

30% of x is 72. The value of x is :

x® 30% , 72 % & x ® A T WL ?

(a) 216 (b} 240 (c) 480 (d) 640 21.
If 15% of (& + B) = 25% of (A - B), then

what per cent of B is equal to A?

(A+B) ¥ 15% = (A-B) ¥ 25% ¥, @ B
= fean W A S am ?

a 10% 60%

{¢) 200% (d) 400%

What is 20% of 25% of 300 ?
300 = 25% w1 20%

Fm 7 %ﬂ;
a) 150 (b)) 60 (o) 45 {d} 5{},

25
If %% of —2-is 150,

of x is:

ot —mx%,lw%ﬁw@%mﬁ ?

Tb) 1200
{d) 1500
30% of {x +u),
ger cent |of x is y ?
Xrs = (xp gy 30% .y,

249.
{a} 1000

{c) 1400
If 50% ofy(

A, 1
(@) 28% o 33-%

BT

B S R R

1
If the income of Ram is 12; % more

than that of Shyam, the income of
Shyam is less than that of Ram by

1
af ¥ ¥ I, @M | tz;% g %, A
mﬁmmﬁmuﬁmm%?

zi% % 11
X’s inc Y% more than that

of Y. What p8r cent is Y's income
less than

x® v ¥ 20% afim &, @ y W 57 x
g \viem T 2

{a,u—% i

1% (1) 162%(c) 832% ()16 5%

(a]
%ﬂ‘ie time duration of 1 hour 45 min-

utes is what percent of a day?

1 w2 45 e v fer & e vfwa ¥ 2
(e) 7.218 (b) 7.291

) 8.3 ) 8.24
Which number is 40% less than
0% of 1007

= @ wen 100 F 90% d 40% ¥
w2

(a) 36 {b) 54 {c} 50 {d} 60
1
If 30% of A= 0.250f B = EOf C,

then A: B: Cis equal to :

' 1
GgEATI0% =BFMO25=CH g%gﬂ

A: B C e mgm ¥
a}5:6:4 by5:24:5
©6:5:4 d10:12:15

25. 0.01 is what per cent of 0.1 ?

0.1 %1 fea wPwE 0.01 #7

2 1 1
8. - is what tof ~? (@ 10% B 75 %
5 18 What pereent O 4 Jf 50% of P = 25% [of Q, then P = 10
x% of Q. Find x.
U e s 20 ,—«‘x 2k P a1 50% = Q ¥ (25% &, @ P=Q e} 100% @ Too
3 3 wx% E A AR i ? 26. The difference of two numbers is
%, @05 (B2 50 (d) 0.005 15% of their sum. the ratio of the
18. 1If 20% of A = 50% pf B, then what larger number to the smaller num-
{a) 50% {b) 33—% (q 200% percent of A is B ? ber is:
. o A F 20% = B # 50% 2, 9 A # 2 denel ® HE, TR Am | 15% ¥, o
9. If 10% of m as 20% of N ° o e 7@ Hem W B we F AN AW HEY
n, then m :n *, : s BE 2 (=) 23 : 17 (b} 11:9
aft m AR, g 20% ® T &, @ (a) 30% (B 40% (0 17 : 11 (d) 23 : 11
m:n ® y 5 {c) 25% idy 15% 27. P is six times as large as Q. The
é 1 b 1:2 1. 19 18% of which nu r is equal to percent that Q is less than P, is ®
120 LA 12% of 75 ? P, QﬂG%TnimiiﬂQ P fom
: . o \Jﬁmﬂ st ?
10. The ratio 5 : 4 expressed as a per- few dem ¥ 18% ,75 F 12% ¥ TR
cent equals &m 2 al 33_1_% b} 70%
! (a) (b) 7
5.4 % WA % avw W fE faen wom 2 (a) 50 (k) 100 3
{@) 125% (b) 80% 3 63Lo
{c} 40% {d) 12.5% fo) 2 Gy fc) B3z {d) 50%
Wizard of Maths —~ Rakesh Yadav Sir



28.

29,

30.

31.

32.

a3.

4.

35.

36.
ar.

38.

65g is what per cent of 2 kg ?
65g , 2 fEm. =1 feew wRm # 2

B,

65
@ 3 (b) 5%

15
() 5 %

Halif of 1 percent, written as a deci-
mal, is:

1% %1 3w =vmerd ¥ R R fn sem
? [(a) 0.2 {b) 0.02

{c) 0.005 (d) 0.05

The time duration of 2 hour 45
miuntes is what percent of day ?
29% 45 R ¥ 9w, W A W fEe
wwera # 2

{a) 7.218% (b} 11.45%

{c) 8.3% (d) 8.29%
1.14expressed as a percent of 1.9 is:
1.9 %1 faeen whem 1.14 3 2

(a) 6% (b} 10% c) 60% (d} 90%
0.001 is equivalent to:

0.001 fres =g ¥ ?

{a} 10% (b} 1%

{c) 0.01% d) 0.1%

13
(@ 5%

3
If 60% of A = ‘ZOfB.thEnA:Bis

3
AR AT 60% = B Y 2HA:B=?

{a) 9 : 20 (b)20:9
(ch4:5 (d)5: 4
If 30% of (B ~ A) = 18% of (B +A},
then the ratioc A : B is equal to
% (B-A) T 30% = (B+A) ¥ 18% %, &
A:B® sqm s ¥
@4:1 by1:4
©)5:4 {dS5:9
32 is what per cent of 80?7
80 = fren whvm 32 # 2
(@) 24% {b} 25.6%
{c) 36% (d) 40%
If 90% of A = 30% of B and B is x80% /
of A, then the value of x is s g
aft A® 90% = B¥ 3 /oaqhwan
x% %, & x = 9 T

{a) 800

{c) 700

If 90% of A

of A, then t 2

az A = 90% 4 6.
2x% % H

(@ 450 {b) 400

) 300 ¥ (4 150

One- third of 1206 is what per cent

of 134 ? 47.
1206 = wH-faerd, 134 @ s wiem # 2

(a) 100% {b) 150%

{c) 200% {d} 300%

39,

40.

41.

42,

43.

44y 50% of (P - Q) =

If 120% of a is equal to 80% of b,
h bia, al t
then b_g 15 equal to
M awm 120%, b % 80% & wR ¥, 4
b
e T )
b-a
(a) 5 {b) 6
{c) 7 ) 8
If 20% of {A + B) = 50% of B.then
¢ 2A-B
value o SArE 1§
M (A+B)H20%=B® 50% %, @
2A-B
SArE T T W 3
1 1
@ 5 ) 3
1
© 7 1
If 40% of (A +B) = 60% of (A -B)
b 24-38B |
then __A B Is
% (A+B) T 40% = (A-B) = 609{ 2,
2A-3B
A B fres Tt Ty
A 6 g
(a) P3 (b) i’ 1%
5 !6-
What per: ﬂ(g is 72 gms. ?
3.6 fam. 720
ia} 32% ¢ (b] 22%
(c) 12% (d) 2%
& /%% is 100, then x is :
% 100 % W x =2
(a%o (b} 180
(ch () 125

30% of (P +Q) and
Q X% of P, then the value of x is :
(P—Q] W 50% = (P+Q } F1 30% T Q

6, P#H x% %, @ xF: o7 70 557
@30 (b)25 (020 (d)50
25% of 120 + 40% of 380 = ? of 637
120 =1 25%+380 = 40% = ? of 637
1 fFam wm sm?

@ =

3
- @ =

1 4
o7 (o5

5
What is 27% of 36% of ry of 45007

[
4500 % 3% 36% | 27% T 12

{a) 239 {b) 241

{c) 243 (d} 245

1% of 1% of 25% of 1000 is:
1000 % 25% % 1% % 1% famm ¥ 7
{a) 0.025 {b} 0.0025

{c) 0.25 {d) 0.000025

48.

49.

50.

51

53.

54.

35.

56.
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If 8% of x = 4% of y, then 20% of x is:
AwE xH 8% =y F 4% #, W W 20%
w9 w7

(a) 10% of y (b) 16% of y

{c) 40% of ¥ id) B0% of y

If 60% of A = 30% of B, B = 40% of
C and C = 2% of A, then value of x is
MATMG60% =~BF30% L B=Cm
40% I C=A® 2% T A x| 79 2

{a) 8OO b} 200
(c) 300 ) 500
1
If 20% of A = 30% of B =gof C,
then A : B : C is:

# 1
aft A w2098 = mao%-CanE?.
dA:H: ;

() 2 : 37 (b)y3:2:16
{c) 10 : A8 (d) 15 : 10 ; 18
If 50%«0[ x® 30% y, then x : y is

50% = 30% y @ x: y %1 wm?
ba:2
d3:5

Type B
} If 80% of a number added to 80
gives the result as the number it-
self, then the number js:
aft et W % 80% W 80 St wEn £, @
o SR wen ® w2, @ vem 2
(a) 200 {b) 300
{c) 400 (d) 500

A person who spends 65— % of his

income is able to save ? 1200 per
month. His monthly expenses
fin?})is :

2
= =\ A s w 665%‘&%?3?{%

1200 =few a0 F00 §, @ 35 WiEw
s (To)wm & ?

(a} 1,200 (b} 2,400

fc) 3,000 d) 3,200

The income of C is 20% more than
B’s and the income of B is 25% more
than A's. Find by how much percent
is C's income more than A’'s ?

C % o\, B & 20% #fiw ¢ 3 B 7 am,
AR 25% whim & @ C ¥ am, A @ oy
wimm s § 2

(a} 150% (b} 50% (c} 25% (d} 35%
If A exceeds B by 40%, B is less
than C by 20%, then A : C is :

as A, B H 40% wsimr % ik B, C )
20% FW %, WA C wnoTM ?

fa) 28 : 25 {b} 26 : 25

(c) 14: 27 (d) 27 : 14

In a school 70% of the students are
girls. The number of boys are 510,
Then the total number of students
in the school is :

u% frarem § 70% faod wefed 4 @= w®
ﬂ'@aSlO%.a‘lwﬁ@mﬁﬁmﬂi‘?
(a) 850 (b} 1700

{c) 1830 {d) 1900

-




57.

S8.
59.

60.

61.

62,

63.

64.

If 60% of the students in a school
are boys and the number of girls is
972, how many boys are there in
the school ?

i fEeE ¥ 60% Bm wES & A wEhed
) won 972 ¥, A frawa 4 few e # 2
{a) 1258 {b) 1458

(c} 1324 4y 1624
When 60 is subtracted from 60% of
a number, the result is 60. The
number is :

frdt =W & 60% § ¥ 60 W & 4ivm
60 o &, W wEm w7

() 120 (b) 150

{c) 180 {d) 200

When 75% of a number is added to
75, the result is the same number.
Find the number :

et vEm @ 75% § 9@ 75 W WA E,
oo =E wEm A R, W W @ w2
(a) 225 (b) 270

{c) 300 (d) 325

The difference of two numbers is
20% of the larger number. If the
smaller number is 20, the larger
number is .

2 wem @ At 9% o= W 20% AR
i e 20 #, @ ¥ vem wa w2

(a) 25 (b} 45

{c} 50 {dy 80

If A’s income is 40% less than that
of B, how much percent B's income
js more than that of A ?

oz A, BE 4% X, A B
7, AR fre v et & 2

{a) 60% by 40%

{¢) 66.66% {d) 33.33%

Two numbers are respectively 20%
and 50% of a third number. What
percent is the first number of the
second ?

= demt #E wem W FE: 20% a0
50% %, @ T wWen @ den ;| fEE
o # 2

(a) 10% (b) 20%

{c) 30% {d} 40%

Two number are respectively 25% -
and 20% less than a third number, -~
What per cent is the first numbef,
of the second ? '
T gerd @wh gEm ® wEn: 25% nwl
20% F9 ¥, 4@ wel ﬂ'@l‘l {aﬂ T
faa wiweE # 2

70. Two number are re
3 o 50% more than a 4
(@) 83~ % (h) 92~ % the ratio of the tw
4 S < went, ded
23 \:‘ 3
<) 80— % [d]"93— % w7
If a numbet hx is 10% less than an- (@) f :
other number y and y is 10% more [C}D ) o
than 125, then x is equal to : 71. 15% of 45% of a
WWWX,WMyﬁIO%E'Hé What is 24% of tl
sy , 125 4 10% st €, & x (5o :
e # 2 wen W 24% @ &
(@) 150 (b) 143 {a) 385.5
{c) 140.55 (d) 123.75 {c) 390
Wizard of Maths -

65.

66.

67.

68,

69.

If 70% of the studients in a school

are boys and the
504, the number

wF e o 70%

umber of girls be
f boys is:

i age & aun wefEa

F HEn 504 % @ 7EH # wen A el ?

@) 1176
(c) 1208

Two numbers ard

b) 1008
d) 3024
more than the

third number by 20% and 50% re-
spectively . Find the first number is

what percent of the

3 e, e €Em

second number ?
¥ wun: 20% A=

50% wfus 2, @ vee wem, RO den ;|

frm wfawm £ 2
(a) 100%
i) 80%

b) 150%
d) 120%

Two numbers dre respectively

1
125% and 25% lnore than a third

number, The first

number is what

percent of the segond number :

% wead df 9Em q A

12%% an

25% atfier 2, A WS T, TOG WEN W

fopgn ofem € 7
(a) 50%
i) 75%

(b) 60%
(d) 90%

If 60% of A’s income is equal to 73%

of B's income, th
equal to x% of A's
of xis :

ofr A F W@ F 60%

en ‘B’s. income is
income. The value

B Wm® 75%

FHMEABT AR AT IAD % F
R 2, @ x H W A wt ?

fa) 70 W
{c) 8O0 .

Twé numbefs are
1£:20% of the sma
to 20, is equal to

. |m} 60

(d) 90

in the ratio 2 : 3.
ler number added
he sum of 10% of

the larger number| and 25, then the
- smaller number is:

AGE 23 F

S 20% § 20 Wi

'H'@Tl % 10% # 25
HEn 9@ F

[a) 100

{c) 180

# 41 afz TE Hem
# & ura e, g
afirm &, @ TR

(b} 160

{d} 2043

spectively 20% and
hird number. Then
» numbers is:

W wEm: 20% a9

50% sifus mma@mﬂ = FIE T

3.5

{d) 6 7

number is 105.3.
hat number.

frt W@ % 45% W 15%, 105.3 31 39

b
(b) 374.4
{d) 375

72.

73.

74.

The monthly income of a person was
7 13,500 and his monthly expen-
diture was T 9,000. Next year his
income increased by 14% and his
expenditure increased by 7%. The
percentage increase in his savings
was?

v wfE W omies w[ 713,500 # s
T wieE =@d 70000 #1 e A IEE
¥ 14% a3 T § o e md T W%
T & @ IWF T A weww e Fm w2
&) 7% (b) 21%

(e} 28% [di 35%

The difference of two numbers is
45% of their sum. The ratio of the
larger number fo. the smaller pum-
ber is

7 demd W S T A W 45% ¥ T
T @ BET CHEM B TS W He7

(a) 20 : 9 {b)9: 20

(c) 29 : 11 (@ 11: 29

A number if reduced by 25% be-
comes 225. By what percent should

it be increased so that it becomes

375 ?
TF T F W 25% W fom o € A W

| dem 025§ W %1 T8 wen 4 fEe Wi

75.

76.

77.

8.
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F 9fz ¥ 9w 1% T d@Em 375w 9w
(a) 253% (b) 30%

{cl 35% (d) 75%

Out of two numbers,40% of the
greater number is equal to 60% of
the smaller, If the sum of the num-
bers is 150, then the greater num-
ber is

= e § ¥ TE e W 40%, IR €T
= 60% % T *| K wenH w® AW 150
¥z "o wm 2

{ay 70 (b 8O (c) 90 {d) 60
If A’s height is 10% more than B's
height, by how much per cent is
B’s height less than that of A ?
AR TEEBE 10% R ¥a B w vl
AT fEms v &1 #7

1
1 |
10—% 9%
() 157 ™ @ =37
Given that, 10% of A’s income =

15% of B’s income = 20% of C’s
income. If sum of their incomes is
# 7800, then B’s income is :

fom T 2, 4 T 3T ¥ 10% = B ¥ oM
# 15% = C F a7 T 20% 3R 71 F)
A 9 M 27800 #A4 B ¥ 9§ FL
{a} ¥ 3600 (b} T 3000

[c) T 2400 {d) T 1800

If three-fifth of sixty percent of a
number is 36, the number is:

. . 3 .
w e & 60% B — 936 %, @ wen

5
T W7
{a) 100 {(b) 8O
cl 75 id) 90




79.

80.

81.

B2,

83.

84,

85,

86.

A’s salary is 50% more than that of
B. How much percent is B’s salary
less than that of A ?

A¥ 9, B 9 50% 9= %, A B w1 W,
A ¥ fren wfrew a0 &7

1
{a) 50% {b) 33-5 %

2
{c) 45% id) 665%

If Nita’s salary is 25 percent more
than Papiya’s salary, then the per-

centage by which Papiya’s salary is .

less than Nita’s salary is:
i w1 AW, v A 25% sfiw £ A
wftrr = AW i A e wiE w2

(a) 15% (b} 20%

c) 25% {d) 32%

X has twice as much money as that
of Y and Y has 50% more money
than that of Z. If the average money
of all of them is T 110, then the
money, which X has is:
X,?mWYddmomet s ys oz
A 50% afgw T R A A B TR =
s 110 #1 @t X # um fem w9 )

{a} T 55 (b} 60

(c) T 90 (d) 7180

If x earns 25% more than y. What
percent less does y earn than x ?
x, Y8 25% s a8, @y, X9 faa
wfeva 5 w9 ¥ 7

(a) 16% (b} 10%

(€) 20% (d} 25%
Tulsiram’s salary is 20% more than
that of Kashyap. If tulsiram saves ¥
720 which is 4% of his salary, then
Kashyap’s salary is

FAERW F W, T W 200, afus ) A
EENM 720 ® w=w w4 ¢, 9 39 A =
4% 2, & Fvan w1 A WA o+ 2

{a} T 15,000 {by T 12,000
{c) T 10,000 d) T 22,000
Two numbers are less than a t
number by 30% and 37% resp

tively. The percent by which the sec-
ond number is less than the fcst is:
3 e, Wl dew ® W
37% ¥8 %, A qwWh w '%%
o wfrem & & 2 g o
(a) 10% (b 7% 6 ¥ (d) 3%
Mita’s incomegis 28° than that
of Sita. Wh. is Sita’s in-
come les th, of mita ?
5% wiww 2, At da

uﬁma wu¥?
ta} 25% by 24%
fc) 22%% (d) 20%

If A’s income is 25% less than B's
income then by what percent is B’s
income more than that of A ?

87.

88.
89.

90.

91.
ol :\\
c

¥

Jhundred per cent pure gold, then

93.

MW AT 3w BA25% w=w &, @ B *
3, A B et whm aifes 2 7
(a} 25% {b} 30%

lo Eo
{c) 333 Yo {d 663 Yo
A’s salary is 40% of B’s salary and
B’s salary is 25% more than C’s sal-
ary then C’s salary is how much
percentage more than A?
AFITH, BRE A | 40% 2 9en B =
m,c%ﬂaﬂﬁQS%mﬂ.?ﬂCm
A, A ® fire iR s # 2
fa) 50% (b} 100%
(c) 150% {d) 200%
If A's income is 50% less than that
of B’s, then B income is what per-
cent more than that of A ?
A AT wm BE50% 7w 2, 9 B w
2, A 9 e whvm aifes & 2
{a) 125% (b) 100%
(c) 75% (d) 50%
A’s salary is 25% more than B’s sal-
ary then B’s salary is how much per-
cent less than A's salary?
AT 4, B 3 25% sfvw ¥, A B

95.

96.

\ O

o

A B g vhwm w1 37 4; i ' by '
{a) 20% {b) 24% &, -qw
(c) 25% (d) 27.5%

If A exceeds B by 60% and B is [¥ss
than C by 20%, the%& Cis
% A, B¥ 60% sfes & %B cw
2% %u R W@ A C &k m ?
fa} 32 : 25 _3[ :
c)B:5 U‘M 2 5
In an exéﬁniatl 3% of students
passed an&fiﬁg failed. The total
number o, Stidents appearing at the
m;ltlm was:
Foun BO3% BN e T T e 259
M ® oA 2, A wou § Bt 3
mm ot 7
{a} 3700 (b) 3850
{c) 3950 {d} 4200
If 24-carat gold is considered to be

the percentage of pure gold in 22-
carat gold is :

7 24 #2 W N & viwm a9 T
¥, 9 22 3% 1A , yg 9% w1 vhew 9w 2

{a) 91%% (b 91%%

Lo 2
{c) 913 ) (d) 903%
If 30% of A is added to 40% of B,
the answer is 80% of B. What per-
centage of Ais B ?
A AT 30% , BR 40% § wzy o 3,
qIW BT B0% W R, A A e
wiem, B 2 2
(a] 30%
{c} 70%

(b) 40%
(d) 75%

98.

99,

100.

101.
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First and second numbers are less
than a third number by 20% and
40% respectively, The second num-
ber is less than the first by:

Wl w TEd wem, dwd wer 3 wum
20% AN 40% Fu ¥, o Tt wHem, e
wEm B fea wfivm o @ 2

@ 7% (b) 4%

(c) 3% {d} 25%
One-third of a number is 96, What
will 67% of that number be ?

et wo = w96 ¥ A 3% gen W@
67% Fn ¥m?
(a) 192.96
(c) 169.92

H x% of
then zy‘%f %g

z% %;

{m%%% of a

[b} 181.44
[d] 204.48
sa.me as % of b,

y%® et A b=

% of a

=
o)

7%01’& {d) %%ofa

If y% of one hour is, 1 minute 12
seconds, then y is equal to

1% = g%, 1fee 12 99w 2, 4 y
R 2
{a} 2 (b 1

1
e 5
A team played 40 games in a sea-
son and won 24 of them. What
percent of games played did the
team win ?
TH O T WA W 40 T st AR 24 ¥
W7 ofem W €, o G99 % 9w e

(d) Py

am 2
(a} 70% b} 40%
(c) 60% (d) 35%

A number is divided into twe parts
in such a way that B0% of 1* part
is 3 more than 60% of 2" part and
80% of 2" part is 6 more than 90%-
of the 1* part. Then the number is:
M F R umi ¥ W g at e #
TR 9T W 80%, W 9 F 60% A 3 3y
% 2, R gm oam W 80%, e W @
90% 4 6 wfgm ¥, 3 wem = 7

(a) 125 (b) 130 (¢} 135 (d) 145

A number, on subtracting 15 from
it reduces to its 80%. What is 40%
of the number ?

TF HEn A 99 15 e 9w E, @ w s
80% o 7wt &, ot Iy wew ] 40% feaw

wm?
fa) 75 {b) 60 fcy 30 (d) 90
498 is 17% less than a number then

the number is:
4 "' |1 17% =9 7 W 498 wa
T ®, ® g Im W

(a) 610 (b) 580 (c} 600 (d) 620




102.
103.

104.

105.

106.

107.

108.

109,

110.

Given A is 50% larger than C and
B is 25% larger than C, then A is
what percent larger than B ?
fem ¥ A, CR50% o & IRB.CR
25% sfer &, AA B ¥ 5 whwm afew ¥2
{a) 25% (b) 50% (c) 75% (d) 20%
What is to be added to 15% of 160
so that the sum may be equal to 25%
of 240 ?
l@ﬁlS%ﬁmWMﬁi“ﬂh24O
F 25% % THEC A2
fa) 24 (b) 84 c) 60 (d) 36
A number when reduced by 10%
gives 30 as result. The number is :
o wem W@ 10% werdl wh & wfom 30
s &, @t don w@ %7

1 1
@) 335 (o) 33
(c) 40 () 35
If 15% of x is same as 20% of y
then x : y is :
A 15%, y & 20w B R, Ay TR
a4:3 {b)3:4
{c}6:5 d3:4
In an examination A got 25% marks
more than B, B got 10% less than
C and C got 25% more than D. f D
got 320 marks out of 500, the marks
obtained by A were
o i 4, A H, B ¥ 25% % A w4
70 B A C A 10% %7 3i% W= g A CH
D @ 25% siw sfus wra g ot D # 500
# ¥ 320 3w WA A H, A A F HH I

A T
{a} 405 {b) 450
(c} 360 (d) 400

1
A number increased by 225% gives
98 as result. The number is:

1
™ W F 225%-«@!11:11131%,?&3398

A e #, o wen wm # 2

(@) 45 ()18 () 80 (d) 81
When 75 is added to 75% of
number, the answer is the numbg
Find 40% of that number.
o e # 75% § @ 75 g A §,

mwﬁm-ﬂﬂm%wmia?ﬂw;

wem F 40% FA F2

(a) 100 (b) 80 ()42 {ﬁﬁo
The number that is to e _ to

10% of 320 to have t}g stgn ¥s 30%

of 230 is: o N

320 ® 10% H A ﬁ‘m & SRom

230 F 30% ® wx e 7

{a) 37 wf 23 (@) 73

If X is an Y, then find

h f - 4 =

tevalueo, Y and ¢
Y-X

afs X, Y & 20% ®u &, @ —?—aﬂx

X
—— b
X-7 * A TA FL

112.

113.

114.

116.

Jc} o

15. One-fifth of half of a number is 20.
Then 20% of that number is

el dem F s & eEl foen 20 ¥ I
wEm ;| 20% ¢

|
fa) %,-4 _ “ (b} 5,&

2 5 ‘:"3 3
573 @ 575

. In a village 30% of the population

is literate. If the total population of

the village is 6, , then the num-
ber of lilterate is:
w T § 30% S # A e R F@

(a} 1980 ) 4620
{c) 2200 } 3280]
If A’s salary is 50%| more than that
of B, that Bs s is less than A's

mﬁ.ﬁoo%,ﬂw%aﬂagaﬁmw@
(
¢

by :
T AW A, BY 50% aE 8, A B W
a4, A ¥ A vie 3 22

1
{a} 33% )] 403%
{C} 4419’(0 l(l] 331%
3 3
Two numbers A and| B are such that

the sum of 5% of 4 and 4% of B is

2

3 rd of the sum of 6% of A ”a'

of B. The ratio A 1B is: ‘&:X
Gde AT B YR 8 f6 A S §

am B & 4% &1 4m, o5 ¥

S%siﬁﬁﬂﬂ?l%i,?ﬁ Eo

w2
() 4:3
() 1:1°

A, iy

3 3

i ;112“3': 4
M 2:3
ased by x%; to

iginal number, it
r

T e Hem
wiwTE T w@m?

100+ x

@) 80 (b) 60 () 20 (d) 40

1 .
333% of T 90 is equal to 60% of ?

1
TO0W SSE%ﬁwﬁzukeo%a}m%?

(a) T 122
c) T 123

{b) 2125
(d) T124

. 51% of a whole number is 714. 25%

of that number is
fE is F 51% & 714 , 7t I wE |
25% T FEm?

{a) 250 (b) 350 (¢} 450 (d) 550

kW)

B3

Type €

118. Price of sugar rises by 20%. By how

much percent should the consump-
tion of sugar be reduced so that the
expenditure does not change ?

< @ T ¥ 20% W qR B owd #, A o
% wva B e afEm w9 SO 6w
w wd sfeafdn w?

(a) 20% (b) 10%

2
() 162 % (d)} 15%

119. What percent decrease in salaries

120

would exactly cancel out the 20 per-
cent increase ?

A § frR e FIAE20% T F TR
wmyr f My

o
:ﬁde T ; E
@ zo%mmg% B 16 %
35 hd 18%
% °
“‘%.3 % td

ption so as not to increase his

fooliprices go up by 10%, by how
g&_ th should a man reduce his con-
% \ekpenditure ?

Fofz i % e ¥ 10% IR € o @, @

= =W AT T § R wieE 8 owde
=t s wd A w2

1
(@ 9% (b) 10%

2
© 9;% {d) The data is

not sufficient

121.The price of an article is decreased

by 10%. To restore its former value
the new price must be increased by :
firdt 7 3 T W 10% W A on R R,
rﬂma}qwaﬁmmﬁémaﬁqmﬁ
frr wfwm W it T AR 2
{al 10% o 11%

1 1
11—% 11—%
s @3

122. In the new budget, the price of kero-

123.
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sene oil rose by 25%. By how much
per cent must a person reduce his
consumption of kerosene oil so that
his expenditure on it does not in-
creaser

7 Tz § B T W gE25% 98 <
o =fE W A T Y e whes 3o
i w0t fE A ™ 5 T sRakE R 2
() 20% (b} 25% (c} 50% (d) 40%
Salary of a person is first increased
by 20%, then it is decreased by
20%. Then the percentage change
in his salary is :

T =i W aE T 20% w9 fow S g
for 20% o fem W &, @ I g W T
i AR g7

(a) 4% decreased

(b) 8% increased

(c) 8% decreased

(d) 20% increased




124. A number is increased by 20% and
then it is decreased by 10%. Find
the net increase or decrease
percent.
T W W 20% W I ¥ AR fm
10% wern o &, A wfem =0 @ i 9@ =% 2
(a) 10% increase (b} 10% decrease
[¢) 8% increase (d) 8% decrease
The tax imposed on an article is de-
creased by 10% and its consump-
tion is increased by 10%. Find the
percentage change in revenue from it.
ford) = Wt wME T R W 10% WY S R
Wt # 2R s T 10% 9% O 2, @ W
TG ¥ TR A oy i wm o g
{a) 10% increase (b) 2% decrease
(c) 1% decrease (d} 11% increase
126. The price of an article was increased
two times successively by 10% each
time. By what percent should the
new price be reduced so as to
restore the original price.
TF T F R W FER % OSX 10% w1
A e W E [ T F SREE Fm
WA wR % o @l g s o e whe
Ft =i s B

125.

(a) 15% (b} 17.36%
{c) 17% {d) 16.36%

127. H price of a book is first decreased
by 25% and then increased by 20%,
the net change in the price of the
book will be :
=R fFdt fere = o= WR 25% wemn
war # o f 20% m@ fem oW # @
faara %1 Fra & ffan wrafem Tids aEm?
(a} 10% decrease (b) 5% decrease
{c) no change {d) 5% incrase

128. A number is increased by 10% and
then it is decreased by 10%. The
net change in the number is:

o wE A 10% W g =t 9w 3, feoww
10% 5= fom o ¥, & wem § fr sw
Fwn?

(a} 2% decrease (b} 1% increase
{c} 2% increase (d} 1% decrease

129. A worker suffers a 20% cut in hi¥g
wage. He may regain his origi§
wages by obtaining a rise of hd
much % ? F
qwmﬁm{ﬂﬁzo%ﬁamﬂaﬂﬂ
W 3, 3 e F T @ e
frm i gig i
{a} 27.5% (b, %@ﬂxﬁ. :

(c) 22.5% {0 B

130. The salary of a pe n"*@as reduced
by 10%. By gwh i cent should
his reduoed s ; sed so as to
bring it Litghis orgmal salary?
o wtm W 6% =t = o o 4,
A ﬂm ‘Q @\ﬁ i & gfy % W
& 39w F. A WA w2
(a} 9% (b) 11%%

(©) 9%‘%% ) 1%

131. A number is increased by 20% and
then again by 20%. By what per
cent should the increased number
be reduced so as to get back the
original number ?

TF HEn F e 20% T T6 ¥ S) fw
20% i == = #1 wer ¥ vem # R
Fiwm wern S & Aife Som wa o sy

(b 191—1%

5 o,
ic) 40% (d) 44%
The number of employees working
in a farm is increased by 25% and
the wages per head are decreased by
25%. If it result in x% decrease in
total wages, then the value of x is:
frdt wlt A wed W Hem 25% W@ 9
ot ¥ T of R weEh § 25% w9 W
f T &) witor: Teed # 4% @t e a0
et #, & x F am aw
{a] 0% (b} 25%

132,

25
{c) 20% [ 5 %

133. The price of an article was increase
by r%. Later the new price wq,s
creased by r%. If the latest gricé
T 1, then the original price Wi
ot 7 % TR W% F1 o W A T
LR G T r%aﬁﬂa?{ﬂﬂﬁl
3 T W gL, Ehawq‘%%mqrq

T oA?
@z {7
/%g__ (o 10000
1g —_—
lilj 1;0@@%& [10000 ]

134.4 _‘prldwé)f petrol is increased by
“$By how much percent a car
owtier should reduce his consump-

£ tion' of petrol so that the expendi-

: creased ?
éﬂaﬁa?gmﬁ%%ﬁqﬁﬁnﬂwm

wfeF F el wE fhe whvm ww s

it s e v wd [

(a) 25% {b} 30% (c) 50% (d} 20%
135. A number is first decreased by 10%
and then increased by 10%. The
number so obtained is 50 less than
the original number. The original
number is :

TF HEm H W 10% weram I # ok fise

10% =31 f v 2, 4t @ Hewn, awates
wew § 50 =9 ¥, @ wafaw d@En ga oFi2
(a) 5900 {b) 5000
{c) 5500 {d} 5050
The Government reduced the price
of sugar by 10 per cent. By this a
consumer can buy 6.2 kg more sugar
for T 837. The reduced price per kg
of sugar is:

%ture on petrel would not be in-

136.
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&R 7 A6 F o F10% 9= A e
FTW OF e TR37 # 6.2 e, < o
QiR % &, @ w60 # uraw wfa fem =
w o W R?
(2) T 12.50 () T 13.00
(¢) T 13.50 (d) T 14.00
The price of sugar is increased by
20%. If the expenditure on sugar
has to be kept the same as earlier,
the ratic between the reduction in
consumption and the original con-
sumption is:
SE # we A 20% FE o8 W boARk S
wﬁﬁﬁam&%,a‘lﬂ?ﬁ%mw
H Tt g W@'ﬁ F1 S da w7
(@ 1:34 4 % (b 1 ; :
g1: “dy 1
If the p ﬁk‘ '@%f a commodlty is de-
creased % and its consump-
tiordis increased by 20%, what will
be;gttfb increase or decrease in the
,_Expeﬁ:hture on the commeodity ?
‘I*},gﬂﬁﬂﬁm20%mﬂm?ﬂim
w9E 20% 9 W F, @ I Womd o
ﬁmﬁ womE &t =9t @ 3fg =i 2
{a) 4% increase (b} 4% decrease
{c) 8% decrease (d) 8% increase
The price of a certain item is in-
creased by 15%. If a consumer
wants to keep his expenditure on
the item the same as before, how
much per cent must he reduce his
consumption of that item ?
feedt Tg # Frm § 15% TR B Aw 2,
WEF 3T WY w aE: w A W os
A @ ¥ fend wfme F) w3d e @ 2

137.

138.

139.

1
13—%
(a) 15% {b) 23 o

2 20
16—=% 10—%
© 163 (d) 1052%

140. If the price of petrol be raised by
20%, then the percentage by which
a car owner must reduce his con-
sumption so as not to increase his
expnditure on petrol is:

=% 4R B W A 20% IR A e
@ TF TR e H A\ § e whea
#1 I w0 gt afs svm wd HE W 7

1 2
{a} 16—3—(}’0 (] 16-5%

2 1
] 153% (d) 15~3~%

141. A number is first increased by 10%
and then it is further increased by
20%. The original number is in-
creased altogether by:

T wem T 10% Tt 9 @ sk fie
20% Tt i # @ amfivis Wem ¥ =
fom wirem =t 3 82

(&) 30% (b} 15% (¢} 32% (d) 36%




142.

The length of a rectangle is in-
creased by 10% and breadth de-
creased by 10%. Then the area of
the new rectangle is:

w FrE H v 10% 7= W mmn e
10% wert T A T FF T AR F0 e 2
{a} neither deceased nor increased
{b} increased by 1%

(c) decreased by 1%

{(d} decreased 10%

143. B got 20% marks less than A What per

144,

145.

cent marks did A got more than B ?
B AR 20% %A 3G AT, FAFB
R e whm fus i€ w9 70 ?

(a) 20% (b) 25% (¢} 12% (d) 80%
Priyanshu's salary was reduced by
10% and then the reduced salary
was increased by 10%. His new sal-
ary in comparison with his original
salary is :

i | A 10% "= o, fwowEm
W A 10% T fen T, A e T E
T R F o H A L4

{a) the same (b} 1% more

{c) 1% less {d} 5% less

If the price of a commeodity is in-
creased by 50%. by what fraction
must its consumption be reduced
so as to keep the same expenditure
on its consumption ?

iz foret oreg & Fwa 50: 9 WA B, A
=G H BT A FH FT W A '@

Haq @ ?

1 1 1 2
() 7 3 5 @ 3

146, If the duty on an article is reduced

147,

148,

by 40% of its present rate by how
much per cent must its consump-
tion increase in order that the rev-
enue remains unaltered?

fadl A W (S I6S A T 1 40%
F0 w2 & o §, W e 'm R i
A W R I W S T w7

1, 7%
(a) 60% {b) 62=% % i""%k
3 o,
2 iy
(ch 72% (d) 66-53{0 )%i;’
If the price of sugar;ﬁ iﬁby 154.
25%, find by how mu gﬁq 1t a
house holder must rédudg hié con-
sumption of sugar $o ot to in-
crease his ex en@i‘ P
ofz W @ 25% o ¢, A
=afE W AW gfrm & s
155.

FG B m‘%{h &
fa} 10% [ o' (c) 18% {d) 25%
The price ofian article is reduced
by 25% but fhe daily sale of the ar-
ticle is increased by 30%. The net
effect on the daily sale receipts is:
foet 7 W FEE 25% W W ¥ AR
it IO faa 30% =@ oot wRER
# W T FE AW W ?

149,

150.

151.

152,

153.

1
(a) 25% increase

1
(b) 25% decrease

[€) 2% increase

{d) 2% decrease

The price of sugar is reduced by
20%. Now a person can buy 500g
more sugar for T 36. The original
price of the sugar per kilogram was:
5 = Fm § 20% F w9 o A
wr =i 2@ 36 % 4 500 M S s
iz oFa &, A v fEw F o
Fh@ Fn 2

fa) T 14.40 (b} T 18

fc) T 15.60 (d) T 16.50

The salary of a person is decreased
by 25% and then the decreased sal-
ary is increased by 25%. His new
salary in comparison with his origi-
nal salary is:

w =i T WA 25% F % T wm # AR

fipe TR AT A W T 25% @ Fon W ¥ 41587
& rE dm A g A v AR d 2 & O

{a] the same {b) 6.25% more

{c} 6.25% less

10% and 10% on an article arg
lent to a single price increase
T TR W fed e wOEd 9 10%9°
10% #1 2 iow 1 g F FE wn-
@ 19% (020% (g%, (d 22%
The price of an article’ jagifirst in-
creased by 10% and thén again by
20%. If the last incP#¥%ed price was
T 33, the origirg l‘pneé was:

w TR ?EY

i 19% =1 gfg Fn T
20% F 75 Qg § R oFm g 133
g E’lﬂ‘ﬂ%ﬂl@ﬁ-"ﬂfﬂ | W

(8,Z.30% %= (b)Y 27.50
l@e@ 6380 (d) T 25
1 ‘nug{ﬁ;r is increased by 20%

and; theé resulting number is again
incrafsed by 20%, what percent is

# the fotal increase:
o (A% TE WO 20% ¥ Wi ¥ s wa

wem T 20% T W ¥, A R e |

Hfeoa 7@ i ?
(a) 48% (b) 44%
{c) 41% {d) 40%

A reduction of 20% in the price of
wheat enables Bhuvnesh to buy 5 kg
more wheat for ¥ 320. The original
rate (in rupees per kg ) of wheat was:
ﬁ(a}:;aﬁm%ma‘.mmszo
= 3 5 fm. i atew Wik wea AR
w1 snhas g9 (Wi feam) war e ?

@ 16 (b 18 () 20 {d) 21

A reduction of 25% in the price of
rice enables Bhuvnesh to buy two
kg more rice for ¥ 240. The reduced
per kg price of rice is

T & gl W 25% F T R H T
7240 ¥ 2 fEm. a9a sfuw iR A € A
i & 7 o9E @ g (9 ) W d 2
(a) T 30 (b} T 25

{c) T 20 d) T 15

{d) 0.625% less , ?
Two successive price increastés of %
vy

156. The price of an article is reduced

by 25% but the daily sale of the ar-
ticle is increased by 30%. The net
effect on the daily sale receipts is
wF I B [ A 25% F @ W A
Taw whRm ¥ faE 30% W H, B wEE
Ft s | Fn Sa Tm?

1
(a) 25% increase

1
(b 25% decrease

{c) 2% increase
{d) 2% decrease

157. The cost of an agticle was Rs. 75.

The cost wag firgh increased by 20%
and later gn j# wis reduced by 20%.
The pr¢dent cégt Bf the article is
wr T Mg, 78 T b Fw wowd
20% g LA A 20% FW
B e FY adum g w7

(apZ 72 (b} T 60
&) T8 id) T 90

Thie price of a commodity rises from
X g;per kg to T 7.50 per kg. If the ex-
! iture cannot increase, the percent-

o age of reduction in consumption is:

T F 7 67 9 fEm | 7.50
sy fEm B oMt R W Ag S Tw A
T vl # TOA # WM R 3@ o ER
el Y THE W@ ?

fa) 15% (b) 20% (c) 25% (d} 30%

159. The price of a commeodity has in-

creased by 60%. By what percent
must a consumer reduce the con-
sumption of the commodity so as
not to increase the expenditure ?
% ] F T 60% 9 T, A WD
A T ¥ feed wREE W AW we ghl
A o A w4 ?
(a) 37%

{c} 40.5%

(b) 37.5%
(d) 60%

160. When the price of an article was

reduced by 20%, its sale increased
by 80%. What was the net effect
on the sale?
ﬁaﬁwqﬂmm%wﬂmi,ﬂ’l
T fat 80% wg < ¥, @t f w o
w7

(a) 44% increase (b) 44% decrease
(c) 66% increase (c) 75% increase

161. When the price of cloth was reduced

by 25%, the quantity of cloth sold
increased by 20%. What was the
effect on gross receipt of the shop?
T W T 25% ®A W A ¢, A FE R
a3t 20% =z wwh §, A TFA S FA o A
= WREE ¥ ?

{a}) 5% increase (b} 5% decrease
(¢} 10% increase (d) 10% decrease

162. The cost of an article worth ¥ 100

is increased by 10% first and again
increased by 10%. The total in-
crease in rupees is

100 ¥ % g ® d § TR 10% F
T T 10% w1 g v ¥ oA wm I
(e #) fawd w7

{a) 20 v 21 c) 110 {d) 121
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163. When the price of sugar decreased
by 10%, a man could buy 1 kg more
for ¥ 270. Then the original price
of sugar per kg is:

9 ® e ¥ 10% F e R ® T, T
= 270 % ¥ 1 f5m Wi ofuw ol
EA ¢ A fem SR W sweE TeY AW

i ?
(a) T 25 (b) T 30
(€} T 27 ) T 32

164. A reduction of 10% in the price of
an apple enable a man te buy 10
apples more for T 54. The reduced
price of apples per dozen is

a F oFw ¥ 10% ® FH F w0
=fE| T54 & 10 Y0 v ol wem §, @
F * 91 W T F Fw o w2

() T 6.48 (b} T 12.96

(c} T 10.80 (d) T 14.40

If the height of a cylinder is in-
creased by 15% and the radius of
its base is decreased by 10% then
the percentage change in its curved
surface area is :

qfE A9H T AR F 15% FI @ § A=
W W 10% vern wa §, |
AT ® B g ea W fEwn wfeem @
ufer ¥ 2

(a) 2.5% increased

{b) 3.5% increased

[c) 2.5% decreased

{d) 3.5% decreased

A’s salary is increased by 10% and
then decreased by 10%. Then,
change in salary is:

AT W 10% T T 9 ¢ edn R
10% w1 fen s #, & 3o@ 4 4 W
e sdm?

(a) 0% {b) 1% decrease

[c) 1% increase (d) 2% decrease

If the price of rice be raised by 25%
the percent by which a house-
holder must reduce his consump-

165.

166.

167.

tion of rice so as not to mcrease

his expenditure on rice is:

ft 9= F g o 25% F I w7 A
ofEr ® st @ § fRE e 2t =M
o ¥ afs erRt W we W
{a} 22.5% {b] 25 7532*"

168.

To keep the expgndijuh
changed, the presgntigorlsumption
is to be reduged %W

Rz miﬁa ® = A
& wad

) (b) 18%

(a) 20%

2
fc) 10% @ 165%

169. If a number is increased by 25%
and the resulting number is de-
creased by 25%, then the percent-
age increase or decrease finally is

o & Wew # 25% =g wm & sk
war T HEW G 25% T A 3, A
wen ¥ wiava w9 W Ffe @ ewi 7

{a} no change

1
{b) decreased by 61%

1
(¢} increased by 61%

(d) increased by 6%

The price of an article is first de-
creased by 20% and then increased
by 30%. If the resulting price is ¥
416, the original price of the article
18:

ol =g F1 9 wwd 20% 52 9w i
: 30% 9 @ ) 9k g ® w g
T 416 %, 8 95 W wivE T W R ?
{(a} T 350 {b) T 405

<) T 400 (d) T 450

If each side of a cube is increased
by 10% the volume of the cube
will increase by:

TS W F TEE O B 10% 591 K 7
@ 3w s W R wfawe =t ety vl 2,
(@) 40% by 30% % { R
(© 33.1% () 25% &0 & 7
The difference between the vigue®
of the number increased by 20% #hd
the value of the nuigber decreased
by 25% is 36. Find the mmber

170.

171.

172,

& HR § 20% B I

= W 25% F T Sy T W

36 % dem @ P L

(@ 7.2 ). c) 720 (d) 80
173. A number i, ecreased by 20%.

The decinas humber is then in-

sed. by; . The resulting num-
rds I“égsJ than the original num-
*hg 20' Then the original num-
be’h,ls "
T e 20% W oA @ v € ok
firr w09 & 7 TEm % 20% war fom @
| T WE WA Hen ARaS WEm W 20 ¥1 2,
G e B G S
(a) 200 by 400
{c) 500 (d) 600
. A reduction of 21% in the price of
an item enables a person to buy 3
kg more for ¥ 100. The reduced
price of item per kg is:
T A R I F 21% F owH A, ™
st € 100 ¥ 3 fewl wm sifvs =i T
# g w W feel M 52 o e oA B
) ¥ 5.50 {b) T 7.50
{c} T 10.50 d) T 7.00
The percentage increase in the sur-
face area of a cube when each side
is doubled is:
it o 2 Tew @ duwa A & uE oAy
T v TR T T Y PR R A AR P
(a) 200% {b) 300%
(c) 150% (d) 50%

175.
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176. In a factory, the production of cycles
rose to 48,400 from 40,000 in 2
years. The rate of growth per an-
num is?

= HE o 2wl o wnlsT 9 3erA 40,000
[ FWH 48,000 & T 9@ affE of o
I HI

{a) 10.5%( b) 9% (c) 8% (d} 10%
Water tax is increased by 20% but
its consumption is decreased by
20%. Then the increase or decrease
in the expenditure of the moeney is
¥ o H 20% w1 3G o e o'W
20% F g B @ W B = U gfg m o
femt gi?

{a) 4% 1ncn;§as Fqﬁa

177.

If radlus of F

178. circle is increased by

increase in it's area

5% w{hen\tﬂe
ﬁa ﬁi’miS%m:mélwmm
| foeht gf €y

dM0.25% (b} 5.75%

) 10% (d} 5%
v The price of an antique is reduced
by 20% and then this price is again
reduced by 10%. The total reduc-
tion of the price is
R wl god 3| () o 20%
T & I s PR s 109 sk wm @
W e ¥ gu e edd i

{a) 25% (b} 23%

c) 30% () 28%

Type D
180. In an examination, there were 1000
boys and 800 girls. If 60% of the
boys and 50% of the girls passed.
Find the percentage of the failed
candidates ?
w wer ¥ 1000 FRF W 800 =l
mims 3 # ufk 60% we® W 50%
afe ool o #, 9 Sl T smwme el
F yiwm wm W
(a} 46.4% (b) 48.4%
(c) 44.4% (d) 49.6%
In an examination a candidate must
secure 40% marks to pass. A candi-
date, who gets 220 marks, fails by
20 marks. Find the maximum marks
for the examination ?
W™ W A e R F A 40% o
wtart #1 o gRE F 220 % we @R &
o 97 20 &9 A oEw T I R, @ whew
Y sfurm S et O 2
{a) 1200 {b} 300
{c) 600 (d) 450
182. In a class 60% of the students pass
in Hindi and 45% pass in Sanskrit.
If 25% of them pass in both sub-
jects, what percentage of the stu-
dents fail in both the subjects ?

TF T ¥ 60% B fied § 5w mn 45%
o weEE o wed v & AR o A 25%
o oA fawal § wea w2, @ 2 fawal
e wfm o smwe T 2

(a) 80% (b) 75% (c) 20% id) 25%

181.




183.

In an examination 70% of the can-
didates passed in English, 80%
passed in Mathematics. 10% failed
in both the subjects if 144 candi-
dates pased in both, the total num-
ber of candidtes was :

TR TER H 70% WEERt ot A, 80%
il wfim F wem B * 10% wRERh
o fardl § srmew A & afx 144w
I fawal § wem B9 &, @ wREim % 4@
W W Ai?

(@} 125 (b) 200 (¢} 240 (d) 375

184. The ratio of the number of boys and

185.

girls in a college is 3 : 2. If 20% of
boys and 25% of girls are adults,
the percentage of those students
who are not adults is:

W Fie W e e wgiRE FHEn & T
3: 2 % 3k 20% wEH am 25% wEhEe
T %, 9 5 e om Toe w@ B

(a) 58% {b} 67.5%

c) 78% (d) 82.5%
The ratio of the number of boys to
that of girls in a school is 4 : 1. If
75% of boys and 709 of the girls
are scholarship-holders, then the
percentage of students who do not
get scholarship is:

wr frem § w=w aw wefEd = 9e
4:1 % ofk 75% WIS T 70% wEREA
Il frewdt &, @ 1) o = viem @
o wrafa <t front 2

(a) 50% (b} 28% (c) 75% (d) 26%

186. A student has to obtain 33% of total

187.

188.

marks to pass. He got 25% of total
marks and failed by 40 marks. The
number of total marks is :

T W H TH T F fau w13 ofF w1 33%
F WA w0 B T R HF W 25% A%
wra E 8 % 40 F @ e 7 9 8,

@ A SAF TR 7
(a) 800 (b} 300
{c) 500 (d) 600

In an examination, 70% of the can-
didates passed in English, 80%
passed in Mathematics and 1(
failed in both the subjects. If 84 ¢
didates pased in both, the tota
number of candidates was :

wr vlar ¥, 70% whwrdt ot %80%

fara ¥ e T &, F s
{a) 125 (b) 200
A candldatc :_-

who gets 32%
¢ than the pass
percentage of

e wher ¥ 20% w® W@
T ol T 30 o | mew @ W@ 2
A g whrE W 32% o W ¥R 2
A HmiF A4 siF AF TR TR T A
Tt % = weem Fn # 7

() 52% (b) 50% () 33% (d} 25%

189.

190.

191.

192,

193, In aff
% failed in Hindi and 42% in English.

194,

In an examination there were 640
boys and 360 girls, 60% of boys and
80% of girls were successful. The
percentage of failure was :

w i ¥ 640 =% aw 360 w=teal
wiwm ¥ & AR 60% @I T 80%
wfedl aFa W ® @ swEa BEl | yiem
A wi

(a) 20% (b} 60%

(c) 30.5% (d) 32.8%

In an examination, 34% failed in
Mathematics and 42% failed in
English. If 20% failed in both the
subjects, the percentage of students
who passed in both subjects was:
wF T W, 34% wfeEnd wfm F [ 429%
sfadmit ofish ¥ omew wR ¥ A 20%
wfranft 3¢ fawat § smew go e 9@ T
yirwm whwrd 2 far o T 2R # 2

(a) 54% (b} 50%

o] 44% (d) 56%

A candidate secured 30% marks in
an examination and failed by 6

marks. Another secured 40% marks

and got 6 marks more than the pass
marks. The maximum marks are:

ﬁmaﬂwqﬂmﬁso%mmgq i
I 6 HAH q FAEA T T a T
40% 3% W gL 3 TE B 6
wra g a1 sfawan o w2
(a) 150 (b} 120
{c) 100 (™

Two students appear

amination. One of tfte
marks more th:
marks were 56‘}’

fistwgher and his

thg'sum of their

_}tmned by them

% ¥, W IR e B
(b) 43,34
(d} 39,30
examination, 52% students

If 17% failed in both the subjects,
hat percentage of students passed
n both the subjects ?

w Thar A 52% Bt 'l F AW 42% om
Al ¥ e woww ¥ Ak 17% v
faeal o srrew € 2, @ et wfo oo 3N

ot % wem gu?
(a) 38% by 33%
ic] 23% (d) 18%

In a group of students, 70% can
speak English and 653% can speak
Hindi. If 27% of the students can
speak none of the the two languages,
then what percent of the group can
speak both the languages ?

ol & wgE ¥ 70% I R sk 65%
o ) dm wd $ioafs 27% o B A
RN 9w W A ww ¥ W e e

ot = et e e 22
(a) 38% {b) 62%
{c} 28% {d) 23%

195.

196.

197,

4

%w

198,

199.

200,
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25% of the candidates who ap-
peared in an examination failed
and only 450 students qualify the
exam. The number of students who
appeared in the examination was:
wF Tha Y 25% W oEtE ® W ¥ sk
a6 450 71 whA T &, O when § @
I w Hewm w4 Hi?

{a) 700 (b} 600

¢} 550 {d) 500

In a school 40% of the students
play football and 50% play cricket.
If 18% of the students neither play
football nor cricket, the percentage
of the students playing both is :

w famem ﬁ40'j%§%ﬁmm50%

B fFFe gel 18% o = ga =
T £, _ i g wew §7
{a) 40° ¢ c) 22% (d) 8%

In a class, %e number of girls is
20% more that of the boys. The
streditth of the class is 66, If 4 more

dre admitted to the class, the

gﬁ;% the number of boys to that
o

e girls is:

Fan o wfFEl Y odew, wgs A 20%
Hfuw #1 wﬁmﬁﬁmmﬁﬁﬂl‘qﬁ
o ¥ 4 wefEal oft an W, @ wER A
wgfnal w1 Wem 1 e[ wm wrw?

@ 1:2 by 3:4

c)1:4 d3:5

In two successive years 100 and 75
students of a school appeared at the
final examination. Respectively
75% and 60% of them passed. The
average rate of pass is:

= foae A 2 Wl § $aw: 100 9 75
A TF W ¥ e e # T A wEe
75% A0 60% BH WEA o4 T, W YwAd
# stoe 7@ w0

(a} 682 o,

= (b) 78%

(c) 30%% (d) 80%

A student has to secure minimum
35% marks to pass in an examina-
tion. If he gets 200 marks and fails
by 10 marks, then the maximum
marks are:

uF T 4 wwa T # A w9 H135%
SF WE = AR 0 200 #F wa e
W = 10 F A smea ® v #, A st
% 3@ T

(a} 300 fh) 400

{c) 500 {d) 600

A candidate who scores 30 percent
fails by 5 marks, while another can-
didate who scores 40 percent marks
gets 10 more marks than minimum
pass marks. The minimum marks
required to pass are:

s Wil # 30% v A TR § sk ww S
SR A G B O ¥, wwfE @ uhwEed w
40% o% T ¥R ¥ o T w9 10
=T wfgs wa 2, 5@ I
@50 {70 (&) 100 (d) 150




201,

202,

203.

204,

205.

In an examination, 65% of the stu-
dents passed in Mathematics, 48%
passed in Physics and 30% passed
in both. How much per cent of stu-

dents failed in both the subjects ?

wF vhen ¥ 65% W1 MR ¥, 48% B
Aot § won 30% oA 6 fawl o wEm B
2, o foed wiwrm om 36 faml § e @/ 2
la] 17% (b} 43% ({c) 13% (d) 47%

72% of the students of a certain
class took Biology and 44% took
Mathematics. If each student took
at least one subject from Biology or
Mathematics and 40 tock both then
the total number of students in the
class is : ™ T W 72% 91
Hia-faam ™ 44% BM TR | WW@ F[
2| ofy v&= B@ 3§ Ha-fEe g e ¥ §
w9 3 9 1% fqea fom w sh 40 o 3
i dsmA@ o ¥ ?
{a) 200 {b) 240

{c) 250 (d) 320

In an examination, 60% of the can-
didates passed in English and 70%

of the candidates passed in Math-
ematics, but 20% failed in both of
these subjects. If 2300 candidates
passed in both the subjects, the

number of candidates who appeared
at the examination was:

wF e ¥ 60% B At ¥ @ 70% o
T ¥ gea T AfF 20% o A e
¥ auwe 9 W A 2500 ¥ AN fawd F
oA T o, @ Thw | ww owrA FowEn
o ?

(a} 3000 (b} 3500

(c} 4000 {d) 5000

In a test a student got 30% marks
and failed by 25 marks. In the same
test another student got 40% marks
and secured 25% marks more than
the essential minimum pass marks.

The maximum pass marks for the

test were :

TF T ¥ TF OF H wxomma@‘"ﬁm(

206.

207.

208.

209,

sttt w7 25 SiF § smrw € WA # I gt ‘%g

§ g T A 40% F W A § i 3R,
FHofE A 25% ot ofirs e ¥ o wlan o
afyFan S+l % w0 97 i

{a) 400
{c) 500
In a village, each of t
lies has a cow;
famjllcs has : Y

hg# How many fami-
lies do "«- & a cow of a buffalo?
w & §, 60% e % 9@ T T 3,
30% ShEml # v\ wE da ¢ A 15%
st & am - T & ooy e ofEn
1 dEm 96 %, @ feat ofEnl % 9w o o
e w ¥a T # 7
@20 (b)24

(¢} 26 (d) 28

14

In an examination, 80% of the boys

passed in English and B85% passed

in Mathematics, while 75% passed

in both. If 45 boys failed in both.The

number of boys who sat for the ex-

amination was:

TF v ¥ 80% wE® FRM § " 85%

a%S Tiw ¥ g% T ¥ TEE75% TS wR
fred § wPe ¥R 1 ARk 45 T A9 A |
see W, o T ¥ g e agd 9 ?

(a} 400 (b) 450

fc) 200 {d} 150

In an examination, 35% of the can-

didates failed in Mathematics and

25% in English. If 10% failed in

both mathematics and English,

then how much percent of candi-

dates passed in both the subjects ?

s vien §, 35% wimErd nfom § 3 25%

iR st o smew w0 ARk 10% wfd
= faeei § sawm R, @ e e whwid
I fawd F wEa @ 7

{a) 50% (b) 55% (¢} 57% {d) 60%

In an examination, a student had -

to obtain 33% of the maximum

marks to pass. He got 125 marks

and failed by 40 marks, The maxiy

mum marks were;

w T § gEd €1 F fm
33% % yrw w0 ¥ T 125 AF
i A 40 W ¥ FEA @ @, A&

¥ afuwom o T A2 5 )
(a) 500 {b} &€
{c) 800 (. 1

For an examinati required

to get 36% of imam marks to
pass, A ‘ud?n otj 113 marks and

#. The maxmium
agkamination are :
) & fort arfasam 5w
g &1 o i 113

{c] 565 (d) 620

A student scored 32% marks in sci-
.ence subjects out of 300. Kow much
“shou]d he score in language papers
out of 200 if he is to get overall 46%
marks?

T 7 W fagm ¥ 300 F ¥ 32% FE W
A, 9w % fawd § 200 H A feow dE
W N B A SEE 4@ e 469% w0
=m ?

(a) 72% (b) 67% (c} 66% (d) 60%

. 90% of the students in school

passed in English, 85% passed in
Mathematics and 150 students
passed in both the subjects. If no
student failed in both the subjects,
find the total number of students.
fae= ¥ 90% Bm s ¥, 85% 7 T
¥ TEa 7 #1150 B Zef faw F wee
= & o W i I < 0 R 9 sEea
- v 2, & oot F W wew =

(a) 120 (b} 220 {c) 200 (d) 300

ks

13

212,

213.

In a college, 40% of the students
were allotted group A, 75% of the
remaining were given group B and
the remaining 12 students were
given group C . Then the number of
students who applied for the group is:
T e T 40% o F W A T T,
B ® 75% B B wE B § @ T
ok vw 12 = it wE C W @ T, d@ 5=
fom o 4 T @ R o fea
(@) 100 (b) 60  [c) 80 (d) 92
The ratio of the number of boys and
girls in a school is 2 : 3. If 25% of
the boys and 30% of the girls are
scholarship holders, the percetange
of the school stfdents who are not
scholarshlp holders is :

FEEA F WA 2 :

AW 0% WEHA i
Bty FE T AR o

- %

ib) 36%
(@H:54% d) 60%
214,~in » annual examination Ankita

z’w :"& .%’”#

215.

216.

217.
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10% less marks than Eakta in

% hematics. Ankita got 81 marks.
e

marks of Eakta are:
=i v f oifra = nom § TE@ F 0%
w9 wra T AR s w31 E e ow
A wEa F fead i W gu?
(290 (b)87 {c) B8 id) 89
In an examination, 19% students
fail in Mathematics and 10% stu-
dents fail in English. If 7% of all
students fail in both subjects, then
the percentage of students passed
in both subjects is:
uF i ¥, 190% I 1R & T 10% o/
SRl F s w IR §) Ak o o B 7%
o = fawl 4 omew ® WM 2, @ fee
wfevm B 3R fawl § T @ ?
{a}) 36% of all students
(b} 64% of all students
(c} 71% of all students
(d) 78% of all students
In an examination, a student must
get 36% marks to pass. A student
who gets 190 marks failed by 35
marks The total marks in that
examination is:
= a4 U W W owea i F
36% IF W & B F 190 3F 7AW
st 7% 35 s & sawA B T A v W
e oF 70
{a) 625 (b) 450 {c) 500 (d) 810
The ratic of the number of boys to
that of girls in a village is 3 : 2. If
30% of boys and 70% of girls ap-
peared in an examination, the ra-
tio of the number of students, ap-
peared in the examination te that
not appeared in the same examina-
tion is
wF T Y wed 3 wehed W e s 2 B
W 30% TEH o 70% wEtw uF vhan F
it 2 &, @ vl 3 =9 s R A a ety
TH W W@ vl ® AR | w2
(@ 1:1 (b) 27 : 23
c) 9: 14 (d) 23 : 27




218. In an examination there are three

219,

220.

221.

222,

223.

subjects of 100 marks each. A stu-
dent scores 60% in the first sub-
ject and 80% in the second sub-
ject. He scored 70% in aggregate.
His percentage of marks in the third
subject is

o= vl § a0 e € i e @ st
#F 100 4 1F 2m wed fawm § 60%
Tt fam § 80% % Tw w@ A g
70% % wa TR &, @ dw fm d =
fem vfewm % WA g ?

(a) 80 (b} 60 c) 65 (d) 70
A person gave 20% of his income
to his elder son, 30% of the remain-
ing to the younger son and 10% of
the balance, he donted to a trust. He
is left with ¥ 10080. His income was;
wF R S am w 20% 3¢ % w,
A T 30% B 92 F AW ¥ ok v i w
10% wF 7= # T & I ¥ T TH o
210080 ¥ #, 3 Te# 2m ¥ &2

(a) T 50000 (b) T 40000

{c) T 30000 (d) T 20000

Ram spends 40% of his salary on
food, 20% on house rent, 10% on
entertainment and 10% on convey-
ance, If his savings at the end of a
month are T 1500, then his salary
per month (in T ) is :
WWWWW/OWW,QOO/OW‘:*
o W, 10% T W 3R 10% FwEram
w e T & oA W @ o A T TR
21500 %, @ ST wieE 9 fEaa R 2
{a) T 8000 (b} T 7500

() T 6000 {d T 10000

Out of 2500 people, Only 60% have
the saving habit. If 30% save with
bank, 32% with post office and the
rest with shares, the number of
sharecholders are :
2500 ®F % & Fam 60% W T =@
ofy 30% @m ¥ W, 32% @ o=E WA

=t vem & ¥ ?
{a) 450
{c) 950

(b} 570
(d) 1250

Bhuvnesh spends 30% of his sal- -

ary on food and donates 3%in a
Charitable Trust. I-Te anends 4
2,310 on these two itents, then to-
tal salary for that month'is:

qEn S I W 30%, e W 3 3%
m W oed wad o d TRE W
72310 W m% B 57w wiew S
fawrn #2 %

{a) T 6,000°, ° g (byz 8,000

() T 9,000 * . {d) T 7,000

A man had a certain amount with
him. He spent 20% of that to buy
an article and 5% of the remaining
on transport. Then he gifted T 120,
If he is left with T 1,400, the amount
he spent on transport is:

™ AfE TR RS F R A W E W
20% UF IR GiEA W @4 F@ ¥, T W
F1 5% TEEA T T T a3 T120
Fugn ¥ 2 fam, afg 999 9w T1400 ¥v w4
7, A T awew W fRE e ad feu?
{a} T 76 (b) T 61

) T 95 {d) T 80

224, In a big garden 60% of the trees are

225,

226.

227,

coconut trees. 25% of the number
of coconut trees are mango trees
and 20% of the number of mango
trees are apple trees, If the number
of apple trees in the garden is 1440
then find the total number of trees
in the garden:

o B¢ Wi 60% 93 ThEw # &) Fiem
%ﬂgTaﬁma}zS%ﬁm%ﬂs%ﬁ!
o R v # e #20% g WM
oz T@ & 4 F Fem 1440 &, A T §

e feas Wy #2

{a} 48000 {b] 50000

(¢} 51000 (d) 45000

Out of his total income, Mr. Kapur

spends 20% on house rent and 70%
of the rest on house- hold ex-
penses. If he saves ¥ 1,800 what is
his total income {in rupees) ?

ﬁwmajﬁmmm%m%ﬁm‘imﬁ?‘ 1
T A W 70% T &= maém%ﬁﬁ 231.A man spends 125

T T 1800 T ¥, ﬂmﬂmmﬁl
{a) T 7,800 (b) T 7,000 %
{e) T 8,000 (d}'T Fup0O0
Bhuvnesh spends 75%1 his in-
come and saves the, r&t His in-
come is increased ' % and he
increases his exfndittire by 10%.
Then the.increade in savings [in
percentage}’ls Had

el AT Ao EI5% WY FE@ & am I
uﬁ!uﬁmw%lmamm%azwﬁ
ST e o 0% T B, @ IR
w i ﬁ*’&ﬁ?ﬁ + 3fz €7

{ay ”«":0% “(b) 52% (¢} 45% (d) 48%
Mr. 75 -spends 35% of his salary on

# food” and 5% of his salary on
A M A W Y = w2, A SRl iy, -children’s education. In January

228.

i ’*'Sq?Oll he spent T 17,600 on these two

items. His salary for that month is:

g, X A % T 35% WeE W oan 5%

=i = fom = wE wW@ # owEd 2011
I2E T A T A 17,600 v = R, @
IH T T A Fm oo ?

() T 40,000 (b} T 44,000

{c) T 48,000 {d) ¥ 46,000

A man gives 50% of his money to
his son and 30% to his daughter.
80% of the rest is donated to a trust.
If he is left with 16,000 now, how
much moeney did he have in the be-
ginning?

T =i AT 4T w1 50% T AT T W
aﬁ\'tao% win s i A b e ol
80% M fell 7 W 2 o 9w AR
0 =@ % W T 16,000 7 o, 9 3o
I Wed ¥ o Afy ot
{a) T 4,00,000 {b} T 40,000
(c) T 90,000 (d) T 80,000

229.

230

o

%..;

232,

233.
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8% of the voters in an election did
not cast their votes. In this elec-
tion, there were only tweo candi-
dates. The winner by obtaining
48% of the total votes, defeated his
contestant by 1100 votes. The total
nurnber of voters in the election was:
w I § 8% WA ¥ WA T s W
T H e 2 TEiER ) fe #® e e
F 48% WA T 7 364 1100 5 ¥ fasm
wE A g N e e R 92
{a) 21000 {b) 23500
ic} 22000 {d) 27500
In an election between twe candi-
dates, 75% of the voters cast their
votes, out. offgwlﬁ';h 2% wvotes were
declaresi invalid. *A candidate got
9261 vVatesgwhich were 75% of the
valid votes. THe total number of vot-
ers enrolléd“in that election was:

wF TR % Iuhean #175% w1 6
3}5 e §2% A s e = i g

; o IEiTER W 9261 d il W dw AR |
L79% , & 9T 4 w0 fee v §2

t&) 16000
w(e) 16800

(b} 16400
(d) 18000

% of his salary

on item of daily use and 30% of the
remainder on house rent. After that
he is left with ¥ 2940. How much
is his salary ?

T | A A W 12 % i SwEm

F ol w owd F@ ¥ @?R W &\ W
30% W % 5 W @ P ¢, W W
TE T 72040 I3 &, @ T9H A w2
(a) T 4800 (b} T 5200

(c) T 4500 (d) T 4000

In an election between two candi-
dates, the candidate getting 60% of
the votes polled, is elected by a ma-
jority of 14,000 votes. The number
of votes obtained by the winning
candidates is

= T W 3 soiem )t i W
@ W W 60% dr frean €, w8 14000
dqef & wEwa | < A 2 A i 9=
IofEn. i f&m ae wa g

(a} 28,000 (b) 32,000

(c} 42,000 (d) 46,000

A man spends 40% of his monthly
salary on food and one-third of the
remaining on transport. If he saves
T 4,500 per month which is equal
to half the balance after spending
on food and transport, his monthly
salary is :

s Afm e TfeE s W 40% e W
M I T TE-fer maem s W A
7fz Tx T 4500 HFEF T9wn &, S Aoe an
qAAA R @ & W S E s 2, A seE
it & T F
(a) T 11,250

(¢} T 25,000

(b T 22,500
(d) T 45,000




234. In an election there were only two
candidates. One of the candidates
secured 40% of votes and is de-
feated by the other candidate by 298
votes. The total number of votes
polled is:

TF TTE H A A IEa #1 o IeimEan
H 40% T R ol W Twt weieamr @
298 @r ¥ TR T, A TE o %w fw A
= My

{a) 745 {b) 1460

{c) 1490 (d} 1500

In an assembly election, a candi-
date got 55% of the total valid votes.
2% of the total votes were declared
invalid. If the total number of vot-
ers is 104000, then the number of
valid votes polled in favour of the
candidate is :

F A B R ¥ o s = dy g
+ 55% dtz il T W = 2% @ ardy
Hfm = ™ AR v W 5w wen
104000 ¥, @ f&rY &9 @R sofitar =
et ?

(a) 56506 (b) 536650

(¢} 56560 (d) 56056

Two candidates contested in an
election, One got 60% of the votes
and won by 1600 votes. What is the
number of votes polled ?

W THiTAR % TE v #) @ IR @
60% dr fmt AR T 1600 9 § g T,
o w7 fF A =@ 2

{a) 9000 {(b) 8000

{c) 10000 (d} 7500

In an election, there are three can-
didates contested. The first candi-
dates got 40% votes and the sec-
ond got 36% votes. If total number
of votes polled were 36000, find the
number of votes got by the 3™ can-
didate,

TF 9 ¥ 1 IoiTan #1 v wiar @
40% dz fm @ gEt IofimEr W 36%
e fadh A 59 36000 = £, @ W
THflEr F R s w2
(a}) 8040 (b} 8640
(c} 9360 {d) 9640

235,

236.

237.

238.
maj of
be; of gota]

?ﬁnﬁﬂaﬁ
6 AT W

239, ;

gets 84% ofithe votes is elected by
a majority of 476 votes. What is the
total number of votes polled 7

TF & ¥ 7% Ioiean W 84% Fe foem 2
R 7w 476 R A e I 2, @ TAA 5
far dz TR T
(a} 900 (b) 810

{c) 600 (d) 700

Two persons contested an electw‘hA
of Parliament. The winning candi- e
date secured 57% of the to
polled and won by
42,000 votes. The n
votes polled is:

votes

240. At an election there were two can-

didates. A candidate got 38% of
votes and lost by 7200 votes. The
total number of valid votes were:
w T ¥ 3 Infiwar 41 w suimEn w0
38% @z ww gy s T 7200 9 ¥ ¥R
™, g ¥ AR B I wen w4 7

{a} 13000 {b} 13800

{c) 16200 {d) 30000

Type F
A district has 64000 inhabitants.
If the population increases at the

241.

1
rate of 25% per annum, the num-

ber of inhabitants at the end of 3
years will be:

TF firt § 64000 fra 4 A omem

-y 2~ afw F, A3 o P e A
s o ﬁﬁﬁ famh
{a) 70000 {b) 69200
(c) 68921 (dy 68911
242,

every year by 10% of its vathe

the beginning of the y«
present value of the propert
8100. What was its value 2 yes

ago ? A
wwﬁlwqamaﬁ;
#( oz dafs = wdE e N

a#vsﬁ#qﬁlwmm

a) ¥ 100 '{ Hﬁ'( J » 100
m\%;;x 8100 (4y ¥ 9801

243. Thé pulat:on of a village has in-
€, creased annually at the rate of 25%.

mﬁm
LA )

4% NH at the end of 3 years it is 10,000,

the population in the beginning of
ithe first year was:
*@nﬁa‘rmuﬁaﬁzs%ﬁa{ﬂ
o b ARk 3 3 @ @ F M3 W e
10,000 A w v % yeaw 6 oy
e e o?

fa) 5120 {b) 5000

{(c) 4900 {d) 4500
The population of a town 2 years
ago was 62,5300. Due to migration
to big cities, it decreases every year
at the rate of 4%. The present popu-
lation of the town is :
2 T T U WR B TS 62,500 ol
T I F 9 i F A R e
4% % W R il ¥ A e @ adom

244,

TEEN fw 31
{a) 57,600 {b) 56,700
(€) 76,000 {d) 75,000
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The value of a property deprecmtegek

245. The population of a town increases
every year by 4%, If population was
5,0000 in starting , then after 2
years it will be :

T W H FEen yfed 4% 7@ ) ai
artw W W ¥ wEE 5,0000 of, 6 2
T R W F VG = e

(a) 53,900 {b) 54,000
(c) 54,080 (d) 54,900

246. The value of a commodity depreci-
ates 10% annually. I it was pur-
chased 3 years age and its present
value is ¥ 5,832, What was its pur-
chase price ?
T a5 F T 10% 9= #1 afs =g
3 = mﬁ @a‘t TN TEE TNE g
5832 wUg, | e v o =i
(a) T 720H (b) T 7862
(c) T 800Q J/ {d) T 8500

247. A *ived ¥ 8,80,000 as his

! | salary of the year 2007
. hEﬁ was 10% more than his an-
£ salary in 2006.His annual sal-
g‘?‘ in the year 2006 was:
g; =i #2007 ¥ AifF dm T8,80,000
¥, 9 2006 ¥ THR AfE A 10% afy
F o, @ 2006 ¥ TWH AR w=W o
{a} T 4,80,000 (b) T 8,00,000
€} T 4,00,000 (d) T 8,40,000
248, The value of an equipment depreci-
ates by 20% each year. How much
less will the value of the equipment
be after 3 years ?
et st @ g wfvrd 20% wewm ¥ G 3
¢ % @ 39 9 | G feaw A w2
(a) 48.8% () 51.2%
{c) 54% (d) 60%
Present pepulation of a v1]lage is
67600, It has been increasing an-
nually at the rate of 4%. What was
the population of the village two
years ago 7
F i F S e 67600 1 i
R TEAVR I T D G wd
Tl F wEn = oo 2
(a) 62500 ) 63000
(c}) 64756 (d) 65200
The value of a property decreases
every year at the rate of 5%, If its
present value is ¥ 4,11,540, what
was its value 3 years ago ?
ot wofr = 9o whEd 5% @ ¥ e
% aff TR wOR g 4,11,540 F T
a9 o WA wolw = g e w2
(a) T 4,50,000 (b} T 4,60,000
() T 4,75,000  (d} T 4,80,000
251.The value of a machine depreciates
by 5% every year. If its present
value is T 2,00,000, its value after
2 years will be:
TF W wm gem wfiEd 5% W= #) a
e W FEAE gEe T2,00,000 #, @ 2 9
F W W 1 e T Em?
fa) T 1,80,500 (b} T 1,99,000
{c) T 1,80,000 {d) T 2,10,000

249,

250.




and its annual increase is 10%,
then its population at the end of 3
years will be :

% vF T H WEET 64,000 ¥ It TE
10% whmEd st ®, 9t 3 o % 9% MR =
FAHEA T T
{a) 80000

(c} 83000

(b} 85184
(d} 85100

253, The population of a village decreases

at the rate of 20% per annum. If its
population 2 years ago was 10,000,
the present population is
@ Wa F wEEm W 20% T AR
oo w®S wa #} FEen 10,000 o, @
wéAr sAEe ¥ 8
(a} 4600
{c) 7600

(b) 6400
{d} 6000

254, A clerk received an annual salary of

T 3,660 in the year 1975. This was
20% more than his salary in 1974.
What was his salary in 1974 ?

1975 § ©F waE W ofiw ¥ 3660 T

252, If the population of a town is 64000 259 Raman'’s salary is increased by 5%

this year. If his present salary is ¥
1,806, the last year’s salary was
Mmoo T F A A 5% F oagied g ok
o T 9 T 1,806 #, @ fea =
o 4 fam w7
(a) T 1720

{c) T 1520

(th T 1620
id) T 1801

260.The strength of a school increases

and decreases in every alternaie year by
10P%. It started with increase in 2000,
then the strength of the school in 2003
as compared to that in 2000 was:

w feE ¥ @ m 10% o g 9
T A 10% o/ w2 9R ¥ iR T Fw
wa 2,z &4 2000 § ol = dem § of
@, o 2003 ¥ BEi W Hew 2000
T 4 3z T FR | weww @ w2

{a) increased by 8.9%

(b) decreased by 8.9%

{c} increased by 9.8%

(d} decreased by 9.8%

o1 TE ¥ 1974 F Wik 4 A 20% Afww 261.The pouplation of a town increases

o, 9 1974 9 IR 9 TR on?
() T 3,005 (b) T 3,000
() T 3,500 {d) T 3,050

255,The enhanced salary of a man be-

comes T 24,000 after 20% incre-
ment. His previous salary was:
20% W 95 ¥ TR UF AR B FA 24,000
=7 B w2, A S faen 9 T w
(@) T 2,0000 {b) T 21,000

(©) T 16,000 (d} T 18,000

256.The value of a machine is T 6,250.

It decreases by 10% during the first
year, 20% during the second year
and 30% during the third year.
What will be the value of the ma-
chine after 3 years ?

wF Wi = gem T 6250 & e 7 4
T 10% TR o § 20% wp dmt =l o
30% W@ ¥, A 3 9 % R Wi w0
T ?

each year by 4% of its total at the
beginning of the year. If the popu-
lation on 1* january 2001&\»

500000, what was it on 13 Jang- 1

ary, 2004 ?
wF YT ween At am W

S 50,0000 o, d Wb
AR B'T‘ﬁ ? L, i

(a) 562432 (
(c} 465223 -”E?d]- 4232
262.The populdjioy di/a yillage increase

iy . s present popu-
hen its population

(h) 4000

(a) 7 2,650 {b) T 3,050 i(c) 3800 ‘ (d) 3500‘
() ¥ 3,150 {d) ¥ 3,510 26 e population of a town increases
: ; y 5% every year. If the present

957.The value of a machine depreciate! '
every year by 10%. If its present §/
value is T 50,000 then the valpe of 7

the machine after 2 years i :
Wi g vied v%:f:
W 4N

pulation is 9261. the population
3 years ago was
T WEU F wem v 5% @t 3 A
o wen 9261 2, @ 3 9 T I

o w97 T 50,0080, wEen ¥ o

TE YA O R (a) 5700 {b) 6000

(a) T 40,050 7 43,000 {c) 7500 (d) 8000

{c) T 40,005 B 40,500 264.The income of a company increases

20% per annum. If its income is ¥
26,64,000 in the year 2012. Then
its income in the year 2010 was:
o ®F F A 20% W o A W=
oft et s = 2012 ¥ T 26,64,000
ot & =f 2010 ¥ feed off?

(@ T 21,20,000

(b) T 18,50,000

{c} T 28,20,000

(d} T 28,55,000

258.The value of a|¥ya e depreciates
every yedipgt thelgate of 10% on its
value at the Wgkifning of that year.
If the curreit Value of the machine
is T 729, its Worth 3 years ago was :

o WA F g Wi 10% F W R wm

3 ofz wiR T WA g T 720 %, 4 3

of e wEfR W ogE W oW ?

{a) T 1000 (b) T 750.87

©) T 947.10 (d) T 800

Type H

265.In an alloy, there is 12% of copper,

to get 69 kg of copper, how much
alloy will be required ?

uw fasug § 12% d §, @ 69 fem dta
o % fou fegd faawg #t wew et ?
(a) 424 kg {b} 575 kg

(©) 828 kg (b) 17363 kg

266.40 litres of a mixture of milk and

water contains 10% of water, the
water to be added, to make the wa-
ter content QO%Pin the new mix-
ture is :

1]

"Nt & e F 10%

i #3 _ SR fer S
e T oAl § Wt B T 20% ® WM ?
{a) 6 litreswy (b} 6.5 litres

litre id) 5 litres

(). 5.

AgS e of 50 litres of glycerine is

d to be adulterated to the ex-
of 20%. How much pure glyc-
e should be added to it so as to

£ R
%}bﬁng down the percentage of impu-

rity to 5% ?

50 ¢fie Tt ® wF o= H 20% frame
%, 3 foe g Friret v s femn 9
i foome %1 'R 5% & M2

{a) 155 litres by 150 litres

(c} 150.4 litres  (d) 140 litres

268.Fresh fruit contains 68% water and

dry fruit contains 20% water. How
much dry fruit can be obtained from
100 kgs of fresh fruits ?

™ FA J 68% T # A g@ v | 20%
T &, A 100 fran. TR vl ¥ fra feea

W T frer W v §7
{a) 32 kgs (b} 40 kgs
(c) 52 kes (d) 80 kes

269.1 litre of water is added to 5 litres of

270.
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alcohol-water solution containing
40% alcohol strength. The strength
of aleohol in the new soultion will be:
5w, * AeFEE-TE Ao § 40% seERE
& rod | o wr frern s @ T faem
¥ orewies W WReE F W ?

(a) 30% {b) 33%

2 1
(c) 3373—% (d) 333%

200 litres of a mixture contains 15%
water and the rest is milk. The
amount of milk that must be added
so that the resulting mixture con-
tains 87.5% milk is:

200 . & v foawm § 15% T T ¥ {9
#1 19 fasm o frow gy fra W fE T
fosmor § 87.5% WA ?

(a) 30 litres {b) 35 litres

{c) 40 litres (d) 45 litres




271. In what ratio must a mixture of 30%
alcohol strength be mixed with that
of 50% alcohol strength so as to get
a mixture of 45% alcohol strength ?
30% FehEad a5 T fasm w509 smwee
TR & A ¥ fFR wwm ¥ feema W
W fRAW § 45% seweE B ?

@1:2 m1:3
() 2:1 id3:1

272. The ratio in which two sugar solu-
tions of the concentrations 15%
and 40% are to be mixed to get a
solution of concentration 30% is
7 HF # ol fal Fue: 15% a9 40%
St 2, F fFO om o foaan W fE A
fasor 9 30% <Ft @ 2
f@2:3 b} 3:2
(c}8:9 d9o:8

273. A vessel has 60 litres of solution of

acid and water having 80% acid.

How much water be added to make

it a soultion in which acid will be

60%?

™ ¥ uEE T owE E 60 @, frmm @

fomi 80% weie & w fee W fremn

wm 5 & s § 60% iz & 2

(a) 48 litres {b) 20 litres

[c) 36 litres {d} None of these

75 gm of sugar scolution has 30%

sugar in it. Then the quantity of

sugar that should be added to the
solution to make the quantity of the
sugar 70% in the solution is :

75TM % SFft # uW F 30% = @ W@

we ¥ fEr S Teh o & W e |

70% W o ?

(a) 125gm (b) 100 gm

{c) 120 gm (d) 130 gm

How much water must be added to

100 ml of 80 percent solution of

boric acid to reduce it to a 50 per-

cent solution ?

100 fasi & fsm & 80% wfer wis 2,

274.

275.

mmmﬂmmhfuwj

50% dife e ® w2 4
{a) 30 ml {b) 40 mi

{¢} 530 ml (dy 60 ml

In one litre of a mixture of alcohol
and water, water is 30%@“The
amount of alcohol tft.al .must be
added to the mixture so that‘the part
of water in the mu:ture becomes
15% is :
1@ aﬁlﬁm
o 31w s
& fagm Qi@%i
(a) 1000 %4 * (b) 700 ml

(c) 300 ml ‘L {d) 900 ml

One type of liquid contains 20%
water and the second type of liquid
contains 35% of water. A glass is
filled with 10 part of first liquid and
4 parts of second liquid. The water
in the new mixture in the glass is:

276.

ﬁ‘%f‘nwﬁw%
mmm

# a2

277.

({;_

et fasor § 205 9F ¥ qen gEt fasor F 35%
R &) W e 5 10 S TEen fasw & qen 4
om T fhaw €, @ =W S T fasgw F fee

yfowa o #2
{a) 37% (b) 46%

1 2
] 127% d 24?%

278. 15 litres of a mixture contains alco-
hol and water in the ratio 1 : 4, If 3
litres of Water is mixed in it, the
percentage of alochol in the new
mixture will be:

15 d 3 fosm o aewEw aw TA W
FIUA 14 1 TfE 3 W o wE fren fem
e F A fawm A sEERS 1 vEve | oEm

2
(a] 15% (b} 1 63 %

1
c} 17% Q) 185%

279.In what ratio must 25% of alcohol be
mixed with 50% of alcohol to get a
mixture of 40% strength alcohol ?
25% JTHIEA 9t NN F, 0% FEHEA A
fag & fom o § foemrd ww e fqem

b 40% :ﬂﬁﬂm &?
@l: h) 2:
(c) 2 3 d) 3: 2 B,

280. 20 litres of a mixture contains 20%":.'

alcohol and the rest is water. if 4
litres of water be mixed in it, the
percentage of alcoh@d ” 1n the new
mixture will be:

20 . awhmnzo%mﬁmm
i Tk 4 o o), T e o o A
T fism ﬁ sma’lza L srﬂrw i H ?

.\'\

{a) 33l ;Dh () 16% (]

«ec) :!5%

281 The’ peroentage of metals in a mine
of Iedad ore is 60%. Now the per-

1
12-%
@ 3

- 3
7. centage of silver is 3 % of metals

‘and the rest is lead. If the mass of

i  ~ore extracted from this mine is 8000

kg, the mass (in kg.) of lead is:
¥ 3EF @ TE E@H Y 60% 9g 196 =

mmu@aﬂ%%iaﬂzﬂu?ﬁmiluﬁ:

=@H ¥ 8000 M. awwF FEm T E, a@
e fem fm. witm grm?
(a) 4763 (b} 4764
{c) 4762 {d) 4761

282.300 grams of sugar solution has 40%
of sugar in it. How much sugar
should be added to make it 50% in
the solution?
300 7w <F # W ¥ 40% < &
fierit =it st femé I erfee fore = 5w
ul@ & 50% B w7
(a) 10 gms /7w
ic) 40 gms/7m

(b) 60 gms/mm
(d) BO gms/mw

Wizard of Maths - Rakesh Yadav Sir

283, In 2 kg mixture of copper and alu-
minium, 30% is copper. How much
aluminium powder should be added
to the mixture so that the quantity of
copper becomes 20%7
& ofn wgifem %2 fem, fasm A 30%
#1 7 foam ¥ forn TgfRfEm TR SR frr
o e el o A 20% B W
(a) 900 gms {b) 800 gms
(¢} 1000 gms {d) 1200 gms
I

Due to an increase of 50% in the
price of eggs, 4 eggs less are avail-
able for ¥ 24, The present rate of
eggs per dozen is :
%2 % 3 A S0pIfE B w224 ¥ 4
2 wu fimet, %‘Jﬁl T AR T o
U 3R A
@ T 24 (b © 36 (d)T 42
Due to™ crease of 20% in the
price of e;g 2 eggs less are avail-
ablg. for ¥%24. The present rate of

s per dozen is :

g wim F 209 B AfE B T 24 F
s {R2 wmfem b oA v wE W W

284.

285.

A
5 Lo gm o 2

% ) Rs. 25.00 (b} Rs. 26.20
i % (¢} Rs. 27.80 {d) Rs. 28.80

Qﬁﬁ If a man receives on one-fourth of
his capital 3% interest, on two
third 5% and on the remammg
11%, the percentage interest he re-
ceives on the whole is:

1
wwﬁaaﬂmz W A W 3% =M,

2
3 I W 5% W|E T W 9 W 11%

= frem &, @ oW R oS og@ e
wfteR =T WE gan?
(a) 4.5% (b) 5% (¢} 5.5% (d) 5.2%
287.A reduction in the price of apples
enables a person te purchase 3
apples for T 1 instead of T 1.25. What
is the % of reduction in price ?
W% g & P w uw =t T 1.25
Hada st IR T 1 A 39 =ik 790 &1
A % # ol fec whER A w2
{a} 20% {b) 25%
(c) 30% @ 335%
Type J
288.The expenses on rice, fish and oil
of a family are in the ratio 12 : 17 ;
3. The price of these articles are
increased by 20%, 30% and 50%
respectively. The total expenses of
La.mily on these articles are increased
A
TF WRER ¥ wwe, weeh w9 W wd W
M 12 : 17 : 3 % A g # g
FH: 20%, 30% F0 50% ¥} W, @ T
A R I ' 4 R viem T oall

T =y
@) 1410 {b) 71%
8 B
ic) 28%% (d) None of these




289. The bus fare and train fare of a
place from Kolkata were ¥ 20 and ¥
30 respectively. Train fare has been
increased by 20% and the bus fare
has been increased by 10%. The ra-
tio of new train fare to new bus fare
is:

Femm | 5 A % fau wm T qu 3
fRrm wum: 320 aw 330 1 [ fFm A
20% # T wm fFUd ¥ 10% ¥ gfE @
w/ &, @ ™ 3 e A W@ e =

(@) 44% (L) 34% (¢} 54% (d) 64%
FE ;| FL? 206. In a town, the population was 8000,
{a) 11: 18 {b) 18 : 11 In one year, male population in-
©5:3 {d)a:5 creased by 10% and female popula-

290. Ram’s expenditure and savings are tion increased by 8% but the total
in the ratio 5 : 3. If his income Popublatnoofn r;:lcregs.:ﬁ by 9%. The
increases by 12% and expenditure number ales in the town was :
by 15%, then by how much percent T e W e 8000 ot T H el
does his savings increase ? 1 WEm 10% w0 “fﬁ"ﬁ 1 qE 8% |
™R w A T W g W 5 3 # Ak m%ﬂm@mg%mﬂ,eﬁm
W T 12% % 9E 2, o =md 15% ¥ ged W wen et ?

o R ¢ @ IuE T e v w3 ? m;ggg E;]]Zggg
? ] -
() 12% () 7% (o} 8% (d)} 13% 297, The sum of the numbers of boys and

291. The ratio of two r_mmbers is 4 : 35, girls in a school is 150. If the num-
when the first is increased by 20% ber of boys is x, the number of girls
and the second is decreased by becomes x% of the total number og&‘
20% , then the ratio of the result- students. The number of boys®is .
ing numbers is: wF frwer § g% agfEd m@nléﬁl i
Zt Feed ® A 4 : 5 ¥ v e s %luﬁmaﬂm:cﬂﬁﬁ
200 ¥gE W & A0 g wEm 20% werd mmmmaﬁaﬁmw)@%
wrt 3, 7 IR T SR PAOEW 2 W &, @ R ¥ A Sy
@4:5 (b)5: 4 @o0 M75 (RS 60
{C] 5:6 ‘d} 6:5 298, If the sales tax on a_&_l I.Dﬂ set in-

’ T T

292 A man spends 75% of e B6OmE cxgpes o 73545 9, what
increased his expenditure by 15%. His amount wil l;av"& to,’be paid for the
savings will then be increased by: television &hgse ‘prlce {exculding
w wfE ATt sm oW 75% ' wm ¥ sales taxes ) i 19000 ?

T 9 20% W@ 9 WE # o ww am &

: w R W= 7—0/ |
w3 15% ¥ 7% T, D v v A fw &"’Ti" ¢
et yhmm = ofe T ? %wﬁmm%?ﬁlg{mﬂﬁé

(faFt W afem) @ fom fooht
1 el i T B 2
0 33-% *
(@) 33% (b =557 e T 190 (b T 95
fc) 35% (d} 40% % 9, :}f( 11:80 ller had s 92 H

293. A man spends 75% of his incom&y ruit seller had some appies. t'e
His inc OE:? incr ea;es by 20% and% ; #ells 40% apples and still has 420
his expenditure also increasgs by ¥ applesﬁoi rlg;nally, h;al%ad 0%
10%. The percentage of mé%gses = T T w3 | 7& 40%
in his savings is: A ¥ 2 ¢ fir ot 39 TW 420 T R
w wfE o T # 75 # e mEa R AT g ?

TR @ ¥ 20% A w {a} 588 apples (b) 600 apples
- ; {c) 672 apples {d) 700 apples
10% %@ TR, 300. If the monthly salary of a fan em-
s = o oY )
. 3
(@) 40% (b 3 o 0% (d) 25% ployee is increased by 22%, he

294, If the se in the popu- 3
lation of be 4% and the gets 72 rupees more. His monthly
present pop on be 17576, what salary (in rupees) is:

was it three fFears ago?

af @ W 3 we wEen 17576
s 9% 4% ofts = | =3 B @ 3 5w
T B ST 7@ FY

{a) 15675 {b) 15625

(c) 15624 (d) 15728

Miscellaneous
295. A student multiplied a number by

3 5
ginstead of 3 .What is the per-

centage error in the calculation ?

tﬁmqﬂimaﬂ - FWRH — ﬂuﬂlm

2, mmﬁfwﬁuﬁmaﬁaﬁzm

afz v T8 % FHEOR W AW 2%% £

o o ¥ @ = 72 W i wa wW
& Tww wfEE Y e T # 2
(a) T 7200 by T 3600
() T 2700 (d) T 2000
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301. If the total monthly income of 16
persons is ¥ 80,800 and the in-
come of one of them is 120% of
the average income, then his in-
come is:
ofz 16 =afwml F1 FA AFEF 9R 180,800
$ at v 4w R A, s A W
120% %, A ==t s e § 2
{a} T 5,050 (bl T 6,060
(c) T 6,160 (d) T 6,600

1
302. A spider climbed 625% of the

height of the pole in one hour and
in the next h.our it covered

« i

12 % qmgh%remammg height. If

p01es is %02 m, then the dis-
tance climed In second hour is
.

#@nﬁﬁwn‘m% 62— %'aa*'ﬂ'r{
aﬂ%ﬁ‘(mﬁﬂéﬁaﬁ'mmm

‘\( w_% == o ¥ Ak g w192

..3 ﬂi,a’l@iu’éﬁi@ﬂéﬁrﬁmﬂﬂﬁﬂ’
a3 m {b) 5 m
(c) 7m (d 9m

303.An individual pays 30% income tax.
On this tax he has to pay a sur-
charge of 10%. Thus , the net tax
rate, he has to pay is
wF R 30% W% ¥ qEA T 8 W W
o 3 10% afifer wfeR 3 e E 9 5
wim) # ww
(a) 45% (b) 40% () 33% d) 27%
304. A batsman scored 110 runs which
included 3 boundaries and 8 sixes.
What per cent of his total score, did
he make by running between the
wickets ?
w T 3 110 @ w0 fd 3 9w
8 vas witm &, @ IW F@ w et
W = e T m?

5
(a) 45% (bl 453%

6
(c) 54ﬁ% (d)y 55%

305. If the humerator of a fraction is in-
creased by 20% and the denomina-
tor is decreased by 5%, the value of

5
the new fraction becomes 7 The

original fraction is:
afz feth fa= = 3w 20% @ fm A A

T 5% " Tea = ,?ﬁfﬂﬁ%ﬂwﬁ%.?ﬂ
et fa= T &2

g5
© 35 W g5

24 3
@ g ®) 18




306.

An interval of 3 hours 40 minutes
is wrongly estimated as 3 hours
45.5 minutes. The error percent-
age is:

3 ¢ 40 fre & ©F a0 B R 43R
45.5 e 7 formn o, & vfew 9@ T ¥
{a) 5.5% {b) 5.2%

ic) 5% (d} 2.5%

307. The ratio of the number of boys and

308.

300.

310.

.Aa.ndBa.re

girls in a school is 3 : 2. If 20% of
the boys and 30% of the girls are
scholarship holders, then the per-
centage of students who do not get
scholarship is

@ feier | eyad s iRl o o 3
2 #1 3k 20% wEF M 30% wEtHA F
orgfa faedt 3, @ foe wfm ool =
gt a6t foerd?

(a] 50% {b) 72% (c) 75% (d) 76%
If the income tax is increased by
19%, the net income is reduced by
1%, The rate of income tax is:

o s H 19% # 9z T # o geeh
3 9w wfhvm w) ai e 1 e W
M F?

{a) 6% (b} 4%

c) 5% @ 7.2%

The population of a village was
9800. In a year with the increase
in population of males by 8% and
that of females by 5%, the popula-
tion of the village became 10458,
What was the number of males in
the village before increase ?
qmnhaﬁmgsoozﬁlqmaﬁﬁw
&1 HWew 8% wen wfewal ¥ Wew § 5% 3
g5 wt # 5 e = weEm 10458 & wE
ia’tqﬁ#'ﬁfﬂhﬁgﬂ’fﬂﬂ#@nm&ﬂ?
{a) 4200 (b} 4410

(c) 5600 (d) 6048

In the expression xy2, the values ﬂ%
d

both variables x and y are decre:
by 20%. By this, the value of%
X

expression is decreased by:

= oy 4, aﬁfaﬁxaﬂlymgﬂn 20%
w9 & I F, 6 T m?ﬁm
wfeerd %4 ¥ wRm 2 EY

{a) 40% ..
(c) 48.8% c

B‘pomts 5 em
apatrt a ntonABsuch
that A N the length of AC
is increas 6%, the length of
CB is decresed by:
AmBﬂ‘lﬁsﬂﬁTﬁa‘\aaﬁ{&Sﬂiﬁ #
AB T UF fag C & 9 AC ¥ = 3 A5t
#1 afE AC 1 s 6% =@ @ W A CB
1 W faw wfm 9z w2

(a) 6% (b)) 7% (c) 8% (d) 9%

312,

313,

314,

315.

3

A man invests a part of ¥ 10,000 at
5% and the remainder at 6%. The
5% investment yields annually 2
76.50 more than the 6% investment,.
The amount invested at 6% is:

TF =9 T10,000 F F3 9M 7 5% 7w v
M H 6% = W R Fw w@ 5% =
T i frm o wm, 6% F W W fRW
4 T am d 76,50 =R afus s Fo
A 6% T T W ey v Flw G T o
(a) T 3,600 {b) T 3,550

{c) T 3,850 id) T 4,000

Each side of a rectangular field is
diminished by 40%. By how much
percent is the area of the field di-
minished?

ARIER WA F) WO O F 40% T foa
I@ ¢, @ 359 daww § et ofivm 3 w
vt 7

(a) 32 (b} 64 fc) 25 (d) 16
Ram saves 14% of his salary while
Shyam saves 22%. If both get the
same salary and Shyam saves 7
1540, what is the savings of Ram ?

W A 4 W 14% 99 T@ 2 wwE |

T A A F 22% T o A ﬁg

w TR I faem # st yam 1540?3?1?!
@ ¢, A T e T e kY
(a) T 990 (b) 980 £

{c} T 890 (GRT
ys and
20% of

The ratic of the numb
girls in a school is.& :

the boys and 25%« e girls are
scholarship hoﬁ%rs, then the per-
= w1 o 3

(©) 60% (d) 55%

1@. Wh 60% of a number is sub-

; tracted from another number, the

317.

second number reduces to its 52%,

ithe ratio of the first number to the
#second number is :

UF W F 60% $I, W IO wem ¥ @
W W &, v mtt Hem W 52% ®
St 2, W@ vE o T WEm e W
w7 .
fa)6:5 br5:3

) 5:4 d4:5

In an examination in which full
marks were S00. A got 25% more
than C, C got 20% less than D. If A
got 360 marks. What percentage of
full marks was obtained by D ?

" i | sfuwam SF 5008, A C A
25% AfuF drvm At R CH DB
20% =u atw wra # A A w360 WE
W B ¥ A D W afaemm s w R
wivwa W gan ?

(&) 72% (b} B0O% (c) 50% (d) 60%

318.

319.

%Qﬁv

321.

322,

323.
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In an examination,110¢ boys and
900 girls appeared, 50% of the boys
and 40% of the girls passed the ex-
amination. The percentage of can-
didates who failed:

W A 1100 wER w900 wafwal
whE g 31 50% TR A 40% watw
e s 2, A Fee T o swew w7
{a) 45% {b) 45.5%

c) 50% (d} 54.5%

In- a factory 60% of the workers are
above 30 years and of these 75%
are males and the rest are females.
If there are 1350 male workers
above 30 years, #he total number of
workers |n5th

ctory is:

w I9 30 A
gl 5% &9 T Wiy wfgem
énaﬁ: 1350 T TR F 3w 30 € @

w ‘g &
(b 2000

3000
(d) 1500

c)
M class, the average score of girls
n examination is 73 and that
boys is 71. The average score for
the whole class is 71.8. Find the
percentage of girls,
Wi ¥, U W ¥ wafEA @ o
watw 73 & @ wew w1 ok wam 71 81
T = w1 fm wdw Al 71.8 , @
wafed + wiovm g w5 7
{a) 40% (b) 50% {c} 55% (d} 60%
Tickets for all but 100 seats in a
10,000 seat stadium were sold. Of
the tickets sold, 20% were sold at
half price and the remaining tick-
ets were sold at the full price of T
20. The total revenue from the ticket
sales, (in ¥) was :
™= ®fem % 10,000 W= § ¥ 100 drf
¥ oigw wft 9 % e e 1wy 1
fegal 9 20% fewz a1 =M W wor 9w e
W0 F ¢ I W W @ frge oz A

w fr o g
(a} 158400 {b} 178200
{c) 180000 (d} 198000

31% of employees pay tax in the
year 2008, Non- tax paying employ-
ees are 20,700. The total number
of employees is :

at 2008 ¥ 31% e Tw(F) = PEw
T & dF) W o e w

H= 20,700 %, 9 w0 fEm e 27
{a) 31,160 (b} 64,750
{c} 30,000 (d) 66,775

The allowance of an employee con-
stitutes 165% of his basic pay. If
he receives T 11925 as gross sal-
ary, then his basic pay is {in 7 ) :
F wEl | oam IR T A W 165%
? ARk N g W 711925 foewr ¥, @
IHF 9E A e 2

{a) 4000 (b) 5000

{c) 4500 (d} 53500




324.

325.

326,

327.

328.

329,

A saves 20% of his monthly salary.
If his monthly expenditure is ¥
6000, then his monthly savings is;
A A wifes 4 W 20% w90 @ AR
WF AEF @9 260002, @ o Wins
T 7

{a} Rs. 1,54} tb) Rs. 1,800

{c} Rs. 1,200 {d) Rs. 4,800
The population of a town is
3,11,250. The ratio of women to
men is 43 : 40. If there are 24% lit-
erate among women and 10% illiter-
ate, among men, the total number of
litreate persons in the town is:

T W ® wEeen 3,11,250 ¥ ofEwmed
Ton TFA F AT 43 40 ¥ af T §
24% ffim # 3 e § 10% fraw &, @
e A fofeel e w32

{a) 1,70,700 (b} 1,73,700

{¢) 1,75,700 (d) 1,73,200
31% of employees pay tax in the
year 2008, Non-tax paying employ-
ees are 27,600. The total number
of employees are :

=¥ 2008 ¥ 31% ¥ FFW(F) ER
FTA € FE) W W o wiEE )
e 27,600 &, W wi=iEl # = g
T 2

{a} 31,160 b) 64,750

(¢) 40,000 (d) 66,775

The population of a village is
25,000. One-fifth are females and
the rest are males, 5% of males and
40% of females are uneducated.
What percentage on the whole are
educated ?

& e W e 25,000 h wAeen §

%wﬁﬁrﬁ?mw}qwi’ls%ww

40% ufgemd Frow 3, & frad afm i
e #?

{a) 75% (b} 88%
A box has 100 blue, S0 red balls,
black balls, 25% of blue balls and 5C%
of red balls are talen away, Precentag
of black balls at present is

w 7 4 100 W&, 50 = qen S0 B

W ¥ 25% =t T 7w 5
@t o, & FJEn d frad
{8) 50%

4 ly
'E i;ll%

A dozen, agirsi guoted at T
180 are HabFE at discount of
20%. How fmarfy pairs of socks can
be bought for*T 48 ?

TF T A O st e 2180 % s
%8 W 20% 9@ @ W 2, 4 T48 9 e
Wi @ =i W o

{a) 3 pairs {b) 4 pairs

{c} 2 pairs {d) 5 pairs

(c) 33%%

{c) 55% (d) 85%

330. The price of a school bag and a shee

331.

332.

333.

%@1
& {a) %
“c) 32%

g‘contain 20 and 30 students. The

335.

are in the ratio 7 : 5. The price of
the school bag is ¥ 200 more than
the price of the shoe. Then the
price of the shoe is :

T e A S R T G AR 7S
g i oy, W # T O 200 TR
wigw &, A 9@ W =8 9@ F=

{a} T 200 (b} T 700

{c} T 500 (d) T 1,200

Three sets of 40,50 and 60 students
appeared for an examination and
the pass percentage was 100., 90
and 80 respectively. The pass per-
centage of the whole set is

40, 50 T 60 BT F1 T W wF vl #
A T FH TEEA T AR FT: 100,
90 wem 80 ¥, di woEl W firemER wwem W=
wigem F=0 ™7

2 2
(@ 883% ) 843%
88ty 4 841%
{c) °55 (@ &%
The sum of two numbers is 520. If

the bigger number is decreased by
4% and the smaller number is in-

creased by 12% then the numbersy %
obtained are equal. The s kllﬁw

3
i £
o5

number is

3 st F:; AW 520 T I T
w1 & wm s S A 129 W@ 9
Wy ey aa B §,
(a) 280
[c) 210
In two successive mg,
students of a schapl apfieared at the
final examination, 8 which 60%
and 80% ‘podsedrgspectively. The
average ratéydf,students passed [ in
percent j3s:

A F

A

vy TF faoe™ # 80 AW 60
e 3 # foel Fn: 60% aw
e 5 2R 2, A o www el W
g7

() 68%%

{d}y 36%
class has two sections, which

pass percentage of these sections
are 80% and 60% respectively. The
pass percentage of whole class is:
o A ¥ @ dE 2, faed w20 a4
309n & W & dEVE 4 Owem W owimE
w: 80% T 60% ¥, 9t @ wan &
qEeEl B Wiwwa w9 w2

(a} 60% (b) 68%
fc) 70% id} 78%
In a factory, the production of cycles

rose to 48,400 from 40,000 in 2
vears. The rate of growth per an-
num is?

wF vl H 2 =l § anfER F IR 40,000
§ W= 48,000 7 ™ @ ffw 3fE =
@ wl

336.

337.

A

338.

339.
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W80 ¥ 1990 m et dn %t g 20%

{a) 10.5% b 9%
{c) 8% (d) 10%
In an office, 40% of the staffl is fe-
male. 70% of the female staff and
50% of the male staff are married.
The percentage of the unmarried
staff in the office is
fad Frfda & =rE #1 40% wfeerd #)
70% Wieen W% w W 50% [EH =WE
ferfen #1 wmfer § sfaia = = R
T #2
(a} 65% (b) 42%
c) 60% &(d) 64%
From 1980&99%::.3 population a
country e c ed by 20%.

% the population of
the country Was increased by 20%.

From 20002010, the population of
the &untry was increased by 20%.

Mtion {in percentage) of the
%un

tty from 1980-2010 was in-
e by

adh
1990 ¥ 2000 ¥ 39 W H amard 20%
adh

2000 % 2010 7% J9 W ¥ vt 20%
T A 1980 | 2010 W W i@ w3

A 1 wiawm =gh
(a} 72.2% (b} 72.8%
(c} 60% (d) 62.8%

A number is increased by 15%
and then decreased by 25% and
the number becomes 22 less
than the original number. The
original number is

farelt s 1 15% =gk i # S fw
25% RN 9 € 3iR 99 TEn g wen
q 22 F9 | Wt #1 7@ dewn T 7
{(a) 140 {b} 160
{c) 120 d} 100

(S8C CPO 20-03-2016, Moming)

If a person spends 40% of his
income on food, 20% on house
rent and 70% of the remaining
on children's education, then
the percentage of his income left

18
oy i =f@ AT ™ W 40%
a9 W, 20% 1w fHFTd 1 99 #l
70% a1 =t for W = @ 7, W
U A F o wfavm w=m?
{a} 6% (b) 8%
{c) 10% ) 12%

(SSC CPO 20-03-2016, Moming}




340. What percentage of the whole
week does Ajay spend in of-
fice, if his office hours are 9
am to 5 pm from Monday to
Friday?

7% 39 F FEEE T 999 AR ¥
YHAR 9 T GE ¥ 57 v 7F &,
@ 9 { waw = fean g W
A wrle § edfa s #2

(a) 33.33% (b)23.81%

(c) 25.86% (d) 42.23%

(88C CPO{Re} 04-06-2016, Morning)
There is a ratio of 5 : 4 be-
tween two numbers. If 40% of
the first number is 12, then
what would be 50% of the sec-
ond number?

< g 1 I 5 : 4 #1 af Tl
T F 40 wm 12 ?, @ @
dem #1 50 wfave F=0 e

(a)12 (b) 24

(c) 18

(d) Data Inadequate

{SSC CPO(Re} 04-06-2016, Evening)}
In an election 10% of the vot-
ers on the voter's list did not
cast their votes and 60 voters
cast their ballot paper blank.
There were only two
canditates. The winner was
supported by 47% or all the vot-
ers in the list and he got 308
votes more than his rival. The

341.

342.

number of voters on the list was

TF gE T 10 fava gagarsi ¥ o
™ W T @i 60 wEmal 7 1

et 7 ot sma w1 10 waem
T & T 2 T ol v oW
20% WETd oM §F | S A
fam 3T 3@ 39S WE T 7200 9

(a) 3600 (b} 6200
(c) 4575 id) 6028
{85C CPO|(Re] 05-06-2016, Morning)

343.The price of an edible 011.13 in- ¥ @ so o feet &
creased by 25%. To maintain 71 o b) € 8000
the budget, Sushma reduces (2)¥ 1000 (b 00
the consumption of this oil by ()% 9000 (d)T 85
20%. The increase in expen- (SSC CPO|Re} 06-06-2016, Evening)
diture due to this edible oil is: 2
TR ¥ e W 25 v iy g 346. If Rajdhani is 16*5 % slower
1 oW W H wE WA F than shatabdp then shatabdi
{9 3W I B IR F 20 e w5 is faster @‘h Rajdhani by:
Ft HE 21 WA ¥A H BRI T H - e -16_0/‘]%%@
frmt wfawd @t 9fy whit?
(@) 0% (b) 1% W@‘(ﬁh‘ﬁﬂ fm‘—] wiewm ¥ &
9 0 Q% (b} 25%
(c) 2% (d) 3% (d) 33%
{SSC CPO(Re) 05-06-2016, Evening} "K g}gi: CPO{Re} 07-06-2016, M 0
344.The ratio of the number of boys /337 Fhe red blood cells in a blood

" (38C CPO(Re) 06-06-2016, Morning)
;45?.*Christy donated 10% of his

and girls in school is 8 : 12. _1 jgmé sample grows by 10% per hour
50% of boys and 25% o in first two hours, decreases
are getting scholarsh by 10% in next one hour,
their studies, what is remains constant in next one

ho are ) é an 5% per hour in next two
wiio ~are no g ttmg y hours. If the original count of

scholarships ? Y -

the red blood cells in the
Wfﬂﬂmﬂﬂtﬁ I W sample is 40000, find the
T AW é‘x,;a%mﬁsouﬁm approximate red blood cell

count at the end of 6 hours.

T AR R H AT T W9 H e @ R e
o WERSEOAT i 100 o R R
B AR R 32 2, foFt o W2 W 10% wedt ¥ o
(a) 65% (b) 66% 3T W W fler Telt # o iR avm
(c) 67% (d) 68% g}q’j’ﬁ 50/0-9'[%' or i = -g ag;.ﬁ

?1 AfE TeE@: T WA HIABN
40,000 @t A 6 ¥ F AX T T

# @l Bg frm ®a@ [ income to an orphange and HITerRst FY ST TS TE F2

4 foom TeiwaR ) A @ deposited 20% of the (a) 40000 (b) 45025

47 e T 7 ey A T remainder in his bank. If he (c) 48025 () 50025

T whEE § 308!“"{3 i TR :?s now T 7200 left, what is [SSC CPO(Re} 07-06-2016, Evaelng)
§ . 1§ 1Income.

T o T ﬁ’ﬁﬁfﬁw o2

1. le) } @ | 9. (@
2. W] 6 (9l 100 m
3. @] 7 (9| 11. (a
4 W8 @ 122 M

13.
14.
15,
16.

ANSWER KEY

@ | 17 @ 210 ! 25 @i 2. (©] 33 @
@ | 18 | 22 | 26. (@] 30. B | 34 M
B | 19 @] 23 O] 27. @] 31. ©| 35 @
@ | 20. (@ | 24 @ 28. (@l 32 @ | 36 M
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37. @ | 71. ) | 105 (@ | 139. B | 173. () | 207. (a) | 241. (o) | 275. (d) | 310. (o)
38. W | 72, (o | 106, () | 140. ®) | 174. (@) | 208. (a) | 242. f(a) | 276. (a) | 311. @
39. (@ | 73. (@ | 107. (9 | 141. (9| 175. () | 209. M) | 243. (a) | 277. (@ | 312 (©
40. (a) | 74. (a) | 108. () | 142. (¢} | 176. @@ | 210. ) | 244. (@) | 278. @) | O O
4l. (a}) | 75. (¢} | 109. (a) | 143. (B} | 177. () | 211. (c} | 245. (¢} | 279. (o) i:; (b
42. ) | 76. @ | 110. (a) | 144. (¢ | 178. (a) | 212. (c) | 246. (¢} | 280. ) 316' t:))
43. (@) | 77. (© | 111. (a) | 145. ) | 179. (d) | 213. (a) | 247. b | 281. (b 317: (@)
4. b)) | 78. (o) | 112, (&) | 146. (d) | 180. (¢} | 214. (a) | .248. (a) | 282. () | 318. (&)
45. (@ | 79. ) | 113. (a) | 147. @) | 181. (¢} | 215. (d) | 249. (a) | 283. () | 319 (a)
46. (o) | 80. ) | 114. ) | 148. () | 182. (o) | 216. (a) | 250. () | 284.4T0) | 320. (@
47. (@) | 81. () | 115. @ | 149. () | 183. (o) | 217. @ | 251. (&) | é~23&. W) 321. )

48. (@) | 82. () | 116. ) | 150. (c) | 184. (o) | 218. @) | 252. () &Q@% Ve | 322 ©
49. (d) | 83. (a) | 117. () | 151. () | 185 (d) | 219. {d | 253. () 2@7_ @ ggi :(:)

50. (d) | 84. (a) | 118. (o) | 152. @ | 186. (¢} | 220. (b) | 254. 4@ 288. (o) | 325 )
51. {d 85, (d 119. by 153. ) 187. {c) 221. ) (}255-»» (a] 289. (b) 326. (0)
52. () | 86. (o) | 120. (a) | 154. (a) | 188. (d) | 222. (d) gé& ) | 290, B) | 327. )
53. (b) | 87. (@) | 121. @ | 155. (a) | 189. @ | 223. (), d | 291. @ | 328. (©
54 B | 88 B | 122. (@) | 15 @) | 190. (@ | 2247 Y, 2‘38. (@) | 292. (¢ | 329. M)
55. (a) | 89. f(a) | 123. (@) | 157. (@ | 191. (b zzmdfé* '259. (a) | 293. (¢ | 330- (@
56. (b) | 90. (a) | 124. (¢) | 158. (b) | 192. {a) 226. 260. (a) | 294. () | 331 @
57. ) | 91 (@ | 125. @ | 159. () | 193. (% 207, (b) 261. (a) | 295. (d) ggz g
58. (d) | 92. (0} | 126. () | 160. (a) | 194. ()= *ﬁ% @ | 262. ®) | 296. (@ | 334
50. (9 | 93. @ | 127. (a) | 161. @ | 195. -ﬂo}“&L 229. () | 263. @ | 297. (@ | 335. ()
60. f(a) | 94 (@ | 128. (d) | 162. (b) | A196. ;,g; 230. (o) | 264. (b) | 298. ) | 336. ()
61. () | 95 (a) | 129. ®) | 163. ) | .19% ) | 231 @ | 265. () | 299. (@ | 337. M)
62. @ | 96. ) | 130. {®) 108, (a) | 232. (o) | 266. (d) | 300. (¢} | 338. ()
63. (@ | 97. (&) | 131. (a) C ) | 233 ) | 267. @) | 301 ) | 339 @
64. (@ | 98 (o | 132. (d) ) (@) | 234 () | 268. () | 302. (@ | 340 ©
65. (a) | 99 (0 | 133. (&) | 167. (@ | 201. (a) | 235. (d) | 269. (@ | 303. (¢ gi;- (a)
66. (o | 100. (c) | 134. @Q Tod. (@ | 202 () | 236. B) | 270. (¢) | 304 ) aas g
67. @ | 101 (9 | 135. Bh[69 ®) | 203. @ | 237. B | 271 @) | 30> O] 5,0
68. (o | 102 @ | 136. () B170. (©) | 204 (@) | 238. (© | 272 (a) ggg- (g) 345. (a)
69. (a) | 103 () | 1__3%@} 171. (¢) | 205. (b} | 239. @ | 273. () | 50g :C; 346. (a)
%E{?%fb) 172. () L) | 240 @) . ®)
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1. (¢) '80% of A = 50% of B Alternate (dwfras fafy) .
80 A S0 20% represents — 120
= T E
alfo 53100 1% 120
= _ =20
A S
= 8 So, 120% = 12§x120=72o

Put value of A in given equation, m .
& q e 8. (a) According to the question

FHHETT H AT WA T R,
B = % of A (rRARER, X J
° o 75 100
x 5
= —B
= B=10"% +25
_ 100x8 25
= XT3 Required % (¥ % = -=x100
= x = 160
2. {d) According to the question _ 33l%
(yrgan), T3
: 80 6. (¢} According to the
= x= Too0Y (YFIER),
P
4 P =36
= x= gy xlOO 3
= P? = 3600
¥ 100- 22100 =P = 60 -
Required {3119 = iy . € E !-"e""
> 7. ity b x100 = 49,
= 125%
3. ({a) According to the question (N¥TTHN),
8 _ 4
= _100x_10'0y 8. * 100 = 200%
= 2x =y

9?\ (a) ccoding to the question
|

_ 20
100

=>x==‘!i
2

Xxn

10
J (=g, Tooxm
= 20% of x
m_20 2
n 10 1
m:n=2:1
10. {a) Required % (9= %)

Required (31s2) o

S
7 < 100

125%

According to ion (TETTEN), Always write a : b in% — %xIOO
20 ‘
150 = 11. {a) Required answer (3 I
x = 600 1 15
=T 10000 x —x————=F 5
Required answer (31& Iw) 3 100x100
120 _ 0 x=72
- 600x7=2=720 12. () Jo5% %

e B B B B o A B S T

e e o
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R S 2

AR

15 25
13. {d) 100 A+ B)= 100 (A ~ B}

= 154+ 15B=25A-25B
= 10A = 40B
= A=4B 4

= 400%
Required answer (3% I

= 300><l><l=15
4 5

x
100

15. (b) %x =150
150 x 200
*T T 25
16, fa) S50 (x -y} = 30 (x + y}
= 5x-35y=3x+ 3y
= 2x= 8By
x= 4y

= 1200

1
Required % (31¥1e2%)= %xloo - X100
= 25%
17. (¢) 50P = 25Q

2P_= Q

Then, P = 2P = x= BO

00
204 S0B

100

18. (b) 100

|

2A=5B = A= B

Required % {31%i=%%)
B 2B
= —x100= ——x100 = 4p°
a * B x 40%.
19. (a} Let the number (WFT & &) = x
According to the question (YFTIER),

18 12
=** 100 ~ 100 *7°
=18x =12 x 75

12x75

18

Hence, required number (30 T@@) = 50

=Xx=-




1 1
12=% = —
20.(a) 5 3
9 —» Income of Ram
~ 8 —> Income of Syam
According to the question (WFITER),
Ram : Shaym

Ratio of
Income —» 9 : 8

s

1 1
Required % (Hi¥fie2%) = 3 * 100 = 112%

o=

21.(b) 20% =

x : Y

6 : 5
Income—s \_’/
-1

1 2
Required % (&%) = 5 x 100- 16§%
Alternate (FFfeaw faf):

20
Required % (M%) = {150, 5, *1°C

163%.
3

1+—fl'~§»=

22. (b)1 hour 45 min 60

7
) hr.

Required % = x100 = 7,291%

4x24
23. (b) Required answer

90 _(100-40)
100 100

= 100x

- Qoxﬂ__' 4

24. |{d) Accerding te the questi %
100 P TS \‘“

Required ratioof A: B: C = 3 1 4:5

A:B:C=10:12:15

25. (a) Required percentage

0.01 _
o1 *x 100 = 10%
26. {a) Let the numbers are a and b where

a>h.
I S o 7 b i o> bR
According to the question,

15
fa-bj= m[a‘”’}

3
{a-b]- — (a+b]
20a - 20b =3a+ 3b

17a = 23b

e _ 2

b 17

Required ratio = 23 : 17
27.{a)According to the question,
P : Q
6 : 1

W

Required % = %*100“‘2%0"33 %

6
28 {a)Required percentage = 2000

%o

o o L __
29. (&) 5 " 002"
+£]
30. {b) Requir 60/ 100
24
165 <100
24«60
= 11.45%
) 1.14
) Required percentage= 19 x100
1140 .
BTE 60%
32, (d) Required percentage= 0.001 x
100
= 0.1%

3
33. (d) 60% of A= T'B

A= —B

w|w
£

o>
[
&[0

= A:Bx5:4
30 18
34.b) o5 (B-A) = To5 (B+A)

30B — 30A = 18B + 18A
12B= 48A
B = 4A
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| =
N

= A:B=1:4

Hence required ratic = 1 : 4

_ 32
35. {d) Required percentage = S_OXIOO =

40%
90 . 30
20 4305
36.) 156"~ To0
= 3A=B .. (i)
B =x% ofA \
= 34-

00
X 53
37.4 Mf A =30% of B

= 30B

= x= 130
38.{d) Required percentage
(1206} <100

3x134
402

134
39 Lz_ﬂa =30
19} To0* = 100
= 3a=2b

x100 = 300%

2
a =3b put value of a in given equation

(T T T § 2 T A W,
2 5B
b+ b —
b+a 32 % 5
: - - ]
b-a b-=b —
3 3
bta _
= b_a
40.(a) 22 4 +
A2) To0 A *B) = 100 {B)
2A + 2B = 5B

2A = 3B
3 N
A=§ B Put value of A in given equation
(few T weEETn F 3 A T ),

2A-B _3B-B _2B 1

2A+B 3B+B 4B 2




From equation (wviwe (i) ¥

2 3
4. (@) S {A+B= 7(A-B i 20y
Required answer = EXE =10% of ¥
24 + 2B= 3A - 3B
A = 5B 49. (d) Aocorclmg te the question
Put value of a in given equation (ffg ‘? 3 (5: 6OA = 30B
THH W o T UH T R, ' ¢ - )
24-3B _7B _7 (%h;.]
A+B 6B &
42, {4} Required percentage i = ?
- —2 %100 = 2% 5
3.6x1000 Required answer = T x 100 = 500%
43, (a) X~ :33 =100 = x = 80 $50. (d) According to the question,
204 30B =£
100 100 6
44. (b) ﬁﬂ) Q)= {P+Ql
=32
5P—5Q=3P+3Q _15._/91
2P =8Q ;
= 4Q A:B:C=15:10:18
Put value of P in given equation (€@
FHH W PH A T T 51. (d) 50% of x = 30% of y
x i 30%
Q=*> Too y 50%
x xX: y=231:5
Q = 4Q x
100 4 % o~
. 52. () 80% = . %,

Hence required value of x = 25 Note: In such type of

25 your calculation eas;g
48, (a) 120 x —= + 380 = T~ which is multlple off
100 100 ;
o 637 ﬂﬁaéamﬁmﬁiﬁﬁq
= 30 + 152 = x x 637 o e
f& w@M) = S5x
= g—g =x e question (Y¥ATLHAT),
. 2
= x= 7

i
M 4x + 80= 5x
4 x =80

1

eqyjred number (IR TEA)
4 = 5x = 80x5 = 400

2
= required answer = -

46. {¢) Required answer

e
27 36 5 - 2 2
4500 ===
TR » 53. (b) 665% =
= 243 Let the income of the person = 3 units
25 o % =iE w7 A = 330

47.(a) 1000 > 100

Required answer ¥¥
48.(a) : 59
According to t T

8x _ 4y |

100 100

Expenditure (@) = 2 units {3R)
Savings (A99) = (3 — 2} = 1 unit {GFE)
According to the question (Y¥ITAR),
1 unit (=) = T 1200
2 units @)= 2 x 1200

= T 2400
Bx=4y L {i) 1 1
2=y (ii} =4, b) 20% =§, 5%, = oy
20
20% of x = 100 xx Case (i) B C
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Ratio of Salaries (@@l &1 3TH)
5 6

Case (i) A B

Ratio of Salaries (@@l T I

4 S
From, Case (i) 8 {ii)

A H B : C
Ratio of salaries 4 5 6

N

Required answer (AR IT)

N

Y :
=Y
%ﬁy A: B ‘C= 28 : 20 : 25

Hence, Required ratio (3I¥ise sqwia)
A:;C=28:25
56.(b) Girls's % (@EfFA %) = 70%
Boys's % (AgHI 1 %) = (100 - 70|%
= 30%
According to the question (YFITIR),

30% of students (@A | 30%) = 510
Total number of students in school

(ﬁmmﬁadaﬂmn— 510

87.(b) Required number of Boys (IZH

x100 = 1700

, 972
Fsofte ¥@0) = (150-60) " ©°

_ 972 ~
= 20 x 60 =

Required number of boys [@E®H FIAV= T

= 1458

Alternate: (i5fers fafy) .

Ratic of No.

1458

Boys and Girls

Boys Girls (100% - 60%}
60% 40%
3 : 2

Girls — 2 unit —— 972

972

1 unit -————}7—436

Boys = 3 unit —— 33 x 486 = 1458




58. (d) Note: In percentage always as-

sume data. Which make your Calcula- o fi digdt wem 100 #
tion easier.

A M Qs S S O N According to the equation (WFIHHER),
T T M TR St p™ ™
20 : 50 : 100

63. (d) Let the I number is 100

3
60% = 3

. 20
Let the number (7M1 7 W&m) = 5x Required % (31w = 50 100 - q0%

According to the question (F¥I{ER), 63. (d) Let the third number is 100
o fr ded e 100 #

3
= 5xx=-60= g0
5 According to the question (YEITAR),

120 e n™d
= x=—=40
3 75 80 100
Hence, Required number 75 3
=S5x =5x40 Required % (3=%) =~-x100 = 93 = 9,
= 200 80 4
3 64, {d) According to the question
89. (¢) 75% = — (FETER,
4
Let the number (M fF dem = 4x y =125 + 12;50";10 = 137.5
According to the question (T¥TTHR),
3 - 13 137. 137.5x10
= 4xxz+75=4x x = 137.5 - 100

= 3x+75=4x x = 137.5 - 13.75

x=175 x = 123.75
Required number (37¥ir &)
= 4x = 4x75 = 300
60. {a) Let the larger number (A1 7% FE  According to the questio
HEH) = 5x 3% of studeqnts = 504
Smaller number (B W) = 20 [Given
()] Required number of o x70
According to the question (WFFAR), = 168= 7
20 = 1176
= 5x-20= x5x Alternate:
1000 irls
= Hx-20=x
= 4:;:: : gO ) 30
Hence, Larger number (¥8 @& 3
=5x5=25
61. {c} Required answer A IW . 168
40 40
- —2__x100 - 2000
(100 - 40} 60 504

. = 66.6 Hence required number of boys = 1176
llot_e: Fc_»r de!:alled solutio . foll he 66. (c) Let the third number = 100
earlier given important ndt®, % . . .
Fe: forsam § w0 B forg v g o, g According to the question (YFFAR),

= ) roon™ s ome
Alternate (&ma: &ﬁx)@ : 120 150 100
0% < 2 \ F 50%
+ 20%
A

120
—x100 = L
150“ 80%

&7, (d) Let the third number = 100
According to the question (¥FIHR),
| b N | b urr
112.5 125 100

3 i 5
\*2/

Required % (314w %) =

Required answer =

2
—><100=66 66%
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Required percentage(31%heos)

112.5
125 90%
68. {e¢) According to the question
{ T AER),
60x—A-—75x B
100 100
44 = 5B
B = i;ﬂ\
~ 5

x\,m,

= x=80
69. (a) Let th bers are 2x and 3x
respecuve&mfﬂ o gl 2xd 3x }1
the question (TFIIAR),

+20 3xx

10
5
1 1oo+2]

EJc-|-20 = —x+25
5 10
68. (a) Pcrcentage of girls in sch
= (100 - 70) = 30% S 2,5

10 5
3x-4x=-50 = x=9%0

Hence, required smailer number
= 2x = 2% 50
= 100
70. |e) Let the third number = 100 units
I* num 1™ num 1 ium
120 150 100
+ 50%
+ 20%
Required Ratio = 120 : 150 = 4: 8

71, {b) Let the number be x

15 45
R -105.3
= **760 *100
= x=1560

24
=> Required answer = E-é—x1560

= 374.4
72. (¢} Income of the person = T 13,500
Expenditure of the person = ¥ 9,000
Savings of the person = ¥ (13,500 - 9000j

= ¥ 4500
Expenditure Savings
T% x%
Ratio of Expenditure 900 4500

and savings—a 2




T=2+xx1 -

=14
2+1
14 + x = 42 x =28
Hence, required increase in savings
= 28%
Alternate:

First of all find the ratio of income,
expenditure and Savings

Income . Expenditure ; Saving
13,500 : 9000 i 4500
3 : 2 : 1

Let the Income ; Expenditure : Saving

300 - 200 = 100
1+14% lq% >+23

New—» 342 - 214 = 128

. 28
% change in savings = mxloo = 28%
73. {¢) Let the larger number is @ and
the smaller number is b.

A R =< T o ® 9w 99 gmm b
According to the question,

.5
(a~b)= 55 (a+b)
20a - 20b = 9a + 9b
11a = 29p
a_29

b 11
Required ratio of a : b = 29 ; 11
74. (a) Let the number = x
According to the question,
X x(100 - 25)
100

. 225x100
75

=225

= 300

(375 - 300)
300
= 25%
75. (¢} Let the greater and smaller my
ber is a and b respectively(mm f& = e
I wem w: A T B §
According to the question{zvagam),

Required percentage = x100

40 60
Caze (i} axmo:bx%
2a = 3b ]
XY
a=2b ....... (i)

Case (li} a + b =
From equatiop.{i

S5b =300 = b =60
Value of b = 60 put in equation (i)

-3 = 90
as= 2X60—

Hence greater number = 90

76. (d) A B 1 PR Reuired percentage
Height =11 10 [%% 75 2 x 100
W - {100 +25)
Required percentage = = 100 > x100=
q P g =1 = (100+25) n%
- Qi% 1
11 Alternate:- 25% = T
Alternate:
By using formula. Nita : Papiya
10
Required percentage = 100+10) x100
_ 1ooo
T 110
W 100 g1,
11 11

77. {¢) According to the question(vvrER},
10A = 15B = 20 C

A:B = 15: 10 :"_:_ _.'; 2 units of money
FA R PE AT
B:C = 20:1% | E rx ording to the question,
. %{ X Y z

A: B:C= 300 ;200 4 1 : :
A:B:C=6:4:3 . 6 : 3 : 2

(6 + 4 + 3) units = ¥.7800 ’

I3 units - f\ﬁ% (6+g+2’ units = £ 110
1 unit =36

4 units =%o; 4 = 11 units =% 330

n Qfx 1 unit =¥ 30

z: b (), 6 units = 30 x 6 =7 180

Hence, X has T 180,
82. (c)

1

78. (a) Let th
According to

25
Required percentage = m*loo

= x= 100 = 20%

Required percentage Alternate: 25% = %
= _i_ w 100
{100+ 50) X : Y

5 4
30 100-331% ~
150 3
1 1
Alternate:- 50% = E Required percentage = EX]OO = 209%
A B
3 : 2 720
v : 83. (a)Salary of Tulsiram = ¥ =100
=1
X = ¥ 18,000
Required percentage = 3" 100
Salary of kashyap = 18000 x 120
1
= 33—3—% = T 15000
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84. (a) Let the third number = 100 89. (&) Required percentage

Ilt L] it
! m It 5 \100
0\_7/‘23 100 = [100+25)
7 = 20%
Required percentage = I 100 = 10% 1
Alternate;- 25% = —
85. (d) Required percentage 4
A
. —2 100
{100 +25) 5 4

2 N

= > 100 = 20%

125 1
Required percentage = 5 x 100
1
Alternate: 25% = Y = 20%
- s 3 1
Mita Sita 90.(a)60% = =, 20% = —
- 5 5
5 4
W A B = 8.:/5
1 B Cc = 4 M S
Reguired percentage = 5 100 AB C = 32 . 2025
= 20% A:C=32:25
86.(¢) Required percentage 91. {8} Percentage of failed students
25 = (100 - 93)% = 7%
= ————x100 _ 1 x 100 According to the question,
(100 -25) 3 7% — 259
9 37
- 33-1-% 1% -
3 100% — 3700
1 Total students 3700 N
Alternate: 25% = Y
92.{b) Required perc -7 % 100
A
3 4 _ 27 1
\"J—/ 3
93, (d) Acco the guestion,
Required % = 1 x 100 = 33i% 80
3 3 N+ Ndp-—_5B

wgl00 100

1

25% = —

2
0, - —
87. (b) 40% = =, )

B =]2 : 5
c-ls":/’4l
C

= 10 + 25 :

Bx3 100
B

o 1 -

:B:
= 75%

Let the third number = 100
™ e nr

80 60 100
=20

10
Required % = 10 " 100

88. {b) Requlred percent

A

(100 50} 20
Required percentage = 30 100 = 25%
95. {a) Let the number = x

Alternate: 50

= 5 xx = 96
1 : 2 = x =288
W 7
1 = Required answer = 100 x288
Required % = —x100 = 100%
1 = 192 96
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96. [b) According to the question,

« 2
100 Y 100

xa

xa=ybh = b= y

Put value of b in given equation (ffu T

T 4 b ¥ WH T W),

xa X

z%ofb-z%of_y_=? % of a

97. (a) 1 hour = 60 min.

6
1 +f§60—*" min

e%n,
y=2

100

98. [c) Magches by team (39 % 3 S
%‘2 _

1 min + 12 sec =

According to

60 x

N 24
percentage = E;-<:|cn:)

- = 60%
1. (¢} Let the first and second part of a

is a and b respectively.
T WM TR U e ® Use a0 O 9 Y a J

b#

According to the quesion,

0, 50 ,_3

0 Too 100 100

8a - 6b = 30

100
8b - 9a = 60
From equation (i) & (ii)
a=60, b=75
Hence required number =
fa+h =(60+ 73
= 135
100. {¢} Let the numbers = x
According to the guestions,

100

15 = 80x
- T
15 = X
x- T s
Sx - 75 = dx
x = 75
Required 75 9 . 30
- k1 -
equired answer 100

101. {¢} Let the number = x
According to the guestion,

x-27% _ 408
100
100x - 17x = 49800
B3x = 49800
49800
x = 83 - 600




102, {d} Let C = 100 units
According to the question,

A : B : C
150 : 125 : 100

Ratio of

numbers —m : 5 : 4
41

1
Required percentage = 3*100 = 20%

103. {d) Let x to be added,
According to the question,

160 = + x =240 x

15
100

x = 36
Hence required number = 36
104. (b} Let the number = x

100

80
X 100 30
100 1
- 2zl
= *= 73 3

1
Hence required number = 33-5

105. (a)According to the question,

ty=4:3
106, (b) Marks obtained by D = 320

125
Marks obtained by C = 320 x

Too = 400
100-10

Markes obtained wg:mx——{ 100 }=360
125

Marks obtained by A = 360 x 100 =

200 40
lmtlal Final

107. () 22—%:

Hence, required marks obtained by A
%1 st Wi - 450 Wmte._
1 45 9

40
lxz xz\
Hence required n

108. (e} 75%
Let the number (W e} = 4x
According to the question, (Y¥ITER)
4x ® 3 +75 =4
xx g = 4x

x=75
Number = 75 x 4 = 300

. 40
Required answer = 300 x 100 - 120

3
Alternate: 75% = “4'

3 +1 94
100%

- 75
= 300

300x40

4% ofno.=W=1

109, (aj Let the number = x
According to the question,

75%
1 unit
4 unit

+ 320 x - 230 x —2
x 100 100
x+ 32 =69
x =37

Hence, required number = 37

110. {a)20% =

114, (b} To get back to the original
number it is to be reduced

by(¥TE Gem W & fAu T FH FE
m}t

x

— X 100%

@oo+x)

100x

{100 + x)

115, (d} Let the number is = x
According to the question,

1 flf = 20
g of Fofx=

0,

1 ®

20

200 =
100 40
ording to the question,

20% of 20
116. |

575 .
X . ¥ 9 333%- x x 60%
4 5
Let X = 4a ; 250
Y = 5a ,\ \ 0x—=% = xx60%
y-x _Sa-4a_a A &, = x=Rs. 128
Hence, ¥ 5a 52 5 <
117. (b) xx 1 =714
_x . L . ﬁ . ’ ’ 100
x-y - x = 1400
25
;. 25% of x = 1400 x = 350
Hence required an 100
118. ({c}
111. {a) Re ber of llterate 0% 1 Increase in price (7 ¥ 4f% )
people {W - 6600)(30— 3 Initial Price {m W}
= 100 ppitial Price Final Price
(HTTHS ) (Ffm qw)
5 : 6

0, -
50% 2

1
Required Answer = 3 %100 = 333%

113.(a)

According to the question,
S a2 p2/64 8B
100 100 3100 100

2
S5A +4B = 3 (6A + 8B)

154 + 12B = 12A + 16B
3A = 4B

A4,
5-3> AB=4:3

Wizard of Maths — Rakesh Yadayv Sir

Moot O

2
16—¢
3 Yo

Hence, Required reduction

sma: svoirez e - (—xlOOJ-us%%

TR S 20% TG T W T GG STRafa
T At gA 9 1 R g 5 & A T I
o B A BN IO e w wA e ¥ sha a3
O E W SRS T 6 F LCM = 30 %

S Rs. Kg

@ +#—{Ratio of
consumption}

Rati
o e /Kg = e




¥a: Atz T= w9 @ A S e § ge §
TRERA B 389 TR AgTa o Eva N ferd @m
3 T IHR B W 6] FE T G aiwm w ¢
ff JW9E T (Initial Price) ¥ 100 = 77 &
9 A @ (original consumption) 1 fEamm
T & @ W ¥R qA@ @ (Original Expendi-
ture) 100 - ¥ WM A0 T TER HA T
T | 2 99 ofmd wd 0 @ Ao | w@wa
=t A T 1 fremm @ A
E P Rk

20 100 =162%
0 3

Note: {) If the price of a commodity de-
crease by r%, then increase in consump-
tion, s0 as not to decrease expenditure
on this item is

{if) If first value is r% more than the
second value, then the second is

r
[100 or x 100}% less than the first value.

we: (i) ot fesdt og &1 7 1% F F=E O
2@ wd  #¢ w3 B e faw Juem

[100 xlOO}?’oaﬁmﬁm
(i) IR 9o WA, TH A A% AGS W

TH, T W 9 [100 Xloo]% = B

Alternate (dwfeas fafu):
Required answer (%= I9Y

20

2
L —— _x100=1629
{100+ 20) | 37

119. (b Required answer (M= Q% ¥4

20 5
- (100+20)x100 - lff,%h"f"
Alternate (3%feas fafy) 3

Initial Salary
5

.‘\:s 1 2
Required % (9T ¥4} = gxlo - 163 %

120. {a) Required answer (Enite 3W)

10 100 1
-z Yo = 9—0
=100+10) o= 9%

11 11

x100 =

T

Iém [
XY
% ‘Q‘I‘Net effect% = X + Y+
F

. ‘Always use +ve sign for increment
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121. (d) Required % (3T¥E%)

126.(b) 10% =

10
= —}-O—x 100
{LO0 - 10}
Initial Price Final Price
10
= —_—x 100
S0 10 )x “)x
1 10 11
= ] l—qfl)
9 100 121
Alternate:
Initial Price New Price - 21
lw
21 »
) ) % Reduction = Tor ﬁ)o
Required % = 5x100=112% 'Y \
. o
122, (a) Required % (37512%) 1 17.36%
- 25 x100 . age;

{100 + 25)

123. (a)

Note: If the value of a number js first
increased by »% and later decreased by
X%, then net change is always a de-

x2 9% . pﬁe :‘%
100 2 :

crease which is equal to

2. af el TR T T T x % F e 29 : 18
%aﬂtmﬁmx%wﬁmmia’rm% \—/
2 ‘ﬁ; =2

qnﬂsﬂsm 100/oaﬁm$n°r -

Hence, Requlred ch ’e in /salary % decrement =

%xloo = 10%

(e H anie % = 4% Decrease  Alternate:- By using below given
formula,
124.(c) f"*“%
of questions 1o save o, Net effect = X+ y.,.ﬁ
me you can use below 100
wﬂﬁ ST WA F TR # AU 9% Change = ~25+20—2?;§°

@gﬁmmmﬁmmﬂ‘t
% Change = - 10%

Note:- Negative sign shows decrement.
E: THERIETH Thd FAEEE F i )

Hence Required decrement = 10%

100

- ve sign for decrement

x? 10)*
W x 10 128, (d) % decrease = ——=( 2 1%
Required answer = 20 - 10 - 100 100 100
Alternate:-
=10-2
= 8% Initial Final
Hence, Net 9% Increment = 8% 10 11
128.{c) Net % effect on revenue )x )x
- _ 10+ 10 10x10 10 2
I T 100 99
=-1%
Hence % reduction in Revenue = 1% -1
Alternate:
% Reducti = [10} =1%
° Reduction = 100 100 %decrease = x 100 = 1%

100




1 4 —= Final r
24 133. (4} 1% = oo
2 Y% =
128. b} 20% = F = 5 — mnitial 100
1nitia15wages Final :"3368 Initial Price Final
\/ 100 (100 * )
+1 100 (100 ~ 1)
Required percentage
10000 (100 + 1) (100 - 1)

1
= —x 100 = 25% .
4 According to the question,

{100 + r) (100 - 1} units =T 1
20 (10000 - 1% units =71
Required answer = mxmo J

Alternate :

1

o v oni = (o067
= —x100 =
30~ 25%

S 10000
Original Price (Imafss qw)= 10000 - 12
r
Kote:- By using formula,[{loo_r}xu)o] 134, {d} Required percentage of reduc-

tion (¥ = @d=  wim)

130. (b) Required answer =
10 =ix100= 25 x 100
— 100 {100+ 25) 125
{100 -10}
= 20%
J100 a1y 1
9 9 Alternate:- 25% = T
1 - .
131 {a) 20% = 5 Initial IN
Price —» 4
Initial Final

5 6 :
x x
) ) Required perofpt eduction
5 6
25 36 @ 3 X 100 = 20%

135. et
R E
Accordi

11 original number{ar f&

to the question(ywgan),
Required percentage of reduction

11
11 xxﬂx—():(x—SO)
= ——x100 110 100
36 1
99
& Xxx =x-50
- £95=30~2—% 100
99x = 100x — 3000
x = 5000
132, (d)25%= Hence original number = 5000
Alternate: Original New
25% =
10 9
niti 10 1
Employees 100 99
Wages —™ \—I/
According to the question(TFmsR),
1 unit = 50
100 unit = 50 = 100= 5000
Required reduction = %XIOO =%% Original number = 5000
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136, (¢} Let the initial expenditure = 100

units

+10% -10%
E_l_ﬁ—bNew Price
90 @ 9 — Original Price

A 837
Reduced price #

ON62 62
X13.50/kyg.
1
137. {(¢) 20%g

Initial Final

l price  § 6
sumption x6-_1><5
expenditure 30 30

ired Rate = 1:6
ernate @

@Let Initial expenditure = Z 100

Required ratio = 20:120 = 1:6
138, (b) By using formula,

x2

100

x = 20%

20x20
100

139, (b} Required reduction in con-

sumption (U4 § v Hddh

15 i00=2L3.
= {100 +15) 115

% decrease =

% decrease = = 4% decrease

100

300 1
=3 “1B¥33%

Alternate:- 15% =

2

20

Initial Final
20 23

3
% Reduction =53 " 100
300 3l
23 23




140, (b) Required Reduction in price

149. {b) Let the initial expenditure

1 .
(g 7 anire 7y 144. () 10% = 7o = 100 units
- 210020 00 - 9
100+20) 10 9 w20 |-20%
0 11
162w 6 n @
RN | _ 20 1
Alternate: 20% 1 | ncrease in consumption = 80 4
: b = = : L .
3 Required % reduction = 100 100 5+ New
[nitial Final = 1% 4= Original
5 6 _ 2 ] 36x 1000
-1 Alternate:Net Reduction “Too Original Price =Tm—'
&
1 2 (10)2 b o 500
i = —x100= 16=% - = 5 =——%k
% Reduction 6" 3 o 100 1% R Oagm 1000 gj]
141, (¢} R Original Price /kg.
e 10+ 20 10% 20 145. [b) % change = IOO.tRXIOO% 150. [c]'“l?y ufigg formula .
= + +
Required answer 100 50 . .ea;.“!_;hl_ Net decrease = ~==%
=10+ 20+ 2 =32%  Required answer = 100+50) 3 x® 258;6
1 1 146. (d) % change = G % @5 _ 625
Alternate: 10% = , 20% — N e <4 -
1o 5 e g:e_‘ adecrease 1000 100 _ R %5%
———x 100% i
Initial Final 088 1
10 11 a0 ® % 31temate°- 25% =
S 6 Required answer {100 40 x1 % Initial Final
50 66 ! . s
+16 - _XIOO!E\\% % . .
Required percentage increase 16 15
16 147.(b) % change = ; : xlOO% W
=) 5)(100 = 320‘/0 qg 4 100
%, 5 % decrease = ~—x100=——=g 5zq;
142. {c} Required percq;ta;?ﬁ- 100 +25) ¢ x100 16 16
a K -z; 151. (¢} Required % increase
, X . _ (0P . L2 20w
decrease in area = 775% =50 = 1w £ 3 }’5&, ’ 10+10
Y =10 + 10+ ~——— = 21%
% = — 100
Alternate; Initial i :
10 Final Alternate: 10% = 15
10 5 Initial Final
100 =L 10 1
L, * % reduction = i 100 = 20% 10 11
. %ﬁ 100 121
% i = -'——;(J’ . 1 3 + 21
decrease in area 1001’% 148. (b} 25% = 7 30% = o 21
143. (b} : - Required % increase = m*loo 21%
. WL Initial Final
Price —= 4 )x 3 )x 152. ({d} Let the original price = 100 units
Sale — 10 13 @
Alternate: 40 39 +10%
el @
A :
: 1 LY
3 4 % decrease = —— x 100 120%
S “ @

1
1 - 2%
Required % = -Zx100= 259, 3 o decrease.
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According to the question,
132 units =% 33




33
¥ 132

1 unit

33
i = 100 =
100 units = ¥ 135 x 25

Hence original price = T 28
Alternate:

Initial Final
10 11
5 6
50 66
"
2

153.(b) Total % increase

20x20
=20+ 20+

= 0,
100 44%
1
Alternate:- 20% = 5
Initial Final
5 6
5 [}
25 36
S~z

_ 11
Required % increase = ExlOO = 44%

154. (a) Let the initial expenditure =

100 units
@ Initial
+20% - 20%
@ New
, ' von- 2021
ncrease in consumption = 2o =
1 unit = 5 kg.
Original consumption = 5 x 4 = 20 kg.
New consumption = 5 x 5 = 25 kg.

o _ " 320 K
Original price = ———=7%T 16/kg.

20

Alternate: _

Saved money due to reduction %nce

(79 & F F FO T F T g, s
2 ) hy .R. 6
_f& 6o 0" s. 64

" @éiv%"“’
New prlce,‘kg( 80 41%*
Old price/ke.(\p0gs) F Rs.16 [kg.

155. (a) Let Irmti

units

+25.

Ratio of Increased and orginal
consumtions
=25:75=1:3
New consumption = {3+1)x 2 =8 kg
240
Reduced price per kg = —|/— = T 30

Alternate:
Due to reduction, he will save (FHI ®
I IGF) T4}

Price =& 5 4

Sale =& 5

Revenue—» 25 36
+11

11
Required increase in sale = ExIOO

= 44%
- 240x25 = Rs. 60 Alternate: Use successive method:
100 '
20x80
60 %A = - 20+ 80 - o= =+ 44%
New price of rice/kg. = — = Rs. 30
: 1
: 161. (d} Price® Yo = —
1 _ Y ?
156, (b) 25% = ~=>— Final AR 4
4 4 — Initial :
3 13 — Final Sale = m
30% = 15=10 — Initial S
Price —%% 3
Initial ~ Final e
10 13 - {‘ % X
B = % 4 apale —» 5 6
-1 4 venue —» 20 18
% ~=2
'ﬂ- "E,__ __;
Required % decrease = LM1‘:’0 3 W 2
4 40 &, equired % decrease = ——=*x100 = 10%

-= 2 %% i, s °

157. {a} Cost of the amc‘k =¥2_, Rs 75
Net decrease in price :

2020
= 20—20———-% "‘4% (decrease]
1006 %
T
R 100-4
Hence present pﬁ%‘ - st!—lw}
4 %, Re 72
Final
6
i
24
13
2
Hence present price = Rs. 72
158, [b) Initiat Final
6 7.5

s

Required percentage reduction
1.5

= ?—gxloo 20%
159, (b} Required percentage of reduction
60
= 100 = o,
160 x 37.5%
1
160. (a) Price = 20% =3

sale = 80% =

[2JEN
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20
Alternate: Use successive method:

25x20
%\ =-25+20- — 5o =-10%
) % { o 10=10
162, (b} % increase = 10 + 10 + 100
=21%
I _ 100x21 g
Total increase = o0 Rs. 2
163. (b} Let initial expenditure = 100
units
+10% -10%%6
Required increment
_10_1 10— Final
T 90 9 9 — Initial
1 unit = 1 kg

original consumption= @ x 1 = 9 kg
Present consumption= {9 + 1)x1 = 10 kg

270
Required original price - =Rs. 30/kg

Alternate: Due to reduction, he will save

27010
FH & T W T949) = —16%“—=Rs‘27
. 27
New price of rice/kg. = T - Rs. 27

New price (90%) = 27
Old price (100%) = Rs. 30/kg

[30]



164.{a} Let initial expenditure = 100 168. {d} Required % reduction =
units
20 100
@ (100+20)
2
+10% -10% = 163%
!
Alternate: 20% = 3
10 1
Required increment = % -9 Initial Final
: 5 6
1 unit = 10 apples
original consumption = 9 units \‘_1/
=9 x 10 = 90 apples {
New consumption = 10 units = 10 x 10 Required % reduction= = x 100
= 100 apples 6
54 2
i = —x12 = ——
New price 100* = 163%

= Rse. 6.48/dozen

169. (b) Required % decrement
Alternate: Due to reduction, he will save

54x 10 = %
@FH & FRO TER T = — o= = Rs. 5.4 100
2
9% _@SF (1,
New price/apple To° Rs. 0.54 100 4
New price/dozen = 12 x .54 Alternate:- [nitial Final
= Rs. 6.48 dozen 4 5
3 4 3
165. (b) Increase in height = 15% = 20 16 15
-1 ’
1
Decrease in base radius = 10% = 14 A 25
' Initial Final Required % decrease T“; 900 7 7y
Radius—a» 10 9 1
6-—%
Height —» 20 23 4
3
Area —» 200 207 170. % L 30% = —
5 10
i units iti Final
Required % increase in area = x100 S Ya Y. .
¢ 200 10 1)
= 3.5% 50 52
lxs lxs
166, (b} Net decrease = F0O0) 416
L1
/\ Hence required price = T 400
171 0% = 1 11— final
167. (d) Required % 740 75 %190 - ) 10% = 75 " 70 > mital
i Initial Final
20% Nﬂ 10 11
1
Alternate:- 25 10 1
10 11
Initial inal 1000 1331
> Nz
. . 331
Required Reduction (svie w3) Required % increment = Jo00 % 100
- L 100 = 20% - 33.1%

5

=1
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172. (d) Let the number = x
According to the question,

o 120 X« 75
100
120x - 75x = 3600

45x = 3600

x= e 80

Hence required number = 80

1
fe) 20% = <

173.

Accordinguto th¥ question,

1 ygit= 20

= 20 x 25 = 500
_ the initial expenditure
Y =9 = 100

ase in consumption
21 21
* 100-21} 779

Initial consumption = 7%
New conumption (79 + 21) = 100

According to the question,
21 units = 3 kg.

3
1 unit = T kg

21 kg

=
7
100

1
100 L
7

T T/kg.

Required reduced price =

Alternate:
Due to reduction in price saved money

: 100x21
(9 ¥ H ® R A A = — o
= 21
Quantity purchased from this money (94
ofer @ S W A = 3 kg

' 21
New price/kg. = 3 " ¥ T/kg.

175. {b] We know that &1 WR ¥ )

= Total surface Area of a cube (A &
TAE 1 HH TAFA) = 6a?

= If each side is doubled (af% T genstt

F oo w g W, ah
1= 2
1 2

T.SA— 1 4 «NewT.SA

3 —sincrease
Surface area of cube will increase (A

o s | Sx100% o g
= 300%




176. {d} The production of cycles rose  Required % failed Candidates (3T femmfdr
to 48,400 from 40,000 in 2 years AR % )

2 9dl § uRfew W S@EA 40,000 9 W

48,400 & T . 3004400 00 . 300 oo

= Present production = 40,000 1000 + 800 1800

= After two years = 48,000 = 44.4%

= Time = 2 years 181. (e} According to the question

= Rate of increasement = ? (AT,
According to the question, frorier) = _
Production after 2 years Pass marks = (220 + 20) = 240
. 40% —> 240
=  Present producrtion [1 +ﬁﬁ] Maximum marks (IREREH 3¥F) (100%)
R Y = 240 %100 = 600
—~ 48,400 = 40,000[1 +_] 0
100 182. (e) Percentage of students passed
. in Hindi =
484 —[1+ R ] 60%
= 400 100 Tt & =il =l 1 % = 60%
Percentage of students passed in
- R 22 sanskrit = 453%
100 20 oepa o T BT # % = 45%
R 1 Percentage of students passed in both
= 100 10 subjects = 25%
= R = 10% ﬁ‘ﬂ‘ﬁﬂﬁlﬁmmﬂ% = 25%
= Rate of increasement = 10% _ %
177. (b) Shortcut method (dfirer fafe)
o +20% —20% - 20X20 '
-4
= 4% Decrease N ;
178. (a} Quicker appraoch (& fafy) Hindi FRRERIL
. pp Tt . Wil =8
b
T inA=a+b+ la0 Venn diagram of mssed students
. N Fito LT o7
T = = 5%
N = v Percentage of fa.ﬂed studets (WA BT
1t inAs= (5+5+5"5)% FATD
100 _ ~ {35 +25 + 20)
= 10.25% = 100 80 =20%
179, (d} Here, Let a = —20% 183. (c} Failed candidates in English
b = -10% = {100-70} =30%

?ﬁ‘&ﬁaﬁﬂm (100-70) =30%

I'\%suled candidates in Mathematics

Total reduction of the price (T § %@ #

b
=fatb+ Too)% = (100-80) =20%
TIFTI?IT[ FwIv 3R = (100-80} =20%
. (_Qohlmﬂﬂ,o
Y L
180. (c) Passed boys (a?ﬂﬂi as%) = 60%
Failed boys (ala?i’mf FEH) -
- (10§- smf}z-w%
Failed girls (333?""1 :
gir e ﬂ: 0 50]% - 50% English Mathematics
L Tad 0 A T
Failed boys {37 dH. ﬁs%) = 1000~ 06 Venn diagram of failed students
- 400 A Bl F1 9 o

Percentage of passed students in both
subject &4 fawi o 39 o 1 vy

= 100-(20+10+10) = 60%
According to the question (Y¥IER),

Failed girls (3t wrgmat)= SOOxI%)a

= 400
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60% of students= 144
Total students (®T TF 100%)

144
- 100 =
=" 240

184, (¢)

Note:- In such type of questions assume
the values of ratio as per your need or
which make your calculation easier, but
the ratio of values should not be

changed.
AZ: T T F T o ST F UM S FEw B
Taitaa A 41 il A AT9FT TV Y STEA 570 8,
wmlﬁﬁﬁmr@ﬁkmaﬁmﬁﬁ
TEH™ T T i ,;g

Let number & ﬂiﬁr f& wea) = wEm)
% 300
Number o{ glrls"f‘%l?:ﬁh‘!ﬁ W wE=)
: = 200
| Boys Girls
) Ratlo of Boys—+ 300 200
“and Girls
80% 75%
Not adults —a 240 150 == 390
(=wF )
+
390
Required % (S1%t=%) = 1360+ 200) " 100
- 78°fo

185.(d} Let the number of boys = 400
Let the number of girls = 100
Total number of students who do not get
scholarship (PP & 97 @ oM H1 FTA
)

30

+100 —_
100

= 400 106

= 100 + 30 = 130
130

100 =
500 * 26%
186.{c) Let the total marks = x
According to the question (¥¥FER),

Required percentage =

33 25
— =xx-——+40
XX 1o = XX T
o0 {33x - 25x] =

= B8x = 40x100
= x = 500




Alternate ( ddferw fafin):

Pass percentage = 33%

Marks obtained = 25%

Required marks to be pass = (33-23)
= 8%

According to the question (TFITHR},
8% of total marks = 40

40
Total marks (100%) = ?X100=500

187. (¢) The number of candidates
failed in English (38t ¥ orfeitol g =t
BE 1 HE) = (100-70)%=30%
The number of candidates failed in
Mathematics (T0E ¥ 3Pl 3R 9 o #1
wE = (100 - 80)% = 20%

English Mathematics

Venn diagram of Failed students

e e o U T A % B

Percentage of passed students in both
subjects = [100 - (20 + 10 + 10)}% = 60%
According to the question {W¥IHI),
60% of students = B4

Lal

60 * 100 = 140

188, (d) Let the maximum marks = x
(T R 3%

According to the question (WETTAR),
20x

——+30
100

Total students =

Case [i) Pass marks =

32x _42

Case (ii) Pass marks = 100

Note:- Pass marks would be same m’*“

both cases.

<ie: EEF feafa o sdtwiw T m,

20x ,30-32 _4p P
100

100
12x '

— =72
100

x = 600 e i ¥

Pass marks -600**%%*30 150

i
e

Lo 150
Required percentage = %100 = 25%

600
Alternate:
Note: In such type of questions to save
your valuable time follow the given be-
low method.

R AT R T Y A G AP T\ A
forg A= @ w3 fafu =1 3w w1

20% - -30
diif. ( )diif‘
32% - 42
{(32-201=12% 42+30)=72
From above figure , 12% = 72 marks
1% = 6 marks

30,
Percentage of pass marks = 20% + =~ Yo

= 25%
Hence required percentage of pass marks
(F: T % 3H) = 25%
189, [d} The number of failure boys

. 540-40 o0
100
The number of lailure girls
_ 360x20 _
100
percentage of failure students
{72 +236)
= x 100 = f
6401360 32.8%
190, {c) Failed students in Mathematics
34%

failed students in English 42%

e
E_né\@isﬂ:-'

Mathematics

[ Venn diagram of Emled students |
Percentage of passed students in both

subjects = (100 %, (14 ¥20 + 22)] = 44%
191. (b) Let the ma¥imum marks = x

Accordmg to the questlon (YT TER ),

36x
Case li}Pans marks - *6a+6

P k ﬂ_ﬁ
'ass marks 100

Notel Pass marks would be equal in
‘Both cases.

Case |ii}

__'-i’E 4 Rearferdi § wefilE wo v,

30x
_—

6=——-6
100 100
40x 6 = 30x _ 12
100 100
10x = 1200 = x = 120
Alternate:

Note: To save your valuable time try
follow the given below approach.

I T AT R T W A TG T F TS

Foe A $ M3 Tafa | TR w)
Percentage Marks
30% = -5
diif. ( ) diif.
40% = +6
10% 12
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According to the question (Y¥RIER),
10% of total marks = 12 marks

12
Total marks = "1'6“00 = 120

192, (a) Let the marks obtained by first

student =4

then marks obtained by second student
=(a+9)

o 5 TR B W WEF a $, a T o W

WEiF (a+ 9) TN

According to the question,

{TFIER)

6 + a +9
Topf2 +a*d)

100 a+ 900 =’?ll2ﬁ_: + 504
12a= 3@% e
= 33
Marks of first student 33
Marks Qf sécond student =
Alternate%“

a+9-=

33+ 9 =42

-llotq. . such type of questions to save

your valuable time take help from op-
tidns®?

‘-ﬁz TITE R T G ST A T T @

) i T Fae 5t T @
“:» Option {a) Marks of students be 42, 33

Case {i):-Difference (3 = 44 - 33 = 9
Case (ii):- 42 = (33 + 42) x oo

42 = 75 % ﬁ)-

42 = 42

Option (a) satisfies both the conditions
of the equation. Hence option (a) is
correct.

faFea (a) TN F 0 W W 2, WA T

& B
193. {c¢) Students failed in Hindi
= 52%
Student failed in English = 42%

Students failed in both subjecis
= 17%

Hindi English

| Venn diagram of failed students l

Total percentage of passed students in
both subjects

= 100 - (35 + 17 + 25)
= 100 - 77 = 23%
Hence required percentage = 23%




194, (b} Students who cannot speak En-
glish (30T T& S w3 wret o w1 Hen)
= {100 - 70)
= 30%
Students who cannot speak Hindi (&=
+# I TH 9= A F @) = (100 - 65)
= 35%

8%

English

Venn diagram of students who
can not speak these langauges

Hindi

Percentage of students who can speak
both the languages 3 W die aw BT F
TR = [100 - (3 + 27 + 8)|%
= (100 - 38%])
= 62%
195. {b) Percentage of failed students
= 25%
.  Percentage of passed students
= (100 - 25/%
= 75%
According to the-question,

450
Total students = =5 x 100

{d) Percentage of students playing

= 600

196.
both
= {50 + 40 + 18) - 100 = 8%

1 6—~Girs

197. (b) 20% = 3 =5 _4poe

Boys Girls
5 3 6
According to the question(vHRw®ER),
(5 + 6) units = 66
11 units = 66
1 unit

Required percentage(aiviw 9fam)

120 - 120

= —= %100 x100
{100+ 75) 175

- 68
- 68 %

199, (d) Pass marks (Sl
= {200 + 10) = 210
Required maximum marks

210
= 100 =
35 X 600

200, (a} Let the maximum marks (AT
T afuwan 95
According to the question(W¥HTIHE),
Case (ij Minimum pass marks

=X

= —+5=_+5
100

Case (ii) Minimum pass marks

40
100

40x_10

100

Note:- Pass marks will equal in both
cases N

L]

b3

e A9 fafel F sl

30x 40x mz”‘j
——+5=—-
100 0

ﬁe maximum marks = 150
30

= = ——+5=950

6 s marks 150>‘100+

Hence Boys =6x5 = 30

Alternate:

girls =6x6 = 0
The number of girls when g ig a ed
= [36 + 4] % Percent Marks
Required ratic = 30 : : 4 30% -5
198. (a} Passed studegts Ist year .o ¢< >= Diff.
rum 7 A aEa , ’
Y 40% 10
x 10% 15

- *100 ~ 75
Passed studenty 1% second year (f5og
a9 ® gEd BH)

60
100

Total passed students(®Hd TG BH)

=75 + 45 = 120

- 75x =45

Minimum pass marks =

201. (a)

Students passed in mathematics = 65%
Students passed in physics = 48%
Students passed in both subjects = 30%
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, 16
= 250
¥ 203. (d)

15
EX 30+5= B0 Cage (il} Pass marks

18%

Venn diagram of passed students

percentage of failed students in both
subjects = 100 - (35 + 30 + 18)
= 100 - 83
= 17%
202. {¢) .

Percentage %1 took Biology

= 72%
Percentage o students took
Mathematics = 44%

= (72 +44} - 100
= 16%
g to the question,

40 100

number of students

Candidates failed in English
= (100 - 60)% = 40%
Candidates failed in Mathematics
= (100 - 701% = 30%

10%

English Mathematics

| Venn diagram of failed students

Students passed in both subjects
= 100 - (20 + 20 +10) = 50%
50% of students = 2500

2500

Total students = 7“00

= 5000
204. (a)
Let the maximum marks = x
According to the question,

%4-25 )

100
40x 25 (30x
= 100“100(100 25] - (i)

Note:-Pass marks will be equal in each case
stz: g ferfaal A sitols e v

Case (i) Pass marks =




400 4

4 400 400

125 10x
4 400 — %
Maximum pass marks

= 1230

0
= 1250 x 100+ 25
= 375 + 25 = 400

Alternate:

Note: In such type of question to save
your valuable time take help from op-
tions.

T W OWE F UE 4 A A W R aw ¥ o

o sl o s o e Subjects = 100 - (25 + 10 +15) = 50% __
Option:-Maximum pass marks = 400 _ &4 §
208. (a) Maximum marks % i
. {400-25) N'%f tgmaining students = 20 - (9 + §)
Maximum marks = ~—-— =1 {125+40) |4 Tl =3
- 1250 33 4 g %ordmg to the question,
According to the question, 165 00 k\"ia& 5 j% 3 units = 12
Required maximum pass marks = 33 *100 = 500 % i 12
o 1 unit = —=4
= 1250x 12 _400x 23 13 +85) 3
- 160 100 209. (b) Maximum marks &W 20 units =4 x 20 = 80
= 500 - 100 = 400 100 ;o ‘%‘ Hence total number of students = 80
Hence, the required answer is same as T 213. (a)
in option {a}. Hence option {a} is correct. 00 < 55 'V Note:- In such type of questions assume
]i 5 data as per your need but remember the
208. (b) 210. (bl Tota] Wﬂgs = (300 + 200) ;;I;z;ention in question should not be
45% T : 1 8
07 v ;70 3 B T A WO o S @ qen
- T B WA AT T A 1 oE @ e W R
Cow Buffalo Ms‘lrks | ined by the students in T 3T HE T 7 9
L\ferm dingram of families which—I sclence %
have buffalo and cow. ~ & 32 Boys Girls  Total
‘; = 300= =96 !
Required families which do not have ; 100 mb:{-s — 200 300—++500
cow or a buffalo (¥ vfar # wWeu fs ’?qum’ed marks in Language Papers +75% 70%
Tt IR G = 100 - (45 + 15 +15) %\ (230 - 96) = 134 Not holding— 150 210-*=360
= 25% 34 scholarship
According to the question. Requ1red percentage = on x100
.g :-‘% . 0
96 o P o/ = §7% Required% = x 100 = 72%
+ = e + sw
Required number 100 25%&!-' Hence Required percentage = 67%
: 5
206. {b) OZ'% s Alternate: 1
: % . 214 10% =
Percentage of stud@ts % Jm English use alligation method: H (a) o 10
O 8 L
percentage of ,agqud _passed in Math- 32% x% Ankita Eakta
ematics =f 85% o 10
| 467 lxg 1,9
e {x— 46)% 14% 81
X— o
English Mathematics axT 2x7 Hence, marks obtained by Eakta (T8 I
x-46 =21 m =90
| Venn diagram of passed students]| x = 67%
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Percentage of failed students in both 211.(c)
subjects Percentage of passed students in both

=100 - (5+ 75 + 10) = 10% subjects (I el o il ol =1 wiew)

45 = (90 + 85 - 100
Total number of students = Ta"loo = 75%
- 480 According to the question,
207. C idates failed i emati 150
fa) Candidates m Mt:tth% “® Total number of students= 75 »100
Candidates failed in English = 25% 200
212 40% = E ¥ 3
. (e} a = 5 ° 5% = 4

Let total number of stuclents = 20

Mathematics English

| Venn diagram of failed students |

Hence percentage of passed candidates
in both




218, (d)
Students failed in mathematics = 19%
Students failed in English = 10%

3%

Mathematics English

Fr’enn diagram of failed students |

Students passed in both subjects
=100 - (12 + 7 + 3]

= 78%
216. (a)
Student gets 190 marks and fails by 35
marks total marks need to pass

=190+ 35
R F 190 3% T gQ A 4w 35 A @
A T T T YRR Sl = 190 + 35
++  36% marks are pass marks (ST 36% ¥)
= 36% = 225

225
W = X].OO
= 100% 36
= 100% = 625
= Total marks = 625
217. (d)

According to the question,

Let the total number of students = 100
Boys _ 3
Ratio of Girls 2
S5 uUnits...ciiaeiieeniann 100
1 units.....coovvvennuens 20
3 units.....oooiniennn 20x3 = 60
2 units.......ooooeeeen. 20x 2 = 40
Boys Girls
60 + 40 = 100
30%l lm%
Appeared in Exam 18 + 28 = 46
Students not appeared in exam e

= 100-46=54 _,g'é‘
Ratio of students appeared in exam¥;"
Not appeared in exam

218. (d) According to the

First subject

Second subject %

Aggregate in all

Sum of all those
First +

% hird = 210
60 + 8Ch =+ Third = 210

Third l’,z‘lo - 140 = 70

e

1 3
219, (d) 20% = 5 30% = 0’
10% ‘L
* T 10
Let total income = 100 units

@ Total income

- 20% (Older son}

- 30% (youngerson)

- 10% (trust)

According to the question (WFTTHR),

50.4 units = T10080
1 Uni l‘"ﬂ = ¥200
mt = gga T

100 units = 200 x 100 = ¥20,000
Hence, Required income = I 20,000
Alternate:- Initial Final
5 4
10
10
500

Hence requu-ed mc;__"' ¥20,000
¥4 arifim s % 4
220.(b) Expem;,n&re ( wd)
--' By — 0%
e} t (mﬁa‘; ) ——20%
eﬁi (T—ﬁ'ﬁﬁ) —_—10%
(v ). —_—10%

. 10080

‘Iotal expendlture (%@ T = 80%

oy . Savings =
"t 20%

o,
1% 20

1500
Salary(100%)—3 20

100% - 80% =
——31500

—————

20%

x100

= Rs. 7500

221.

{b) According to the question,

Fost
office

Share
holders
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Hence, required number of share hold-
ers (I MG F e TN = 570
222, {d) Let initial salary = 100 units

@ Total salary

food

According to the question,
{30 + 3§ units = Rs.
33 uniis = Rs.

e
T

1 unjt ﬁ_gﬂ-”.&;}: Rs.

oo, 5
100 umts j =

Tugr®

Total salg}y = Rs. 7000
223. @j “Bet the total amount =

charitable tnast

2310
2310

2310

33

2310x100
3

,.'_-.Acabr“&ng to the question,

xﬂxi— 20 + 1400
100 100 - 1 )

3.9 20
**5" 20

1520x100
EETE

Total amount = 2000
Amount spent on transport

80 5
= 2000%x _——*—— = Rs. 80

100 100
Alternate:
Note : In such type of questions try te
follow the given below method to save
your valuable time.

A2 W AE F T H A 9 999 B 9

% fAu ama R ™R fafy w5 s R
) 1 19>Final
20% =73, 5% =35 * 305 Initial

Total amount = 100 units

@' Total

Remaining after
purchasing
4 units
Transport -5%

Remaining after
transport

According to the question,
76 units= (1400 + 120) = Rs. 1520
1 unit 20
4 units = 20 x 4 = Rs, 80




224, {a) 60% = T, 25% =

e

1
20% = E

Let the total trees in the garden (W1 %
w0 | ®@ I8 F1 WM = 100

According to the question,
3 units= 1440

1440
1 unit=—2—= 480

= 100 units = 430 = 100
= 48000

Total trees

225. (d) 20% = ¢

Let total income = 100 units

Remaining alter (W = frmm 3
house,rent % W% I w=)

According to the question,
24 units = T 1800

| uni = ¢ 1800
unit = 23
1800
100 units = oa = 100
=T 7500
1
Alternate: 20%="5w s Ty
—_ 7 — Experiditifre
T 10> Fgoome
Income $av:hg
5 H. 4
10 R a3
50 12
lx 150 Ix 150
7500 1800

Hence total income = T 7500

226. {a) Let the income of Bhuvnesh
=3 100

According to the question,
Income Expenditure Savings

Initiel —s 100 75 25

l+ 20 I‘ 10% l +12.5

Fina! —s 120 825 375
Required % Increased in savings

12.5
25

x 100 = 50%

Alternate:
By Alligation rule (s fafa g
Expenditure Savings

103 +xx1

B3+y "0

30+x
4

=20 = 30+ x=80

x = B0%
Hence Required mcrement in savmgﬁ

227. (b} Let total salary
100 units ’

B z 17600
;l unit = 20

= T 440

wmg Ay
,&’\umts = T 440 % 100 = T 44000

*ﬁgnce required salary = ¥ 44000
| < :‘ 39. 20 x o = 16000
228 (&) x > 760 " 100
x = 4,00,000

229, {d) Let the total number of voters =

100 units
- B%

Loser

48%

Winner
4 Units
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votes get by Loser = (92 - 48) = 44 units
According to the question,
(48 - 44) units = 1100
4 units 1100
1100

1 unit=T = 275

Total votes

= 100 units

= 100 = 275 = 27500
Alternate:- Let total votes = x
(9 H/H 749}

92
Votes polled (79 HaaH) = X% 00 _
Votes polled for winger {Gfﬁi'l T F A W)
'485};, E
J.QD

Votes polled for loseﬁ’('m':'l T F WD HA)

92x 48
= {100 100

. A;:cm'dmg to the qustion {¥FHIHN),

__:48x 92  48x =1100
700 700 100

A8x _x 100

100 100

4x = 1100 = 100

x = 1100 ~ 25 = 27500
Hence, total number of voter = 27500
(3 /& 7T}
230. (¢) Total valid votes got candidates

o 2281 400 -
75

12348

Let total number of votes = x

73
x
1030

Total votes polled

75x
100

75x 98
100 100

According to the question (YFITHR),

Valid votes

75x 98 12348

100 100
Hence, total votes = 16800
Alternate

Note: In such type of questions try to
write the statement in one line.

e T WE B WA § we F1oF viaa o feraw

1 YA H
Let total votes = x
x> 98 9261, 100
100 100 75
x = 16800
Hence required number of total votes
= 16800




20 units = 298 According to the question,

231. (a) 12> %-% 30=% 208 14 units = 42000
! 1 unit =20 1 unit = 3000
Initial Final Total votes = 100 units = 100 x 3000
) 298 = 3,00,000
8 7 100 units = x 100
10 7 20 239. (d)
= 1490 Let the total votes polled (MM fF F&1 Taam)
80 49 235. (d) Total votes = 104000 = 100 units ()
IXGO 1XGO . {100 -2)
Total valid votes = 104000 x oo
2940
98
= 104000 x 100
Required salary = T 4800
232. (e) Let total number of votes polled led | = 101920 .
(v ﬁFF‘ W)= 100 units Votes polle 11} favour of ‘the candidate ; 3
@Fviar T4 ¥ w2 9 %t dem) :
- 101 55 According to the Ruestion,
= 920 % 740 68 ugjits =:76
= 56056 %:,;"-
476
236. (b) . *ﬁ%:u?i- Y
Let the total number of votes polled 4 5%»: %
(1 f% 8 71/HA = 100 units T e

1100 uni 378 100 0
units = 68 = T

According to the question,
20 units = 14000

?@404‘1}

Let the total number of valid votes = 100
e 14000 units
unit= 20

60 units = 700 x 60 = 42000

Hence votes polled for winning candi- Gy,

dates (S Tt I 3t ST ) - 42000 ACOTCING (o the q‘@ .w,,'
Ik . units

233. {bjLet total salary = 150 units 1 unit’

100 umtﬁ * 100 = 8000

237. (b)
Let t a.l%huiﬁ)er of votes = 100 units

According to the question,
24 units = 7200

1 unit = 300
100 units = 300 » 100
Remaining salary after expenditure” p = 30,000
= 150 - (60 + 30) = 60 unit 1 Hence, total number of valid votes
According to the guestion, K = 30,000
Q " According to the question,
B nits = 2 4 100 units = 36000
S 2 1 unit = 360
24 units = 360 x 24 = 8640 2 % 50’, 1 41 -+ Final
1 unit = Hence required number of votes got by 241.¢) T 277307 30 —» Initial
Monthly sal . 150 x150 34 canditate [0 IoigER F yra @ wH
b4 .
onthly salary AL = 3640 Initial Population  Final Population
238. (c}
234, |c) Let mbcr of votes
‘=l 100 . u Let the total mumber of votes = 100 units 40 4
40 41
(100 @' 40 41
0% % anner Losef 64000 68921
(a0 (o0
Loser Winner +14
+20 Hence required population = 68921
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1
242. (8} 10% = o
Initial Finat
10 9
10 9
100 81

= 81 units = V100

= 1 unit = ¥100

= 100 units = T10000

= Value of property 2 years ago
i@ty = T 10000

1
243, (e} 25% =7

Initial Final
4 5
4 5
4 5
64 125
125 units = 10000
1 unit = 80

64 units = 5120

gy

5120

1
244. (}4% = =

Initial Population

Population at the beginning of I* Year

Final Population

Alternate:
Population after two years

= 50000 x 104 104
100 100
= 54080
1 9 -+ Final
246. (¢) 10% = 10 = 10-»Initial
Initial Final
10 S
10 9
10 9
1000 729
S
5832

R +n
. P=P|lt—
Alternate: ( 100)

Note: Rate decreasing so use — ve of R.
3 years ago so use - ve sing of n.

AT I A T @ @ 2 TuiA - ve HRa T

i F)
39 T TH W n B THEOHF (-ve
W )

Present value = 5832 (Gi
According to the guestio g
Value of commodity before s

(3 = o =g w1 q) - 58%9 X?Ox%
-@0?

.

' 880000

25 24 247.{b} Salary gn = -”"l*-l'a“‘-x 100
25 24 = T 8,00,000
1l
625 576 248, { % = 3
IXIOO lXIOO nitial Final
5 4
Hence present population of the town 5 4
(I T TEAA SHEEA) = 57,600 125 64
A, L .\_ﬂ/
245. () 4% = 52 : s 61 100 - 48,05
Initial equired percentage 125 8%
L
249. {(a) 4% = 55
62 :
According to t ion, Initial Final
625 units =po000 25 26
0 25 26
1 unit = = 80
625 625 676
676 units = B0 = 676 = 54080
Hence population after two years 100 *100
- 59080 67600
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Population before 2 years = 62500
Alternate:
Let the initial pepulation = x
According to the question,

104 104

x

X
100 100

= 67600

. 67600x100x100
104 x104
Hence required population = 62500

= 62500

2580. {d}5% =

20

e, value before 3 years =
0000

0 ¢ = P|1+——
ronate: P [ 100)

R
@Aﬁer n years use +ve sign of n. For de-

creasing rate use -ve sign of R.
nTe F AT F @ nH +ve Tha T T H
A0 A [ F AU R F —ve FHd B TN T

100
= Rs. 4,80,000

1 19 — final
20 20 — Initial

5 -3
4,11,540= P [1——]

281. la) 5% =

Initial Final
20 19
20 19

400 361

=500 x 5001
2,00,000 180500

Hence, value of machine after 2 years (2

i F A% WA F ) = Rs. 180500

R in
. b= Pllt—
Alternate : P [ 100 )

Use sign of R and n according to rate
and before or after n years.
Tagl n 99 TER W 9% F S =94 R n
d&Hal H T
Value of machine after two years (2 99 %
T WY F T
{100-9) {100 -5)

100 100

2,00,000 =

Rs. 180500




1 11— Final 1 1 (2000) (2003}
= == —_— 256, % = —, 0% = —
282, (b) 10% 10 - 10 o Initial 86. (c) 10% 0 20% 5 Initial Final
Initial F‘ilna] 3 10 11
10 1 0f = —
10 11 30% = 0 10 2
10 11 10 11
1000 1331 Initial Final 1000 1089
1’6“ x l 10 9 +89
64000 85184 5 4
Hence population after 3 years = 85184 89
Alternate: 10 7 Required % increment 100
' 500 252 1000
population after n years = g.o9v%
R %x12.5 %125 Hence, strength after 3 years will in-
=p'P=[li-——J . crease by 8.9%
100 6250 Gisa 3aﬁsﬁmm8 Q‘%aawﬁn
1+ 10 Y’ Hence value after 3 years = ¥ 3150 261. (a) 4% = A M
p' = 64000|1£ 75| = 85184 ajeernate: {,35% 425 — Initial
Current value of hine (7 = FHaA i
Alterpate: ‘F\;re vatue ol machine Initial *# Final
present population = 64000 Bs 26
70 :ﬂ.-t__ &
st year 6400 - 6250 x 0 80 25 26
2nd year 6400 640 100 100 100 : 25 26
3rd year6400 2x 640 &4 = Rs. 3150 15625 17576
Total population after 3 years 1
= 64000 + 3 x 6400 + 3 x 640 + 64 257. (d) 10% = T5 e R
= 85,184 o 500000 562433
1 4-final s _
283, (b) 20% = — = ——— 10 Hence, population on 1* January 2004 was
5 5 — Initial 10 562432
Initial Final 100 Alternate:- Required population
5 4
00 +4
5 4 X500 = 500000100+ 4 (100 +4) (100 +4)
25 16 100 100 100
50,000 = 562432
*400 %400 ) e
Hence value of machite after two years (2 262. (b)5% = —=
10,000 6400 o wefia = T 740,500 20
Hence population after 2 years = 6400 i Initial Final
1 258, (af 10% -;"m 20 21
254. (d) 20% = o T o 20 21
Year 1974 . Year 1975 % Initial F";"l ' ard
10
d =10 %10
Salary —e 5 6 i 10 9 ‘ [
10 9 4000 4410
> 610 * 610 . .
1000 729 Hence required population before 2 years
258 . Gt e - 4050
Hence required salary = T 3(!50 :
Alternate - 729 100 100
; Required population = 4410x 3
Note: ‘:‘0 save your valuable‘%ﬁm;{;n such Hence, worth before 3 years (3 @ st 4000 105" 105
type of questions try to tét state- - =
ment in one line. w” . T . T1000 263. (d) Present Population = 9261
Alternate: Increasing Rate = 5%
AE: T a@ B Wl an Time =3
R 10 years .
% f FH 9 5 P = P(limj =729 [l—m] Present Popopulation = Population
i R Y
. B, - 21000 [1+ J
3
Salary in 19%?’-‘*@ 120 * 100 289, (a) Required last year salary (fos years | " 100
\”'/ =T 3080 1806 <100 5 3
255. (a) Required previous salary st ot m s %1 = (100 5) = ¥1720 9261 = P [1+m]
24000 24000 1
- x100 = ——x 10 9 = —— 21 21 21
100 + 20 120 260. (a) 10% = = =
(100 + 20) ‘ 10 9261 = P x Saxooxos
= 20000 According to the question, P = 8000
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264. [b) Let the income in 2010 be P
o 5 2010F 34 =P ?
- R= 20%

— Income of year 2012 (2012 ® 3TY)
= T 26,64,000

R 2
= 1+ ——
= Income of 2012 P[ + 100]

1
vl
e |
_
+
B
[ %]
3|8
—_

= 2664000
2664000 = Px s * 2
= - 5 5
— Income in 2010 = 183000
0, - —
265.(h) 12% 25
Copper Total Alloy
3 : 25
x 23 % 23
69 ke

Hence, required quantity of alloy (fugvrg

w1 sl T = 578 kg.
1 —» Water

266.(d)10%= TD_-' Mixture’

L == Water

5 == Mixture

Milk . Water
lnitial —» ¢ ., |
Final —» 4 1,

Note: Quantity of milk is same in both
cases so equate the quantity of milk.

tz: 2 feufival & 9 ® A WA TAT, FHIAT

79 B WA H A R
Milk : Water
initial —» 36 4)
+5
Final —e 36 a9

(36 + 4) units = 40 litres

1 unit = 1 litre
Requlred Quantity of water
= 6 litres Lo

Spife Fl = A S ﬂ?ﬁ@ﬂﬁ%Smn
= 5 litres %

VB

267. |b) 20%u7

L
20

Impurity Pure glycerine

1 4
)+ 15 units
1 : 19

According to the question,

{1 + 4] units = 50 litres
1 unit = 10 litres
15 unpits = 10 x 15 = 150 litres
Required quantity of glycerine (e #
e | = 150 litres
Alternate:
Initial Mixture Ameount of glycerine
(glycerine added (% content = pure)
80% 100%
1 unit 3 ilsﬂits

Initial mixture 1 unit——s 50 Ltr.
Amount of glycerine added 3 units
—33x50= 150ltr.

b 0, z 00 l
268. (b) 68% = o= 20% =

5
Water Pulp
Fresh fruit — 17 : 8
Dry fruit = 1., 4.5

Note: The quantity of pulp wou].d bc"

e ﬁmﬂ@ﬁmmmt
faet we T T9A T (Water) 3 R (Pulpm
e A oA & - T (Water) 1 TS
HH 0 W & WY R (Pulp)aﬁwmm%

Water

Fresh fruit-—' 17 '

Accordmﬂ to: 4 thé glestion (yHEA},
25 qus d 100 ke.

e 100

lunh,t =E=4kg.

10 umts =4 x%x 10 =

40 kg.

_2 == Alcohol
; 269«.{(d] 40% = s e e
Water Alcohol

3 2
2
Required percentage = ‘g.7) %100
= 2x 100
6

- %x 100 = 33%‘3’0

3 -+ Water

20 =» Mixture
87.5% = = Milk
g — Mixture
Milk Water
Initia] —= 17 : 3

1.3

270. (&) 15% =

Final — 7,

Note:- Milk is added in the mixture
hence quantity of water will be same.

Hre: fF fasm ¥ g Ten T § gafen T
P gEEd @l

Milk

RO

According to the question,
20 units = 200 litres

200

1 unit = 20 11tres

4 units = 1G x 4 = 40 litres
Hence, requm:d quarmty of milk

Water

Initia 3 b 30 units

Final

10 Iitres

271.(b)
By usmg Alllgation Rule,

0 ’\}'..‘ 30°f0x50°/’0
- Ratio of 5 g 15
Quantity — 1 : 3
Hence required ratio = 1 : 3
272.(a)
By using Alligation rule,
I I
Ratioof 1907 ¢ 18
Quantity -2 ) 3
273. (b 80% = i 60% 3
. [b) v = g ) 5
Acid Water
4, 1,
3., 2.

Note: Now we are adding water hence
quantity of acid will be same

Arz: §fF v 7 foam § T T R ¥, TR
@S F A O w8

Acid Water
12 : 3) + 5 units
12 : 8

According to the question,
(12 + 3} units = 60 litres
15 units = 60 litres

L 60
1 unit = 15
60

S5 units = Tg x 5 = 20 litres
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274. (b) 30% = 5. 70% = 10
Sugar Other
3. : Ts
7, : 3,

Note: We are adding sugar so other part
will be same.

e fF T < e ® ¥, safae gm0
Luciked fi

Sugar Other
+40 7 9 : 21
units\ 49 : 21

According to the question,
(9 + 21) units = 75 gm

L unit = 22
unit = —o gm

E><4(J
40 units " 30 100gm
275 B80% = . 50% l
75. (4] 5" 2
Boric acid ¢ Water
4 : 1
1. . 1.

Note: Water is added hence quantity of
boric acid will be same.

AT SfF fam F Wt wEn w T 3, ety Aite o

N wrn W i
Boric acid Water
4 : 1
)+3 units
4 4

According to the question,
(4 + 1} units= 100 ml

S units = 100 mi
1 unit = 20 ml
3 units = 20x3 = 60ml
.3
276. (a) 30% = 10’ .
Alcohol :
7 :
17 :
Note : Alcohol is dé‘the mixture
80 quantity of wat e
e fE s w ¥, whm w9
HTE W T
Alcohol Water
7 ! 3
+10 (
17 : 3

According to the question,
(7+3) units 1 litre = 1000 ml
10 units 1000 ml

Hence, required quantity of alcohol
= 1000 ml.
277. (d) By Alligation rule,
I"type ™ type

5 : 2
20x5+35x2

542 =x = 100+ 70 = Tx

170 2
Tx= 170 = x = - = 24 %

278.(b) Alcohol : Water
Ratio of
Quantity
According to the question,
(1 + 4] units = 15 litres
5 units = 15 litres
1 units = 3 litres
Quantity of alcohol = 1 x 3 = 3 litres
Quantity of water = 4 x 3 = 12 litges
New quantity of water = [12 +3) = 1t

— 1 : 4

Reqmred Y% = (15 3]

\f\

A 4
279. (c) By Alli h@ ule,
mt Hnd
.}
{}15% 50%
A 10

tio of —

uantity 2 : 3
enCe required ratio = 2 : 3

280. (b)20% = L

15

5-* Mixture
Alcohol : Water
1 : 4

According to the question,
S5 units = 20 litres
1 unit = 4 litres
Alcohol =1 % 4 = 4 litres
Water =4 =% 4 = 16 litres
New quantity of water (T #t Tt @AM
= (16 + 4) = 20 litres

Required % = x100 - 16%%

20+4)
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281, (b) Mass of lead ore (Ui TF

=¥ A =
8000 kg

= Mass of metal in lead ore (¥w smew
H 9y H WY = 60% of 8000 = 4800 kg

= Mass of silver in metal (¥ ¥ =it
@1 7

= %%of 4800 = 36 kg

= Mass of lead in ore (3% ¥ &1 % ¥
= 4800 - 36 = 4764 kg

282. (b) 3pp gm
0%
12
Sugar
Sugar %r solution = Mixture
12 . lao - 300
+ 60
[Check with
180 = 360 option to
save time]

Sugar should be added 60 grams because
120+ x =180 grams

x = 60 grams
283. (¢) According to the question,
Mixture of copper and ahuminium = 2000 gm

30
30 % copper = 100X2000= 600 gm
Copper aluminium
600 gm 1400 gm
20% = 600,
lunit = 3p
% 2
2400gm
Let the additional aluminium
powder = x
1400 + x = 2400 gm
x = 1000 gms
Alternate:
copper : Aluminium
30 : 70
20 : 80
copper : Aluminium
3 : 7 —10 units = 2000gm
1 unit = 200gm
1 4 3% 3

We have to equal Copper amount because
only Aluminium is added @9 % % wen 5
SR HEN T FE o F S wepifem
faemn T ).

coper Aluminium

3 : 7
> +5 unit
3 : 12

We have toaddsumtfﬁ s e JgT Tm)
= 5x200 = 1000gm




284. (c)
Let the initial expenditure = 100 units

@ Initial

+50%

@ New

Decrease in consumption =

286, {b) Let the total capital
According to the quesion,

= 1200

=50

50 _1
15 3

1 unit = 4 Eggs less

Original consumption = 4 3 = 12 eggs.

New consumption =i3-1)x4
= § eggs.
ges Total interest = {9 + 40 + 11) = 60
i dozen = —Xx12-2 36 0
Present price per dozen = g Required percentage = 7 200X100 = 5%
Alternate:
287. {ﬂ.] H Pri
Note: Required more money when The Quantity <
Initial — 3 1.25

290. (b}

Note:- In such type of questions to save
your valuable time follow the
Alligation method.

e @ T R T O A A faam frwl 1 owEm w
wa

Expenditure Savings
ls%ﬂx
S5 H 3
12-x 5 «5+3x
=3 £—= 12
15-12 _ \5+3
= 75 + 3xf= 96 ¥
3x =21

= x=1T3
Hence ed increase in savings = 7%
291

. . 50 -0.25 t fhefgjumbers are 40 and 50 respec-
price is increase 50% = 24 X 100 = T12 Final — 3 1 i
i s 025 f ‘
50% HTa R hai Required % reduction = A ' B
1. 25 40 : 50
50
=24 x —— =¥ 12 = 20 1+20% 1-20%
100 48 : 40
12 Required ratic = 48 : 40 = 6 : 5
Present price = T = 3 T/egg 292, {c)
4 288
i » b \ Let the income of the man = T 100
Present price of 1 dozen eggs = 3 x 12 Note:- In such type of you can
=T 36 take values as per y iy but remem- [ncome Expenditure  Savings
285. (d) : g mentioned in 108 £ 25
Let the initial expenditure = 100
T %'ﬁﬂﬁﬁi 20% +15% +B.75
@ fF o W1 F
120 86.25 33.75
Fish il Required percentage increase
170 30 .
(B3T5-25) 00 | ac
20 1 30%  {50% _ 25
Decrease in consumption = 120 =% Alternate: Expenditure = 75%
51 15 Savings = (100 - 75)% = 25%

1 unit = 2 eggs.

Original consumptlon Required percentage increment

% % 24+51415) 0. _ 90
New consumption = : = (1204170 +30) %320 * 100
x 4
Present rate of € *12 1
=28 %
8
= T 28.80
289. (b}
24:-:20
Alternate: [ncrea in cost = Bus Fare Train Fare
= 4. Initial —> 20 : 30
4.8 1+10% 11-20%
New price/egg = -72—=2-4 Final — 22 36

New price/dozen = 2.4 x 12 = Rs. 28.80 Required ratio = 36 :22=18 : 11
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By alligation rule,

Expenditure  Savings
15% x
75 : S
3 : 1
Ix15+xx1 5
3.1 20

= 453 + x= 80
= x=35%




293. {e) Let the income of the person
A=t F A = 100 units

Income : Expenditure : Savings
100
1+ 20% + +12.5
120 82 ) 37 5
Required % increase in savings
12.5
= =100 = 0,
25 50%
294. {b) Population before 3 years ago =
b4
ATQ
X = ﬁ £4. _1,0_4 =17576
100 100 100
X - 15625

298, (d) Let the required number (3A &

i HEm)= 15

(8 we=i & 70 T fraction ¥ denominator

(F0) F LCM ¥% H&m T a4 # foed 3 <

= o g et

According to the question (T¥ITHT),
Wrong answer {TTéd 3T

3
579
Correct answer (Wi I
5
= —x15=
3 25

Required % error (31412 % &)

= (2_5__9.lx100
25
16
= EXIOO 64%
Alternate (35feas fafir):

Let the number (M & &) = x
According to the question (WFER},

3
wrong answer (Tdd W) = Ex

correct answer (W8l 399 = 3 q o
Required % error (3@ 3 %

Required % error *I"I'E % ) = 64%
296.(a)

Note: In such type of questions use alli-
gation method to save your valuable time.

W2 WA R W 4 W F g9q F f e
oot frem =1 wam == T ¥

T wiwent
Male Female
10% 8%
Ratio of Male and Female
T am A w1 0 1

Required number of Males {=qi 3t A=
)

_ 8000 ) - 4000
L]
297. (d) Number of boys (TZH &l F&H)= x
Number of girls (@fwal # w@m

= (150 - %
According to the question (WITAR),

= 150 x = {150 - x}

X
100
= 3x =300 - 2x
= S5x = 300
= x =60
Hence, the required number of boys (?'l'gﬂ'fl
FT wvite FE=41)= 60
298. (b) Required prict;*-\--

e,

420 «100 = 700

e ) = x
THETET, (According to Question)
xx 272 = x = 2700
3x100

[220/0 :>§°/o}
3 3

301. {(b) Average Income (¥irm @)

=F 80,800 T5050
B 16

Hence, required income

120 26
100 060

= 5050 x
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300. {c) Let the monthly salary (™

1 5 1 1
62—% = — 12—% =
302. (d) ) o g 5 °

Let the total height of the pole = 64 units
(7 T e wE Fa)

(59 9 1 7 @ it | FOE F YIRS Y W
31 % TR B0 o S 64 R 1 )
According to the guestion (WHIAR),

'64 umts =192 m

l&unﬂ- 3m

::;3 l.imts =3x3=9m

: H‘ence distance climbed in second hour

S G @ gll) = 9 metre

Alternate:- Total height = 192m
Distance climbed in second

R W e -

hour

= lgzx%ﬂxi

= 192xgx‘é—=9m

303. (e¢) Net Tax rate

30x1
100

304. (b)Total score = 110
score made by the bastman by boundries
and sixes (15 sk v ® 0 AW IO
TN ™ ) =8B x6+3x4=60
Runs made by running between the
wickets {fFf # 99 9w = T ™ T

= (110 - 60) =

50 500

x100=22 455 o
110 11 11

0
= 33%

= 30 +

Required % =

X
305. (c) Let the fraction (vm f5 firg ) = "

According to the question(vemsn},

xx120 5
Yy =95 T2




306. {d}Ermor = 3 hours 45.5 min ~ 3 hours
40 min

309. (c)

Increase in population= (10438 — 9800)

error= 5.5 min = 658
5.5 658 658 47
i = ————x100 i - 2 998 _Ai,
Required % error 360+ 40}" % increment 9800 o8 i
Use alligation method:
- 350, 5
= o0 77 Male Female
8% 5%
307. (d) Let the total number of boys

= 300
total number of girls = 200
Number of boys who do not get scholar-

ship (gl 61 A T FES 4 g

Note: To make your calulation easier

(100-20) multiply by 7 to all data.

= 300x =240

A Sl T i ATEE T F T s A

312.(c) Let the part investedon 5% = ¥Tx
Remaining part = T (10,000 - 4

According to the question,

x5 10000-x)x6
160 - oo - 6.50
6x
Tog - 600+ Tps = 76.50
X 7650 + 60
oG © 76.50 + 600
1 o650
100 :
67650
=X Th %

= xESiS%& *r

Number of girls who do not get scholar- 7 A om
AN Amount invested'tn 8% =(10,000 - 6150)
ship (arafs T8 T Tt wrefeal 79 wem ° = ¢ 3880
Male Female Alternate; ,,}}.‘-:
- % o L9
= 200xw= 140 56% 35% In such, type of questions to save your
valuable tigne go through options.
(240+140) wﬂm%wﬁﬂmwm%m
Required percentage = 30907 200) 00 » - 9 W@ﬁﬁrﬂ I TEEA o T B
= TE% Ratio of Male ] oﬁ {e)Amount spend on 6% = 3850
) . and Female = 4 : .
308. (¢} Let the income = 100 4 . 3840 <6 -7 93]
Let tax rate% = x% Hence required population of lpales : nterest = 100
Income Tax Rate Net Income : T Amount spend on 5% = (10000 - 3850)
2800 AY = T 6150
100 X% (100 - x) 14 +3) ¥
6150x=5
-1% Interest = 00 - 307.50
100 1.19x (100 - 1.19px 310. (<) Difference in interest
. . = {307.50 - 231) = ¥ 76.50
According to the question, Now option {¢) satisfy both the
q conditions.
(100 - x » Too = (100 - 1.19% Imtlal'%afue e Final Value Hence option (¢) is correct.
- - % & 2 3 - Final
9900 - 99x = 10000 -~ 119x : 313, (b) 40% = == > 2%
20x = 100 ‘é:y@ ; 5 5 Inital
x= 5% ’ yé.-) A -
‘ > . Initial inal
Hence required tax rate = 5% 5 3
Alternate: % 125
Note: To save your valuable time you can ' 5 3
take help from options. ey T “25 9
%WW*M#WWW*W&W% -16
% P et Mmrm A T N ﬁéql:iéred%= Sl 100-81x4_244 6
Option (a) tax rate = 5% i _f” 125 5 5 Required decrease in area = — x100
Income Tax Rate Net Incord&!_‘g 244 64210,5“
9 Siogs Required % = —/—— = 48.8% = 0%%
100 S% 93 "? d ° S Alternate: By using successive formula,
Net decrease in area
5x19 a11, ld] 3 CM 2 O[] — 40 x40
; . B = 40+40- 20 g,
100 T c 0
ﬂ - o CIm » 314. .b'
Required red % After increment of 6% new length of AC
g 1540
,& < - (0.95 100 Salary of shyam = x100 = T 7000
T = = =1 0, f-l“l‘l'{
- 95 % 6% M YPTF A, ACH T According to the questlon,

Hence reduction in net income is 1% _ 3+3><6
same as mentioned in question. Hence - 1
option (c} is correct.
¥ TSR [{F A H 1% T HH TH F T 2
Tafer faaed (o) w81 #1

=3.18cm.

g x100 = goy

Required % decrease =
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Salary of Ram = Salary of Shaym
Hence salary of Ram = ¥ 7000

14
100

Savings of Ram = 7000 x
T 980




315.{a) Let the number of boys = 300

3
Let the number of girls =200 319, (a) 60%. = %, 75% = 7
Boys Girls Let the total numbers of workers = 200
Total students —s 300 200
B0% I75%
Not holdes —=240 150
scholarship 60% above|30 years

Total students who do not get scholar-

ship (@Fgfa T = = o= = 79 TE=)
= (240 + 150} = 390

Required tage = 399 100
equired percentage = T o
= 78% According to the question,
316. (d) 90 units = 1350
Let the first and second number is a and 1350
b respectively 1 unit = ——
. 90
M o6 Tl A4 Tl dem A o AR b
1350
b~ ﬂa L 22 200 units = %200 - 3000
100 100 0
59 60 Alternate: 75% — 1350
- To0 ® = To0 1% > 18
48 60 Workers above 30 years (100%)
— —— LT
100 ~ 1002 51800 1%,
4b = 5a Given, ;
a 4 Workers above 30 years R’;Oﬁ} — 1800
RS Y
b 5 1% 3 -3 30%
bh=d - I |
= a:b=4:5 ,100%% — 3000

317. (a) Marks obtained by A
= 360 marks

360
marks obtained by C = 125 100

= 288 marks
288
80

= 360 marks
Required % marks obtained by D

360

320. (a) By alligatign Rule,

=100

marks obtained by D

318. (d)
Boys
1100 2
T o= m x 100 = 40%
50%
Failed g’ik i 321. (b) Total seats = 10000

Candidates>550 1%, %, 840

’ Ticket sold = (10000 -100} = 9900
Total failed cwdaty = (550 + 540)

According to the question,

. '\% ' = 1050 Total revenue
Required percentage of failed candidates

1090 100 - 9900% - 10+9900% - x20

= {1100 +900) 100 100
= 9900 x 2 + 9900 % 16
1080 %100 = 9900 (2 + 16)

= ———— = B4.5%

2000 = Rs. 178200
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322. {¢)
Percentage of Non-tax paying
employees (399 & ¥ A FH=E 1 1R

= (100 - 31)% = 69%
69% of total employees = 20,700

20700

Total employees = x100 = 30,000

11925

323.{c) Basic pay = [IOTIGSJXIOO

11925
265

x 100

324. (a)

oA
st
A

g;__a_a?l‘ngs = 100 x

-IOTO! 20 units

gy
. Expengditure = (100 - 20) = 80 units
“Acegrding to the question,

B0 units = Rs. 6000
"1 unit = Rs. 75

Savings =75 % 20
Rs. 1500

325. (b)
Population of town (Y87 @t SEeE)

- 3,11,250
Number of women in town ( I8 ¥ Afgena

311250
). —————x43 -
H dE) (43+40]>< 161250

Number of literate women (fofera afeenaif
=)

24
= 161250 x 100 38700
Number of men in the town @@ ¥ T&al
311250
- — x40 =
F @) @3+ 40] 150000
Number of literate men in town (fofga =
. . (100-10)
i Hen = 150000 x ~—oo—
= 150000 x 100 = 135000

Total literate persons in town (FIg8Y H kSl
Finfiga =afem

(38700 + 135000)
173700

It

326.(c)
Total number of employees

27600 <100 - 27600

=(100-31) 6o 100

40,000




1
327. (b) No. of females = 25000 x =

S
= 5000
No. of Males = 25000 - 5000
= 20000
N f ed d females = SO0 £
o. of educated females 0 » 100
= 3000
No. of educated 1 20000x_?3
o. of educated males 100
= 19000
Total educated population = 22000
Percentage of educated population
22000
it f = 100
(fafer ST < 9T = 5500
= 88%
328. (¢
Blue Red Black
Total Balls —»100 50 S0
25% l 50%
Taken out —» 25 25

Remaining Balls = (100 + 50 + 50) - 50
= 150

Required percentage of black balls

-0 00=331%
50 3
329 .(b)Pri fter di = 80x50
Jb)Price after discount = 100
= Rs. 144

Price of 1 pair of socks {I 9% Y™ & T

331, {a)

r " ur
Appeared— 40 50 60
students
100% 90% 80%
Pass  — 40 45 48
students
{40+ 45 + 48} ©100

Required pass % = {40 + 50 + 60}

133 2100 = 266 —882
0 4 3

332. (b)

Let the bigger number is a and the
smaller number is (520 - a}

[wﬁ:a@ﬂwamdi’mﬂ(szo-am

According to the question,

(100 - 4) 100 +12
T "520"’"‘( 100 )
96a 112 4
1 1
-10——(5 ]1_63 %
96a = (520 - a) 112
13a = 3640 &
a = 280

Hence, bigger numbe
Smaller numbeg, »453 !Bo; 240
Alternate :

Note: In su of questions take

kS
help from, al‘ﬁ}% to save your valuable
time 4 ¢ Fiﬂm satisfy the question
canditig e

he: va T Mﬂaﬁagﬂ@qwa%w
mm Tl 1 wETam o T A &

F 0w T fae= W T L
= 240

i
tig’n:- Smaller number

R fience, Bigger number = 520 - 240

330. (c)

According to the‘kuestion,
2 units = ¥ 200
1 unit = ¥ 100
S units = T 100 x 5 = T 500
Required price of shoes = T 500

= 280
According to the question,

96 - 40)(112

100 100
268.8 = 268.8

Both sides are equal hence option [c) is
correct.

280 «

333. (b) I" year 1" year
Appeared— 80 60
students

60% 80%
Passed
students —s» 48 48

Wizard of Maths — Rakesh Yadav Sir—

335«

Required % average rate

(48 + 48)
= @o-60) * 100
= 96 b3 100 = @
140 14
68 4 %
7 g+
334. (b)
Msection II” section  Total
Number of— 20 30 —t—s 50
students “"'
60%
Passed
students -Qég&%_ 18 —_—t e 34

Required % of pass@ students (IHIl Bl
mmm e ExlOO 68%

di 2
o'&lctlon of cycles rose to 48,400
,000 in 2 years

§ wiEhee W IARA 40,000 B TH

“.‘

3 400 & T

%

= Present production = 40,000

-  After two years = 48,000

= Time = 2 years

= Rate of increasement = ?

According to the question,
Production after 2 years

R 1
L i 1+——
Present producrtion [ 100]

R 2
48, 400 = 40,000 [1 +—]

100
484 [ R ]’

= —_—lt—
400 100

1+ R 22
= 100 20

R _1
= 700 10
= R= 10%

— Rate of increasement = 10%
336. (b) Let total staff =100

100
{female) 409’}/\60% {male)
40

Unmarried {30%)l l(SO%] Unmarried
12 30

— 42 is unmarried staff out of 100 (100
el § § 42 Fard st §

42
Percentage= g0 100 = 42% Ans.
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